3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

Available in 4 versions with 2 and 4 pole motors

Monobloc with extended motor shaft

Monobloc with standard motor and
rigid joint

4 3P On base, with standard motor
| 3LP and flexible coupling

3SF Pump with
3LSF | Dbare shaft

SPECIAL VERSIONS
e Also available with efficiency 1 motor (3S Series)

Standardised centrifugal electric pumps built in stainless steel AISI 304
(3 Series) and AlSI 316L (3L Series).

APPLICATIONS

e \Water supply to civil, agricultural and industrial plants
e Pressure boosting

e Fire-fighting, heating systems and air-conditioning

e Moving industrial liquids

e [rrigation

e Refrigeration towers

e Swimming pools

e Emptying

¢ Washing plants

TECHNICAL DETAILS
e Can also work in vertical position

TECHNICAL DATA

e Maximum working pressure: 10 bar

e Maximum temperature of the liquid:

-10°C + +90°C

-10°C + +110°C (L-H-HS versions)

-20°C = +120°C (E version)

Self-ventilated 2 and 4 pole asynchronous motor

Class of insulation F (B for high tempertaures)

IP 55 protection rating

230V £10%, 50Hz single phase voltage, three phase voltage
220+240/380+415V = 5% (up to 4 kW included), 50Hz, three phase
voltage 380+415/660+720V +5% (5.5 kW and over), 50Hz

e Protection is user's responsibility

MATERIALS
e Pump body and seal housing disc:
- AlSI 304 for 3 Series  32-125/160/200
40-125/160/200
50-125/160
65-125/160/200
- AlSI 316L for 3L Series 32-125/160/200

40-125/160/200
50-125/160
65-125/160/200
- microcast AlSI 316 for 3L Series 65-250
80-160/200/250

e Impeller in:
- AlSI 304 for 3 Series  32-125/160/200
40-125/160/200
50-125/160
- AlSI 316L for 3L Series 32-125/160/200

40-125/160/200
50-125/160
- microcast AISI 316 for 3 Series 65-125/160/200
3L Series 65-125/160/200
65-250
80-160/200/250
e Mechanical sealing in:
- Carbon/Ceramic/NBR for 3 Series 32-125/160/200
40-125/160/200
50-125/160
65-125/160/200
- SiC/SiC/FPM for 3L Series 32-125/160/200
40-125/160/200
50-125/160
65-125/160/200/250
80-160/200/250
- Special mechanical seals available on request

ACCESSORIES (on request)

e Counter-flanges available in the following materials:
- galvanised
- AISI 304
- AlSI 316

Your Life, our Quality. Worldwide.

Commercial



IDENTIFICATION CODE - 2 Poles

(FORMER DIN 24255)

[ 3SERES | [ L |[[ M ][ F ][ H |[65] -

[60] / [22 ][ W]

SINGLE PHASE

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

MOTOR POWER IN KWW

IMPELLER DIAMETER

DISCHARGE SIZE

OPTIONAL VERSION

HYDRAULIC PART

MIODEL

AlISI 316 VERsION

PuMP NAME

IDENTIFICATION CODE - 4 Poles

[ 3SERES | [ L |[[M ][ F ][ 4 ][ H][65]-[160]/[2][M][R

REDUCED IMPELLER

SINGLE PHASE

MOTOR POWER IN KW

[IMPELLER DIAMETER

DISCHARGE SIZE

OPTIONAL VERSION

4 POLE MOTOR

HYDRAULIC PART

MOoDEL

AlSI 316 VERSION

PUMP NAME

Your Life, our Quality. Worldwide.

Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3 SERIES PERFORMANCE RANGE at 2900 min- (according to ISO 9906 Attachment A)
U.S.g.p.m. 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000
| | | | 11 | | | 11 | | | | | | | |
I I | I I T 1 | I T T 1 | I I I | I I I
120 Imp.g.p.m. 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000
— 350
100
e - 300
80 oy 250 5T s \250/55 — 250
H 65\250 /36 T NN 25 N H
[m] 3 < e AL ~ N % [
60 ‘ *\20?/‘5.5 ~ “’0‘\200 i N oo Id’b\e L 200
| PN [ 0153 65 D
0T 1B nas NI i SO SOPN D SN
£-200/4.0 T 725 0\200/7 O % ~, A Ga\\ 150
< 5 2 N 778 5N
i St T B o/ (DN
40 T~ ~=qx f O NG 00N S 2
32- Z 0, L2
_200/30 s . S Do N2
B R T | “l } } i ., }} d‘ ~ " \N—— =
52-160/2.2 2 i\‘f‘: o N SEEE N &’8’0 :~ :7%. L 100
30 SEEE SN P SN EE
=l 4 N ‘0/)5 N,, L \/{5*0
-160/15 ' S AN TR AN
1 = D N WOAN 75
2 SSE NN N NN NN
‘ L2 @
32-125 /11T NN bN?} > Vi 0\,\1
: N /{f/ | o\ IR N&
NI NN N
N\ \ AW 2\
7 h VRS NI 12 - 40
%) / ‘&77 P &\
WAV ITRAN
10 N TSN % N\
9 = o\ —30
25
7
6 / / [ —20
s / / [ /
100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500 3000 4000 5000
Q [1/min]
[ I T T T I I L I I I I I I I I I 1
6 7 8 910 12 14 16 18 20 25 30 40 50 60 70 100 150 200 300
Q[m /h]
Versions 3M 35 3P 3LM 3LS 3LP
32-125 v v v v v v
32-160 v v v Y v v
32-200 v v v v v v
40-125 v v Y v v v
40-160 v v v v v v
40-200 v v v v v v
50-125 v v v v v v
Pump 50-160 v v v v v v
50-200 v v v v v v
65-125 v v v Y v v
65-160 v v v v v v
65-200 v v v v v v
65-250 - - - - ° °
80-160 ° ° °
80-200 - ° °
80-250 - ° °

v = Models also available in the H and HS version for 32, 40, 50, 65-125/160/200
* = Models also available in the H and E version for 65-250, 80

Your Life, our Quality. Worldwide. 67 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

32-40-50 PERFORMANCE TABLE

P Q=Flow rate
Model [/min 100 | 150 200 300 333 360 400 450 500 600 700 800 [ 1000 | 1200
[HP] | [kwW] [m3h 6 9 12 18 20 22 24 27 30 36 42 43 60 72
H=Head [m]
32-125/1.1(M) 1,5 11 2101 199 18,4 141 12,0 - -
32-160/1.5(M) 2 15 280 | 265 | 245 19,2 17,0
32-160/2.2(M) 3 2,2 355 340 | 320 [ 270 | 250
32-200/3.0 4 3 42,0 40,0 375 31,0 28,0 -
32-200/4.0 55 4 535] 520 | 495 | 435 | 405 | 380
32-200/5.5 7.5 55 690 | 675 | 650 | 585 - - - -
32-200/7.5 10 7,5 690 675 | 650 | 585 | 555 | 530 | 490 | 440 - - -
40-125/1.5(M) 2 1,5 - - 190 | 176 | 170 16,5 15,7 14,5 13,2 10,3 7,0
40-125/2.2(M) 3 2,2 25,5 24,0 23,5 23,0 22,0 21,0 19,5 164 13,0
40-160/3.0 4 3 - - 29,5 275 27,0 26,5 25,5 24,0 22,5 20,0 17,0
40-160/4.0 55 4 - - 385 | 370 | 360 | 355 | 345 [ 330 | 320 | 290 | 255
40-200/5.5 7.5 55 - - 455 | 440 | 430 | 425 | 410 [ 395 | 380 | 350 | 31,0
40-200/7.5 10 7,5 - - 570 | 555 | 550 | 545 | 535 | 525 | 51,0 | 475 | 440
40-200/11 15 11 - - 710 | 700 | 70,0 | 695 | 685 | 675 | 660 | 630 | 590 - -
50-125/2.2(M) 3 2,2 - - - - 17,5 17,0 16,3 14,9 134 11,7 8,0 -
50-125/3.0 4 3 - - - - - - 20,5 20,0 19,6 18,4 17,0 15,4 11,8 8,0
50-125/4.0 55 4 - - - - - - 26,0 25,5 25,0 24,0 22,5 215 179 14,0
50-160/5.5 7.5 55 - - - - - - 310 | 305 | 300 | 285 | 270 | 255 | 220 | 180
50-160/7.5 10 75 - - - - - - 385 | 380 | 375 | 360 | 350 | 335 | 300 | 26,0
50-200/9.2 12,5 9.2 - - - - - - - - 500 | 490 | 475 | 455 | 405 | 340
50-200/11 15 11 - - - - - - - - 56, 55,0 54,0 52,0 | 480 | 42,0
50-200/15 20 15 700 | 690 | 680 [ 66,0 | 620 | 57,0
(M) Single phase version for 3M Series only
65-80 PERFORMANCE TABLE 2 Poles
P, Q=Flow rate
Model I/min 600 | 700 | 900 | 1300 | 1500 | 1700 | 1900 | 2100 | 2200 | 2300 | 2400 | 2500 | 3000 | 3400 | 3600 | 3800 | 4000
[HP] | [kW] |m¥h 36| 42 54 78 90 102 | 114 ] 126 | 132 | 138 | 144 | 150 | 180 | 204 | 216 | 228 | 240
H=Head [m]
65-125/4.0 55 4 1981190 [ 173 [ 133 [ 11,0 [ 86 6,3 - -
65-125/5.5 75 | 55 -1 240 [ 222 | 180 | 157 | 133 [ 108 | 80 -
65-125/7.5 10 7.5 295 1278 | 235 [ 21,1 | 187 | 161 | 134 | 12,0
65-160/7.5 10 7.5 -1 300 [ 286 | 248 | 225 | 199 | 171 | 142 -
65-160/9.2 1251 92 -1 3451328 288 | 265|239 | 211 [ 183 | 16,8 -
65-160/11 15 11 -1 385 1371 13311309 | 284 258 | 230 | 215 | 20,0
65-160/15 20 15 455 | 440 | 400 | 378 | 353 | 326 | 29,6 | 28,0 | 26,5
65-200/15 20 15 -1 510 [ 490|440 | 415 ]384 | 353|318 ]300 -
65-200/18.5 25 | 185 -1 585 [ 565 | 515490 | 460 [ 430 | 39,7 | 380 | 363
65-200/22 30 22 -1 655 | 640 | 595 | 570 | 540 | 51,0 | 48,0 | 46,5 | 45,0 -
65-250/30 40 30 -l - 770 [ 7351 71,0 | 680 | 645 | 60,0 | 57,5 | 55,0 | 52,0 -
65-250/37 50 37 - - 830 | 855 | 830|805 | 775|740 | 720 | 70,0 | 67,5 | 65,0 - -
80-160/11 15 1 - - - 273 1264 | 254 1242 | 230 | 224 | 218 | 21,1 | 204 | 164 | 125 -
80-160/13 175 13 - - - 305 | 297 | 288 | 27,7 | 265 | 259 | 253 | 246 | 240 | 20,1 | 16,5 | 145
80-160/15R 20 15 - - - 305 | 297 | 288 | 27,7 | 265 | 259 | 253 | 24,6 | 240 | 20,1 | 16,5 | 145 -
80-160/15 20 15 - - - 340 | 333 | 325|315 [305 300 | 294 | 288 | 281 [ 244|210 191 ] 170 -
80-160/18.5 25 | 185 -l - - 390 [ 384 | 376 | 36,7 | 357 | 352 | 34,7 | 341 | 335 | 300 | 264 | 244 | 22,3 | 20,0
80-200/22 30 22 - - - 480 | 47,0 | 455 | 445 | 430 | 420 | 41,0 | 400 | 390 [ 332 | 278 | 25,0 - -
80-200/30 40 30 - - - 58,5 | 580 | 570 | 56,0 | 545 | 54,0 [ 53,0 | 520 | 51,0 | 46,5 | 415 ] 390 | 36,1 | 33,0
80-200/37 50 37 -l - - 64,0 | 630 | 620 | 61,0 | 595 | 59,0 | 580 | 575 [ 565 | 515 | 470 | 445 | 415 | 385
80-250/37 50 37 HEE - 7151705 | 685 ] 665 | 640 | 630 | 61,5 | 60,0 | 585 | 48,5 | 38,0 - - -
80-250/45 60 45 -l - - 82,5 18151800 ] 780 | 760 | 750 | 735 | 725 | 710 | 62,0 | 53,0 | 480 | 425 -
80-250/55 75 55 - - - 9351925 9151900 | 85 | 875|865 | 85| 840 [ 765|685 ] 645 | 60,0 | 550

Your Life, our Quality. Worldwide. 68 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)M-3(L)S-3(L)P 32 PERFORMANCE CURVES &t 2900 min*' (according to ISO 9906 Attachment A) 2 Poles
0 USagpm. 20 30 40 50 60 70 80 90 100 110 120 130
| | | | | | | | | | | | | |
l I I I I | I I I I [ ]
0 0 Imp.g.p.m. 20 30 40 50 60 70 80 90 100 110
— 250
H 70 1 H
[m] T [ft]
60 ~5 - 200
\
- "K\\ \
50 =N \('7%‘ 0 ‘\00/2 5
N =~ — 150
T T —— | ™~
40 T— 20
T —t— \\ 0/50
bl | L \\\‘,‘/22 \\‘\‘ 100
—~— N~
— \\“\ 760/7 5 -
20 ~——_125/11 ‘\\'
\\| — 50
10
0 0
0 100 200 300 400 Q [1/min]
[ I I I I I I I I I I I I I I ]
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 Q [m3/h]
8 T T
T
P2 200/5.5 200/7.5
[kW] ——
? 1‘25 1‘1 ——160/2.2
25/11= 160/1.5
0 T
0 100 200 300 400 Q [I/min]
70 T T T T T ‘ ‘
n 125/1.1 — 160/2.2 —
60 ‘ =
(7] 160/1.5 — 200/ 40 075 | m] Tt
50 —— = /- —T 8
= [200/557200/50 25
ol = |6t
Za 200~ i
30 NPSH 125 — 4
| L | L 10
— —
20 — 160 2-
— 5
10
0 100 200 300 400 Q [I/min]

Your Life, our Quality. Worldwide. 69 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)M-3(L)S-3(L)P 40 PERFORMANCE CURVES at 2900 min (according to ISO 9906 Attachment A) 2 Poles
0 USgpm. 50 100 150 200
| | | | |
| I I I
0 Imp.g.p.m. 50 100 150
0 — 260
—— — 240
[m] o T— —220 [ft]
‘\
60 i — 200
I I i —_200/75 180
50 A\\
I ‘\\ — 160
- ——_ 2005 5 T —140
40 _— \IA
T —T—160/1 i — 120
I —
30— | — — 100
T ——_160/3, T
—— — 80
0 e
. \\ 725/22 — 40
\ D—
\' - 20
0 0
0 200 400 600 Q [1/min]
[ I I I I
0 10 20 30 40 Q [m¥/h]
12 |
P —
| 200/7.5
[kw] 8 200/113 P — — ‘/ .
—— 200/5.5 1
125/2.2 ] ‘
4 | — 160/4.07
125/1.5 160/3.0 ]
O I L
0 200 400 600 Q [I/min]
80 |
n NPSH
— ——=
[%] 70 125/2.2 —— ——— ~=—[m] [ft]
T ————<_ 7-
60 ey | AN 62
100/30°_ L T mi
160,/4.0 - 125/1.5 15
50 ‘ 7 1 4
200/5.5 9 ——
NPSH 12571 310
0 200/7.5-— L~ 200/11 L , ]
= —5
2007TM60 1
30
0 200 400 600 Q [I/min]

Your Life, our Quality. Worldwide. 70 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)M-3(L)S-3(L)P 50 PERFORMANCE CURVES at 2900 min™ (according to ISO 9906 Attachment A) 2 Poles
0 USgpm. 50 100 150 200 250 300 350
| | | | | | | |
| I I I I | I
0 Imp.gpm. 50 100 150 200 250 300
0 - 260
! NN F240
70 T T 200 /1
[m] \\&\ 220 [ft]
B
60—t T~ — 200
e fOO 11 B 180
—'_'_‘—-———______~_ | —~—
50 \@QZ\ ~_ 160
T~ ~ 140
40 —_— ~
T ‘750 75 T~ 120
T T T —— — —_ ‘ ‘ \\\
30 HENEEEE —~ ;60 5.5 ~ 100
- 25/4.0 - 80
EEEEEST —EAT—
0 Ay -~ ~ - 60
202 T~
10 \\\ \\ — 40
~ ~
- 20
0 0
0 200 400 600 800 1000 1200 Q [1/min]
[ I l I I I I I I
0 10 20 30 40 50 60 70 Q [m3/h]
18 —
P2 / L 200/15 |
(kW] 12 T 200/11—
L 200/9.2 |
6 125/4.05————— 160/7.5—
. 125/3.0 — 125/2.2 1‘60‘/ 59—
0 200 400 600 800 1000 1200 Q [I/min]
80 —
n 200/11 |
4 g — o~ 1 200/9.2
/// R ‘> | ‘ NPSH
Y ///>\\<\ 125/4.04 [m] [1]
. 160/7.5 T |~ NN :
| | I 7 7 N T2
160/5.5— | ol 125/22 125/3.0N 45| L
200/15 =760 | |5
50 NPSH — 200 4—_10
215
40
0 200 400 600 800 1000 1200 Q [1/min]

Your Life, our Quality. Worldwide. 71 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)M-3(L)S-3(L)P 65 PERFORMANCE CURVES &t 2900 min' (according to ISO 9906 Attachment A) 2 Poles
0 US.gpm. 100 150 200 250 300 350 400 450 500 550 600 650
| | | | | | | | | | | | | |
| | | | | | | | | | | |
0 0 Imp.g.p.m. 100 150 200 250 300 350 400 450 500 550
1 — 160
H ~ H
\ |
[m] Q25 10 (1)
40 === =
—
L L ~_ % ~_ —120
T ~ \0/7/
~ 75‘ g
T = o 0 ~
0 == ~~29 N N —100
§\ 77\!2\‘ .
~L S N _ 0
— T~ 25 \ J
20
\(\55 \\\\ N L 60
I I — 40
\ /
10 ~ S <55 .
\\ |
20
0 0
0 500 1000 1500 2000 Q [I/min]
| | | | | | | |
0 20 40 60 80 100 120 140 Q [m3/h]
16 ‘ |
Py I | [ —
8 160/11\ :: — 160/9.2 |
—
160/7.5_\/ 125/7.5 |
4 — 125/5.5
125/4.0 ]
0 —
0 500 1000 1500 2000 Q [I/min]
¥ 60/15——]
n 160/15—+—
1 160/11- -
[%] — ‘§\\\\/>§\ 1 60/9~2 |
| — ~— § I~
70 — ~J ~<
125/4.0 125/5.5 \X
125/757 TN A NPSH
~ . \\ [m] [ft]
50 160,/7.52 15— 8-
NPSH 105 A e
160 | * 10
1]
30
0 500 1000 1500 2000 Q [I/min]
Your Life, our Quality. Worldwide. 72 Commercial



3L 65 PERFORMANCE CURVES at 2900 min*' (according to ISO 9906 Attachment A)

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

0 U.S.g.p.m.100 600 700
| | |
| I | I
0 0 Imp.gp.m. 100 500 600
I — 300
B0
T — 250
N
60 — 200
I I A — gy
T~
~ - —150
40
—100
20
50
0 0
0 2500 Q [1/min]
[ I I I ]
0 20 140 160 Q [m¥/h]
40
L] —1 250/37
30 ——— — 250/30
—— —17200/221
20 I — 200/18.5
10 20‘0/1‘5
0 [
0 2500 Q [I/min]
¥ g T T 1
200/22 900 /18 5
—
" = ~J 250/37
= 250/30
= / NPSH
[m] [ft]
50
/<
— 2501 8%
‘ 10
30 |
0 2500 Q [I/min]
Your Life, our Quality. Worldwide. Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3L 80 PERFORMANCE CURVES at 2900 min' (according to ISO 9906 Attachment A) 2 Poles
0 US.gpm. 200 300 400 500 600 800 900 1000 1100 1200 1300
| | | | | | | | | | | | |
| | 1 1 1 | 1 1 1 1 | |
0 0 Imp.g.p.m. 200 300 400 500 600 700 800 900 1000 1100
— 160
H H
[m] ~10 1)
40 —
~ 7 —120
e R U5
— 7 — 100
TEET——F ~ s N
60/ N,
~ S\ N\ - 80
20 U NG
Q N — 60
N Y
\\
— 40
10
20
0 0
0 1000 2000 3000 4000 Q [I/min]
| | 1 1 1 1 |
0 50 100 150 200 250 Q [m¥/h]
20 ‘ ‘
160/18.5
P2 —— ‘/
[kw] 16 —
/// - 16(?/ 15 ]
0 —_— 1 1] 160,/13/15R
1 —1— 160/11
- ||
8
0 1000 2000 3000 4000 Q [I/min]
90
& .
°. ™ N N
. N N \160/18.5
N 160/15
160/11_] 160,/13/15R NPSH
[m] [ft]
50 NPSH 8
R st — 620
4
9 10
30
0 1000 2000 3000 4000 Q [1/min]
Your Life, our Quality. Worldwide. 74 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3L 80 PERFORMANCE CURVES at 2900 min*' (according to ISO 9906 Attachment A) 2 Poles
0 USgpm. 200 300 400 500 600 700 800 900 1000 1100 1200 1300
| | | | | | | | | | | | | |
| I I I I | I I I I [ 1
;0 Impgpm. 200 300 400 500 600 700 800 900 1000 1100
T 300
m T L )
T 25 | 250
0 ™ B
_'____'—_“'*\\ /%‘5\ \\\
——— 200 ~ ™~
~= 3 \
60 ——7 \250/5 N AN - 200
e XY X
LN
= | \\‘ \\
*\\\ | ! ™~ ~O\ — 150
40 2 NS N
\\ \\\
N L
~ 100
20
50
0 0
0 1000 2000 3000 4000 Q [1/min]
[ I I I I I ]
0 50 100 150 200 250 Q [m3/h]
. %0 [T T1250/%
|t I
[kW] 40 /////:/’________ 250/37 1200 /37
_— ——1200/30 |
20 —— S 200 / 22
0
0 1000 2000 3000 4000 Q [I/min]
% T
i} == ‘200‘ 37I
[%] ,/77 — \ \\‘\\
70 Z— ~ - 200/30
7~ N 250,55
“ 200/22 7\\ AN / NPSH
250,37 —250/45 [m] [ft]
50 ‘ 8
NPSH 250200 62
200/ 250 2o
30 |
0 1000 2000 3000 4000 Q [I/min]

Your Life, our Quality. Worldwide. 75 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)M 32, 40, 50, 65 - up to 11 kW 2 Poles
B
D2
P2
DNZ, Vi A

V2 /-918
7-918

@
@)

H2

fasas}
|

D1
Pl
DN1
‘QN@ \L; 7 @%g U
M

H3

H

R

R C |||, 4=215

[

iy é/é
o

I -

«
=
80
MAX
o
=
N

DIMENSIONS TABLE

Dimensions [mm] Weiaht
Model |[0|0 (0|0 Z |0|0|0]|0 H3 Vi V2 Ikgl
DN1|/ P1 | K1|D1|S1|[1]|[2] DN2 P2 |[K2 |D2|S2 |Fig.,. H |H1|H2|[3]|[4]| R |W | M N1/N2| A | B C [3] [3] [4]
32-125/1.1 (M) | 50 | 95 [125]165] 16| 4 | - [32]75100]140] 14 | 1 [252]112]{140]124][141]80 | 70 |114]140|190{213]408219+230] - PG 13,5|M20x1,5[ 19,6
32-160/1.5 (M) | 50 | 95 |125[165| 16| 4 32| 75[100[140] 14| 1 [292[132]160[124|141] 80 | 70 [118]190]240]254]408]219+230] - PG 13,5|M20x1,5[22,5
32-160/2.2 (M) | 50 | 95 |125[165| 16| 4 32 | 75[100[140] 14| 1 [292[132]160[124|141] 80 | 70 [118]190]240]254]408]219+230] - PG 13,5|M20x1,5/24,6
32-200/3.0 50 | 95 |125]165] 16 | 4 32 [751100|140| 14| 1 [340[160[180]124| - | 80| 70[119[190(240|296|433[244+255] - PG 13,5 - 328
32-200/4.0 50|95 [125[165] 16| 4 32| 75[100[140] 14| 1 |340[160]180[141| - [ 80|70 [119[190|240|296|454| 253 - PG 16 - 39,5
32-200/5.5 50|95 [125[165] 16| 4 32| 75[100/140] 14| 1 |340[160[180[150] - |80 |70[119/190(240[296|475| 275 [PG13,5] PG 16 - 485
32-200/7.5 50|95 [125[165] 16| 4 32| 75[100]140] 14| 1 [340[160[180[150] - |80 | 70 [119/190(240[296|517| 275 [PG13,5] PG 16 - 57,0
40-125/1.5(M) | 65 [115][145[185] 16 | 4 40 [ 80 [110]150] 14 | 1 [252]112]140[124]141]80 | 70 [114]160]210|213]408[219+230] - PG 13,5 |M20x1,5] 20,1
40-125/2.2 (M) | 65 [115]145]185] 16 | 4 40 [ 80 [110]150] 14| 1 [252]112]140[124]141]80 [ 70 [114]160]210|213[408[219+230] - PG 13,5|M20x1,5[22,7
40-160/3.0 65 [115]145|185| 16| 4 40 [ 80 [110[150] 14| 1 |292|132]160[124] - |80 | 70 |118]190]240(254(433[244+255] - PG 13,5 - 28,0
40-160/4.0 65 |115[145[185/ 16 | 4 40 [ 80 [110]150] 14| 1 [292|132[160[141] - |80 |70 [118]190|240|254(454] 253 - PG 16 - 35,1
40-200/5.5 65 |115[145[185/ 16 | 4 40 [ 80 [110]150] 14| 2 [340]160[180[150] - |100| 70 [115]212]265|296|495| 275 [PG 13,5| PG 16 - 1488
40-200/7.5 65 |115[145[185/ 16 | 4 40 [ 80 [110]150] 14 | 2 [340]160[180[150] - |100| 70 [115]212]265|296|537| 275 [PG 13,5| PG 16 - 56,2
40-200/11 65 |115[145[185/ 16| 4 40 [ 80 [110]150] 14| 2 [340[160[180[178] - [100] 70 [115]212]265/296/594| 359 |PG 13,5| PG 21 - 67,5
50-125/2.2 (M) | 65 |115[145[185] 16 | 4 50 | 95 |125[165] 16 | 2 [292[132[160|124|141]100] 70 |114]190]240|254|428[219+230] - PG 13,5|M20x1,5/ 28,1
50-125/3.0 65 [115]145]185| 16| 4 50 | 95 |125[165] 16 | 2 [292]132[160]124| - |100] 70 [114]190]240]254|453[244+255] - PG 13,5 - 28,6
50-125/4.0 65 |115[145[185/ 16 | 4 50| 95 [125[165] 16 | 2 |292[132[160]141| - [100] 70 |114]190|240(254|474| 253 - PG 16 - 35,2
50-160/5.5 65 |115[145[185/ 16 | 4 50|95 [125[165] 16 | 2 |340[160]180[150] - [100] 70 [115[212]265[296|495| 275 |PG13,5] PG 16 - 1491
50-160/7.5 65 |115[145[185/ 16 | 4 50|95 [125[165] 16 | 2 |340[160]180[150] - [100] 70 [115[212]265[296|537| 275 |PG13,5] PG 16 - 55,5
50-200/9.2 65 [115]145|185| 16| 4 50 | 95 |125]165] 16 | 2 [360]160(200]178| - |100] 70 [115]212]265|296|594| 359 |[PG 13,5] PG 21 - 61,7
50-200/11 65 [115]145|185| 16| 4 | - [ 50|95 [125]165] 16| 2 [360[160[200(178] - [100| 70 |115]212]265/296]594| 359 |[PG 13,5| PG 21 - 67,5
65-125/4 80 |134[160/200] 18] 8 | 4 |65 [115[145]185] 16| 2 [340[160[180[141] - [100] 95 [140|212]280|254[474] 253 - PG 16 - 40,0
65-125/5,5 80 |134[160/200] 18| 8 | 4 |65 [115/145]185] 16| 2 [340]160[180[150| - |100] 95 |140(212[280|254]495| 275 [PG13,5| PG 16 - 52,0
65-125/7,5 80 |134[160/200] 18| 8 | 4 |65 [115[145]185] 16| 2 [340]160[180[150| - |100] 95 |140(212[280|254|537| 275 [PG13,5| PG 16 - 58,5
65-160/7,5 80 |134[160/200] 18| 8 | 4 |65 [115[145]185] 16 | 2 [360]160[200[150| - |100] 95 [140(212[280|296|537| 275 [PG13,5| PG 16 - 62,0
65-160/9,2 80 [134]160|200| 18| 8 | 4 | 65 [115]145]185] 16| 2 [360[160[200[178] - [100| 95 |140]212]280(296]594| 359 |[PG 13,5| PG 21 - 67,0
65-160/11 80 |134[160/200] 18| 8 | 4 [ 65 [115/145|185| 16 | 2 [360[160]200|178] - [100] 95 |140|212(280/296/594| 359 |PG13,5| PG 21 - 75,6
[1] Standard [2] On request

[3] For three phase only  [4] For single phase only

Your Life, our Quality. Worldwide. 76 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)M 50, 65 - 15 + 22 kW 2 Poles
B
D2
P2
DN2 PG21 296
L] i
L i
= o
N #[0-© .
TR Q2 s
R E-TE — — o
= 3y
1 Il HtE @
5| =] 2 }—-H 4 5 = (XY )
I E15 ‘ @ J @
‘ = | T %T & _
I =N 3 ke N
el ot L] R\
i : :
100 499.5 20 H 4-9¢15
75 W L4 N1
N2
M >
3 7-918
vwis A Va
& \@
// | /34 2-915 N -
1| Il -
9 / f I Q)
T e
1/
@ -~
_ O
| . o
IS g IS B REE
Ll Ll g\—‘ﬁ D[\H
! c 254 25
o " o 1—
4-p14 A
L4 oY
I I
I I
DIMENSIONS TABLE
Dimensions [mm] iah
Model o|lo|0|0 z o|lo|0|0 "‘[’f('gl‘
DN1| P1 | K1 | D1 | s1 | [1]][2] |DN2| P2 | K2 | D2 |Fig.| H |H1 |[H2| W [ M | N1 |[N2|B | c|u1|2|13|a]™
50-200/15 65 | 1151145 185] 16 | 4 | - | 50 | 95 | 125]165| 2 | 360 160 | 200 | 70 | 115 | 212 | 265 | 723 |190,5 254 | 318 | 65 | 304 | 96,0
65-160/15 80 | 134|160 | 200 18 | 8 | 4 | 65 | 115|145 185 2 | 360 ] 160 | 200 | 95 | 140 | 212 | 280 | 732 |199,5 254 | 318 | 65 | 304 | 93,0
65-200/15 80 | 134|160 [ 200 18 | 8 | 4 | 65 | 115 | 145|185 | 1 | 405|180 [ 225 | 95 | 140 | 250 | 320 | 732 | - | 254|314 | 60 | 345 |114,0
65-200/18.5 | 80 | 134 [ 160|200 | 18 | 8 | 4 | 65 | 115| 145|185 | 1 | 405 | 180 | 225| 95 | 140 | 250 | 320 | 732 | - | 254 | 314 | 60 | 345 [127,0
65-200/22 80 | 134|160 [ 200 18 | 8 | 4 | 65 | 115 | 145|185 | 1 | 405 180 | 225 | 95 | 140 [ 250 | 320 | 732 | - | 254|314 | 60 | 345 |136,0

[1] Standard
[2] On request

Your Life, our Quality. Worldwide. 77 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3LM 80-160 - 11 + 13 kW 2 Poles
6 200
¢ 135 4 173
DN8Q PGI3.5 2-G3/8
: P21 8918 | j

N

=7
|/
I

[

178

405

$ 225
g 155
21259

Vel

A

J€ 4—915 ‘ | ‘ 80 ‘ ‘ 65
250
320
619
Weight
80-160/11: 94 kg
80-160/13: 97 kg
3LM 80-160 - 15 + 18,5 kW 2 Poles
¢ 200
¢ 135 147 ) 173
PG21
DN80O 8—a18 2-63/8
o~ PG21
o
‘

% 225
81309
405

155

20

345

Weight
80-160/15: 130 kg
80-160/18.5: 143 kg

Your Life, our Quality. Worldwide. 78 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)S 32, 40, 50 - up to 2.2 kW 2 Poles
B
D2
P2
N2 i v2 A
& H 4-918
Lo foe] i}
,E g/ he! T
=] I
sz g ﬂ\@'ﬁ MJ
He— | B T
Fig. 1 i
R C ‘15
|70 | 2-¢10
16 M
Fig. 2 Lo )
25 || 70 ‘ -
M
DIMENSIONS TABLE
Dimensions [mm] h
Model 0|0 |0|0|0|0|0]|0 bt
DN1| P1 | K1 | D1 |[DN2| P2 | K2 | D2 | S2 |Fig.| H | HI |H2 |/ H3 | R | M [ N1 | N2 | A B C V1 V2 9
32-125/1.1 50 | 95 | 1257165 | 32 | 75 [ 100|140 | 14 | 1 [252 112140129 80 | 114|140 | 190 | 213 | 430 | 174 | M25x1,5 | M20x1,5 |23,1
32-160/1.5 50 | 95 |125]165] 32 | 75 [ 100140 | 14 | 1 [292 132|160 | 138 | 80 | 118190 | 240 | 254 | 477 | 186 | M25x1,5 | M20x1,5 |28,5
32-160/2.2 50 [ 95 | 125|165| 32 | 75 [ 100|140 | 14 [ 1 292|132 ] 160 | 138 80 | 118 | 190 | 240 | 254 | 477 | 186 | M25x1,5 | M20x1,5 |32,4
40-125/1.5 65 [ 1151145 |185] 40 | 80 | 110150 | 14 | 1 [252 112140138 | 80 | 114|160 | 210 | 213 | 477 | 186 | M25x1,5 | M20x1,5 |26,5
40-125/2.2 65 | 115|145 |185| 40 | 80 [ 110|150 | 14 | 1T [252 | 112|140 | 138 | 80 | 114 | 160 | 210 | 213 | 477 | 186 | M25x1,5 | M20x1,5 |29,6
50-125/2.2 65 [ 115 [ 145 1185] 50 | 95 [125]165 | 16 | 2 [292|132]160 | 138 | 100 | 114 | 190 | 240 | 254 | 497 | 186 | M25x1,5 | M20x1,5 32,9
3(L)S 32,65 -3 + 4 kW 2 Poles
B
D2
2 M25x1.5 A
o ‘DN‘ M20x1.5 Z=918 |
B o oo] l e
T sf—— 2 g /
@
55%1 ‘(_‘ﬁ‘ééﬁﬁﬁé %% = m
Bl ld S ﬁ w -~
|l P ’ 0 Q B - D‘NW
Fig. 1 || B 4P 7 (7 2=\
R ‘ C ‘ 140 ‘ 22,5? H 4-¢15
w N1
St M N2
| 401
H . WT <+ %
Fig. 2 i - =
s W ‘ ? 185 ?ﬁ‘
I e ——
DIMENSIONS TABLE
Dimensions [mm] Weidht
Model 0|0|0 |0 z 0|0|0|0 [kS]
DN1| P1 | K1 | D1|S1|[1]|[2] |DN2| P2 | K2 | D2 | S2 |Fig.| H |H1 |H2|H3 | R |W M |N1|[N2| A|B | C|LT|L2]L3
32-200/3.0 50 | 95 [125]165| 16 | 4 | - [ 32 751100]140] 14 | 1 [3401160]180|145] 80 | 70 [ 119]190|240]296|528]205| 160|202 | 42 [43,4
32-200/4.0 50 | 95 [125]165| 16 | 4 | - | 32| 75 |100|140| 14 | 1T [340|160]180|167| 80 | 70 | 119|190 |240|296|550|212 | 190|228 | 38 |45,9
65-125/4.0 80 [ 1341160200 18 | 8 | 4 | 65 [115[145|185] 16 | 2 [340]160] 180|161 |100] 95 | 140]212 280|254 [570|212]190|228] 38 47,0
[1] Standard
[2] On request
Your Life, our Quality. Worldwide. 79 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)S 32, 40, 50, 65 - up to 65-200 2 Poles
B
D2
P2 A
DN2 VI V2
- e[ 718
LT /
E— |8 2 £ -
|l . =
il % = /]
I Aot * gy, )
E-HEA0000000
o @ @\% B & @\ﬁ
P8 H T 2o S= Q -
A SR = | il ; ég | DN1
Py w R ‘ c ‘ F H 4 - 915
M W N1
St M Et ‘ 4%: N2
1 6 ‘ - o 9
1] H
I IT
‘ .
! —t o~
— i H I —
1 329 241 58,5‘
25 95
140 . S &
4914
\ 320 | 2 3
1] 1
I IT
DIMENSIONS TABLE
Dimensions [mm] Weicht
Model | @ (0|00 Z | 0(0|0|0 [ko]
DN1|P1[K1|D1|S1|[1]|[2]| DN2 |P2 |[K2|D2|S2 [Fig. H |H1/H2/H3/H4 R |W M |N1/N2|A|B|C|F|G|Q|L1[L2][L3] W1 V2
32-200/5.5 | 50 |95[125/165[ 16| 4 | - | 32 [75]100[140] 14| 1 [340[160[180]195] 28 | 80| 70 [119[1901240[300/607479| 15 [270] 12 [216]266] 50 | M32x1,5 [ M32x1,5 | 62,8
32-200/7.5 | 50 [95[125[165] 16| 4 32 [75]100{140] 14 | 1 [340/160[180[195] 28 |80 | 70 |119]190[240[300/607/479] 15 [270] 12 |216]266] 50 | M32x1,5 | M32x1,5 | 74,6
40-160/3.0 | 65 [115[145[185/ 16| 4 40 180 110[150[ 14 | 1 292]132160/145/ 32 | 80 | 70 |118]190/240[254|528|388 15 |220] 12 |160[200 40 | M25x1,5 | M20x1,5 | 39,0
40-160/4.0 | 65 [115]145[185/ 16| 4 40 |80 110[150 14| 1 [292[132[160]161) 20 | 80 | 70 [118]190[240[254|550/395] 15 |220] 12 [190[240] 50 | M25x1,5 | M20x1,5[ 41,5
40-200/5.5 | 65 [115]145[185[ 16| 4 40 |80 110[150] 14 | 2 [340[160[180]195| 28 |100] 70 [115]212]265[300]627|479] 15 270 12 |216]266| 50 | M32x1,5 | M32x1,5| 63,2
40-200/7.5 | 65 [115[145/185/ 16| 4 40 [80[110[150] 14 | 2 [340[160[180[195] 28 [100] 70 |115[212]265(300(627/479] 15 [270] 12 [216]266] 50 | M32x1,5 | M32x1,5 | 69,6
50-125/3.0 | 65 [115[145[185[ 16| 4 50 [95]125[165 16| 2 [292]132|160[145| 32 [100] 70 [114]190[240[254(548/388| 15 [220] 12 160200 40 | M25x1,5 | M20x1,5| 42,0
50-125/4.0 | 65 [115[145[185[ 16| 4 50 [95[125[165[ 16| 2 292]132|160]161] 20 [100] 70 |114]190[240[254/570[395[ 15 [220] 12 |190[240] 50 | M25x1,5 | M20x1,5 [ 42,5
50-160/5.5 [ 65 [115[145[185[16] 4 50 ]95125[165[ 16| 2 [340[160/180]195] 28 [100] 70 |115212265]300(627|479] 15 |270] 12 [216266| 50 | M32x1,5 | M32x1,5 | 63,8
50-160/7.5 [ 65 |115[145[185[16] 4 50 ]95]125[165[ 16| 2 [340[160/180]195] 28 [100] 70 |115212]265]300(627|479] 15 |270] 12 [216266| 50 | M32x1,5 | M32x1,5 | 69,6
50-200/9.2 | 65 [115[145[185[ 16| 4 | - | 50 [95[125[165[ 16| 2 [360/160[200[195| 28 [100] 70 |115]212]265[3001667/479] 15 [270] 12 [216[266] 50 | M32x1,5 | M32x1,5 | 79,7
65-125/5.5 | 80 |134[1601200[ 18| 8 | 4 | 65 [115[145/185] 16 | 2 |340]160[180]195] 28 |100] 95 |140[212]280[300(627|479| 15 [270] 12 |216[266] 50 | M32x1,5 | M32x1,5 | 60,0
65-125/7.5 | 80 [134[160[200] 18| 8 | 4 | 65 |115/145[185[ 16| 2 [340]160]180/195| 28 [100] 95 |140[212[280300/627/479| 15 ]270] 12 [216266| 50 [ M32x1,5 | M32x1,5 | 67,0
65-160/7.5 | 80 [134[160[200] 18| 8 | 4 | 65 |115]145[185[ 16| 2 [360/160200/195| 28 |100] 95 |140]212[280300/627/479| 15|270] 12 216266| 50 | M32x1,5 | M32x1,5| 70,0
65-160/9.2 | 80 [134[160[200] 18| 8 | 4 | 65 |115]145[185[ 16| 2 [360/160200/195| 28 [100] 95 |140]212[280300/667479| 15 ]270] 12 216266| 50 | M32x1,5 | M32x1,5 | 77,0
65-200/15 | 80 [134[160[200] 18| 8 | 4 | 65 |115]145[185[ 16| 2 405|180]225238] 20 [100] 95 [140[250/320/350/808|621] 20 |350] 14 254314| 60 | M40x1,5 | M40x1,5 |128,0
65-200/18.5] 80 |134[1601200[ 18| 8 | 4 | 65 [115[145]185] 16| 2 |405]180]225238] 20 |100] 95 |140[250320[350852|621] 20 [350] 14 [254[314| 60 | M40x1,5 | M40x1,5 [141,0
65-200/22 | 80 |134{1601200[ 18] 8 | 4 | 65 [115[145]185] 16| 3 |405[180[2257245] - |100] - | - [2501320[350[888] - | - [ - | - [ - | - [ - |M40x1,5]| M40x1,5 [160,0
[1] Standard
[2] On request
Your Life, our Quality. Worldwide. 80 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3(L)S 40, 50, 65 - 11 + 15 kW 2 Poles

P2 M40x1.5

o
I
=

238

Tm A

H2

w

100 4-¢19 70

DIMENSIONS TABLE

Dimensions [mm] Weight
Model 1) 0 1] 0 z 1 ) 1) 0 [?('9]
DN1 P1 K1 D1 S1 [1] [2] | DN2 P2 K2 D2 S2 H H1 H2 W B F 9
40-200/11 65 115 1 145 | 185 16 4 - 40 80 110 | 150 14 382 | 160 | 180 | 110 | 798 | 833 | 107,0
50-200/11 65 115 | 145 | 185 16 4 50 95 125 | 165 16 402 1 160 | 200 | 110 | 798 | 833 | 107,0
50-200/15 65 1715 | 145 | 185 16 4 - 50 95 125 | 165 16 402 | 160 | 200 | 110 | 798 | 833 | 131,0
65-160/11 80 134 160 200 18 8 4 65 115 145 185 16 402 160 200 | 1225 | 798 846 76,0
65-160/15 80 134 | 160 | 200 18 8 4 65 115 | 145 | 185 16 402 | 160 | 200 | 1225 | 808 | 856 | 104,0
[1] Standard
[2] On request
3LS 80-160 2 Poles
¢ 200
¢ 135
M40x1.5

22

405

% 225

¢ 155

DN100
|

24

320

350 DIMENSIONS TABLE

= Dimensions [mm] Weight

0 Model B [kg]

gl P s ﬁzi 80-160/11 833 135,0
80-160/15R 833 147,0

o 80-160/15 833 147,0

ey F A 80-160/18.5 877 1550

Your Life, our Quality. Worldwide. 81 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3LS 65-250, 80 2 Poles

P2 Al A2

s 2-63/8

H
H2

D1
P1

H4

4-9D3 ‘ ‘

DIMENSIONS TABLE

Model Dimensions [mm] Weight
DN1|P1|K1|D1|S1| DN2 |P2|D2|S2|H |H1|H2|H3|H4/H5 R |W|N1/N2|M|M1| L |L1|L2|L3|L5|A1/A2]| B | C|F1]|G|D3|D5 V1 V2 kgl

65-250/30 [ 80 |135[160200 22 [65 Fig. 1]1201185[20 450200250310] 15 [25[100120280360/160] 80 305318395 70 370200200] 968 [341/32.5396] 19 17 [M50x1,5[M50x1,5303,0
65-250/37 | 80 |135[160200 22 |65 Fig. 1120185/ 20 450200250310] 15]25(100120280360,160 80 305318395/ 70370200200 968 34132.5396] 19| 17 [M50x1,5|M50x1,5(320,0
80-200/22 [ 100155[180225/ 24 |65 Fig. 2 135200 22 430180250245] 13 22 (12595 280345125/ 65 241279350 80 [320/175[182] 913 [32958.5320 15| 14 [M40x1,5|M40x1,5[200,0
80-250/37 [ 100]155180225] 24 | 65 Fig. 2135200 22 4802002803 10| 15|25 [125]120315400/160 80 305318395 70 370200200/1021]369/32.5396] 19| 17 [M50x1,5[M50x1,5335,0
3LS 80 2 Poles
0 200
8135 15005 Al A2
M50x1.5
N M‘ ‘ ‘ 2-63/8
(o] e
ol L
2 4-903 M1
NI
c L F1 N2
B
5
EI & S —
4017
TR T~ - d

DIMENSIONS TABLE

Model Dimensions [mm] Weight
H H1 | H2 | H3 | H4 | H5 | W | N1 [ N2 | M | M1 L L1 L2 | L3 L5 | A1 | A2 B C F1 G D3 | [kal

80-200/30 450 1200 [ 250 [ 310 ] 20 | 25 | 95 [ 280 [ 360 | 130 | 80 | 305|318 [ 395 | 70 | 370 | 200 | 200 | 993 [ 341 [32.5] 396 | 14 [306,0
80-200/37 450 | 200 | 250 [ 310 | 20 | 25 | 95 [ 280 | 360 | 130 | 80 | 305 | 318|395 | 70 | 370 | 200 | 200 | 993 | 341 | 325|396 | 14 [325,0
80-250/45 505 | 225280 | 335 25 | 28 | 120 | 315 | 415 | 165 | 100 | 311 | 356 | 435 | 75 | 393 | 225 | 225 | 1051 385 | 41 | 435 | 18 [401,0

Your Life, our Quality. Worldwide. 82 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3LS 80-250/55 2 Poles

¢ 200 M63x1.5

¢ 135 MB3x1.5 275 275

22

24

370

280

¢ 1483

560

¢ 225

¢ 155

‘ DN100,
|

200

80

30

26

500

Weight
80-250/55: 489 kg . —_—

100

Your Life, our Quality. Worldwide. 83 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3(L)S 32, 40, 50, 65 - up to 65-200 2 Poles

a ‘ w$ ‘ y .
{ﬁg—fﬂ az oz 7-918 S| >, =
“ ral M= - B

S2

@7 J 360 3 4-615 ‘ ‘

(X) onlyfor 32-200/5.5/7.5

(¥) onlyfor s0-125/2.2/3/4
65/125/4

DIMENSIONS TABLE
Dimensions [mm] )

Model (0|0 |00 Z |0|0|0|0 el
DN1/ P1 | K1 |D1|S1|[1]]|[2] |[DN2| P2 |K2|D2|S2|H |HI|H2/H3| R | A | B |B1|D|E |NT|N2/N3|T V1 V2 9
32-125/1.1 | 50 | 95 [125|165| 16 | 4 | - [ 32 ] 75 [100]140] 14 [302112|140|129| 80 [213|715]272] 80 |550]300]340]250|710|M25x1,5|M20x1,5] 43,5
32-160/15 | 50 | 95 [125|165] 16 | 4 32| 75100 140] 14 [342[132]160] 138 80 |254|760|317] 80 [590|350|390|300] 750 | M25x1,5|M20x1,5| 51,0
32-160/2.2 | 50 | 95 [125|165] 16 | 4 32| 75 100|140 14 [342[132]160] 138 80 |254|760|317] 80 [590|350|390|300] 750 | M25x1,5|M20x1,5] 53,5
32-200/3 50 | 95 |125]165| 16| 4 32| 75100 140] 14 [390| 160|180 145] 80 1296|809 |366| 80 |590|350|390|300] 750 | M25x1,5|[M20x1,5| 68,0
32-200/4 50 |95 |125]165] 16 | 4 321 75 [100[140] 14 [390]160] 180|161 | 80 [296|831[388| 80 [590]350]390]300|750 | M25x1,5[M20x1,5] 72,0
32-200/5.5 | 50 | 95 [125]165| 16 | 4 32| 75 [1001140] 14 1390|160]180|195| 80 |296|885[442|100|650|350|390| 300|850 |M32x1,5|M32x1,5] 88,0
32-200/75 | 50 | 95 [125|165] 16 | 4 32| 75 [100|140] 14 1390 160|180 195| 80 |296|885|442|100|650|350{390 300|850 | M32x1,5|M32x1,5] 99,8
40-125/1.5 | 65 |115|145]185] 16 | 4 40 | 80 [110]150] 14 [302|112]140]138| 80 [213|760]317| 80 |550]300]340]250|710|M25x1,5|M20x1,5] 48,5
40-125/2.2 | 65 |115[145]185] 16 | 4 40 | 80 [110]150] 14 [302|112]140]138] 80 |213|760|317] 80 |550|300|340|250]710 |M25x1,5|M20x1,5| 51,0
40-160/3 65 [115]145|185] 16 | 4 40 | 80 [110 150 14 [342[132]160]145] 80 | 254|809 |366| 80 |590|350|390|300] 750 | M25x1,5|M20x1,5| 77,5
40-160/4 65 [115]145[185[ 16 | 4 40 | 80 [110[150] 14 [342]132]160] 161 | 80 [254|831[388| 80 |590]350]390]300|750 | M25x1,5|M20x1,5] 64,5
40-200/5.5 | 65 [115]145[185] 16 | 4 40 | 80 [1101150] 14 [390|160]180|195]100|296|905|442|100|650|350|390| 300|850 |M32x1,5|M32x1,5] 89,0
40-200/7.5 | 65 |115[145]185] 16 | 4 40 | 80 [110]150] 14 [390|160]180]195[100|296|905|442]100|650|350(390|300|850 | M32x1,5|M32x1,5| 94,5
40-200/11 | 65 | 115[145]185] 16 | 4 40 | 80 [110]150] 14 [390]160]180|238|100|296(1073/610] 100|800 | 380 | 420 | 330 [1000] M40x1,5 | M40x1,5]117,0
50-125/2.2 | 65 [115/145]185| 16 | 4 50 | 95 [125]165] 16 |342[132|160]138|100|254|780|317| 80 |550|350{390|300|710|M25x1,5|M20x1,5] 75,0
50-125/3 65 [115]145[185[ 16 | 4 50 | 95 [125]165] 16 [342[132]160] 145]100(254|829|366| 80 |590|350]390|300|750|M25x1,5|M20x1,5]79,0
50-125/4 65 [115]145[185[ 16 | 4 50 | 95 [125]165] 16 [342[132[160]161]100]254|851|388| 80 [590|350|390|300]750|M25x1,5|M20x1,5] 81,5
50-160/5.5 | 65 [115]145[185] 16 | 4 50 195 [125]165] 16 |390|160|180| 195|100 |296|905|442| 100|650 |350|390|300|850|M32x1,5|M32x1,5| 89,0
50-160/7.5 | 65 [115]145]185| 16 | 4 50 | 95 [125]165] 16 |390| 160|180 195|100|296|905|442|100|650]350(390|300 |850 |M32x1,5|M32x1,5| 94,5
50-200/9.2 | 65 [115]145]185| 16 | 4 50 | 95 [125]165] 16 |410[160|200| 195|100|296|945|482|100|650]350|390|300 | 850 |M32x1,5|M32x1,5]100,0
50-200/11 | 65 [115]145]185] 16 | 4 50 | 95 [125]165] 16 [410]160]200]238]100]296(1073/610| 100|800 | 380 | 420|330 {1000 M40x1,5|M40x1,5|117,5
50-200/15 | 65 [115]145[185] 16| 4 | - |50 | 95 [125]165] 16 [410[160(200|238]100(296(1073/610| 100|800 | 380|420 |330|1000 M40x1,5 |M40x1,5[125,4
65-125/4 80 [ 1341601200 18 | 8 | 4 | 65 |115/145]185| 16 [390|160|180|161|100|254|851|388| 80 [590|350{390|300 |750|M25x1,5|M20x1,5| 82,0
65-125/5.5 | 80 [134]160|200] 18 | 8 | 4 | 65 [115[145|185] 16 [390|160|180|195]100 254|905 |442|100|650|350(390 300|850 | M32x1,5|M32x1,5] 90,0
65-125/7.5 | 80 [134]160|200] 18 | 8 | 4 | 65 [115[145|185] 16 [390|160|180|195]100 254|905 |442|100|650|350(390 300|850 | M32x1,5|M32x1,5] 97,0
65-160/7.5 | 80 [134]160|200] 18 | 8 | 4 | 65 [115[145|185] 16 [410]160]200]195[100|296|905|442|100|650|350(390 300|850 | M32x1,5|M32x1,5]103,0
65-160/9.2 | 80 [134]160/200| 18 | 8 | 4 | 65 [115[145[185] 16 [410]160]200|195|100|296|945|482|100|650]350]390] 300|850 | M32x1,5[M32x1,5[107,0
65-160/11 | 80 [134]1601200] 18 | 8 | 4 | 65 [115[145[185] 16 [410]160]200]238|100]2961073[610]100]800]3801]420]330|1000| M40x1,5 | M40x1,5[114,0
65-160/15 | 80 [134)160[200] 18 | 8 | 4 | 65 [115]145[185] 16 |410[160|200|238|100]296(1073/610| 100800380 [420]|330|1000| M40x1,5|M40x1,5]119,0
65-200/15 | 80 [134)160[200] 18 | 8 | 4 | 65 [115]145[185] 16 |455[180|225/238|100]296(1073/610| 100800380 [420]|330|1000| M40x1,5|M40x1,5]127,0
65-200/18.5] 80 [134|160[200| 18 | 8 | 4 | 65 [115]145[185] 16 |455[180|225/238|100]296(1117/654| 100800380 |420]|330[1000| M40x1,5|M40x1,5]139,0
65-200/22 | 80 [134]160[200] 18 | 8 | 4 | 65 |115[145[185] 16 [455[180|225[245]100]296(1153/690| 100|800 |410|450|360|1000] M40x1,5|M40x1,5[182,0

[1] Standard
[2] On request

Your Life, our Quality. Worldwide. 84 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3LP 65-250, 80 2 Poles
B
D2 B1
P2
V2 2-G3/8
o
4-9D4 H& N3
N1
N2
4-918 & S
DIMENSIONS TABLE
Model Dimensions [mm] Weight
DN1 P1|k1|D1|S1| DN2 |P2|D2|S2| H |H1|H2|H3|H4 N1|N2|N3| B |B1|C|G| E | T |S |D4|Sp.] V1 v2 | [kg]
65-250/30 | 80 [135]160]200| 22 |65 Fig. 1[120]185[ 20 [510{200]250[310] 60 [100]530/590]4601343]770]470]396]1000[1200 19| 8 [M50x1,5[M50x1,5|354,0
65-250/37 | 80 [135]160/200| 22 |65 Fig. 1]/120]185[ 20 [510{200/250/310] 60 |100/530/590/4601343]770]470/396/1000/1200 - | 19 | 8 |M50x1,5/M50x1,5/373,0
80-160/11 |100[155/180(225| 24 |80 Fig. 2|135]200] 22 |455[180]225]238] 50 [125/380/420(330/1098]610|360[317] 800 [1000] 20 | 15 | 5 |M40x1,5/M40x1,5/164,0
80-160/15R | 100]155]180]225] 24 [80 Fig. 2|135]200] 22 [455|180(225|238] 50 |125]380]420(330]1098|610[360(317| 800 |1000] 20 | 15 | 5 [M40x1,5[M40x1,5176,0
80-160/15 | 100]155]180]225] 24 [80 Fig. 2|135]200] 22 [455|180(225|238] 50 |125]380]420(330]1098|610]360(317| 800 |1000] 20 | 15| 5 [M40x1,5[M40x1,5]176,0
80-160/18.5]100] 155/ 180(225| 24 |80 Fig. 2| 135]200] 22 [455[180]225[238] 50 |[125]380|420(330|1142[654|360[317] 800 [1000] 20 | 15 | 5 |M40x1,5/M40x1,5/185,0
80-200/22 | 100]155/180]225| 24 |80 Fig. 2| 135]200] 22 [490[180]250]245] 60 |125]530/590]4601288]690]470[320]1000[1200] - | 19 | 8 |M40x1,5/M40x1,5/252,0
80-250/37 |100]155]180]225] 24 [80 Fig. 2]135]200] 22 [540/200(280|310] 60 |125]530]590[460]1368|770]{470]396/1000/1200 19 8 [M50x1,5]M50x1,5[377,0
3LP 80 - 30 + 45 kW 2 Poles
B
? 200 B1
? 135 v V2
1200 590
DIMENSIONS TABLE
Dimensions [mm] Weight
Model H H1 H2 H3 B B1 G s V1 V2 [kg]
80-200/30 510 180 250 310 1368 770 39 20 M50x1.5 M50x1.5 356,0
80-200/37 510 180 250 310 1368 770 39 20 M50x1.5 M50x1.5 365,0
80-250/45 565 200 280 335 1398 800 435 25 M50x1.5 M50x1.5 440,0
Your Life, our Quality. Worldwide. 85 Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3LP 80-250/55 2 Poles

® 200 910

® 135 MB3x1.5 MB3x1.5

1
)

§ 26

2 ! F qﬁ : > L:’—Pj
le

280

¢ 225
8 155
?|483

605

200

75_|50

125 470 4-023 U»

Weight
3LP 80-250/55: 528 kg

3(L)SF 32, 40, 50 2 Poles

® 165
g 200

15

140
168

DIMENSIONS TABLE

Model Dimensions [mm] Weight

Fig. |DN1| P1 | K1 | D1 [DN2| P2 | K2 | D2 | S2 | H | HI | H2 | M | N1 | N2 | R A B C [kgl
32-125/1.1 1 50 | 95 [ 125165 ] 32 [ 75 [ 100 [ 140 | 14 [ 252 | 112 [ 140 [ 114 [ 140 | 190 | 80 [ 213 | 118 | 174 | 13,1
32-160/1.5 1 50 | 95 [ 125 [ 165 ] 32 [ 75 [ 100 [ 140 | 14 [292 | 132 [ 160 [ 118 [ 190 | 240 | 80 [ 254 | 130 [ 186 | 17,0
32-160/2.2 T 50 [ 95 [ 125 [ 765 ] 32 [ 75 [ 700 [ 140 | 14 [292 [ 132 [ 160 [ 118 [ 7190 | 240 | 80 [ 254 | 130 [ 186 [ 17,0
40-125/1.5 1 65 | 115 | 145 | 185 | 40 80 | 110 | 150 | 14 [ 252 [ 112 | 140 | 114 | 160 | 210 | 80 | 213 | 130 | 186 | 144
40-125/2.2 1 65 | 115 [ 145 | 185 | 40 80 | 110 | 150 | 14 | 252 | 112 | 140 | 114 | 160 | 210 | 80 | 213 | 130 | 186 | 14,5
50-125/2.2 2 65 [ 115 [ 145 1 185 | 50 | 95 [ 125 ] 165 [ 16 [ 292 | 132 [ 160 [ - | 190 | 240 | 100 [ 254 | 130 | 186 | 20,0

Your Life, our Quality. Worldwide. 86 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)SF 32, 40, 50, 65 2 Poles
B
D2
[@N]
w)
5 & =
Fig. 1
R
29
S1
Fig. 2
25
DIMENSIONS TABLE
Dimensions [mm] )
Model z L'f'f('a'it
Fig. [DN1/ P1 | K1 | D1 | S1 | [1] | [2] |[DN2/ P2 | K2 /D2 |S2 | H |H1|H2| M |N1T|N2/ R /W A |B|C|D|E|F|G
32-200/3 T [50]95(125]165] 16| 4 | - |32 |75 |100]140] 14 1340160180 |119]190 (240 80 | 70 [296|222 | 142180 215|250 [M12[24,0
32-200/4 1 [ 5095 [125]165| 16| 4 32| 75100140 14 [340 160|180 | 119|190|240| 80 | 70 | 296 |222| 142|180 | 215|250 |[M12(24,0
32-200/5.5 1 150195 [125]165| 16| 4 32 [ 75 1100]140| 14 [340[160]180]119|190|240| 80 | 70 | 296|245 | 165|230 | 265|300 |M12|28,0
32-200/75 | 1 [ 50|95 |125/165] 16 | 4 32 |75 100140 14 |340[160| 180|119 190|240 80 | 70 | 296 | 245 | 165 | 230 | 265 | 300 |M12{28,0
40-160/3 1T [ 65]115]145/185] 16 | 4 40 180 [1101150] 14 [292 11321160 118[190[240| 80 | 70 | 254 (222|142 |180]215]250 [M12]19,5
40-160/4 T [ 65[115]|145/185] 16 | 4 40 [ 80 [110]150| 14 [292 132|160 118|190 |240| 80 | 70 | 254|222 | 142|180 | 215|250 |[M12]20,0
40-200/55 | 2 | 65 |115|145]185| 16 | 4 40 [ 80 [ 110|150 14 [340| 160|180 | 115|212 ]265|100| 70 [ 296|265 165|230 | 265|300 |M12]28,0
40-200/75 | 2 | 65 |115|145]185| 16 | 4 40 [ 80 [ 110|150 14 [340| 160|180 | 115|212 ]265|100| 70 [ 296|265 165|230 | 265|300 |M12|28,0
40-200/11 2 | 65 [115]145[185] 16 | 4 40 | 80 | 110|150 | 14 [340| 160|180 | 115]212]265]100| 70 | 296|298 | 198 | 250|300 | 350 [M16|41,5
50-125/3 2 | 65 [115[145{185| 16 | 4 50 | 95 [1251165] 16 |292 (1321160 |114|190|240 100 | 70 | 254|242 | 142 180 | 215|250 |M12|20,0
50-125/4 2 |65 [115]145]185| 16 | 4 50 | 95 [125]165] 16 [292|132]160|114]190|240|100| 70 | 254|242 | 142|180 215|250 |M12{20,0
50-160/5.5 | 2 | 65 [115]145[185] 16 | 4 50 | 95 [125[165| 16 |340| 160|180 | 115|212[265|100| 70 | 296 | 265 | 165 | 230 | 265 | 300 [M12 (28,5
50-160/75 | 2 [ 65 [115]145[185] 16 | 4 50 | 95 [125[165| 16 |340| 160|180 | 115|212 265|100 | 70 | 296 | 265 | 165 | 230 | 265 | 300 [M12 (28,5
50-2009.2 | 2 | 65 [115]145[185] 16 | 4 50 | 95 [125[165| 16 | 360 | 160200 | 115|212 265|100 | 70 | 296 | 265 | 165 | 230 | 265 | 300 [M1229,0
50-200/11 2 | 65 [115]145[185] 16 | 4 50 | 95 [125]165] 16 360|160 |200| 1152121265 |100| 70 [ 296|298 | 198 | 250 | 300 | 350 IM16|41,5
50-200/15 2 |65 |115[145[185| 16 | 4 | - | 50 | 95 [ 125[165| 16 |360 [ 160|200 | 115|212 (265|100 | 70 | 296|298 | 198 | 250 | 300 | 350 |M16(42,5
65-125/4 2 180 [134[160]200] 18 8 | 4 [ 65 |115[145[185]| 16 |340 [ 160 | 180|140 212 (280|100 | 95 | 254|242 | 142 {180 | 215 | 250 [M12]26,0
65-125/55 | 2 [ 80 [134[160[200| 18| 8 | 4 | 65 |115|145[185| 16 |340 160|180 | 140 {212 (280|100 | 95 |254 | 265 | 165 | 230 | 265 | 300 |[M12[27,5
65-125/75 | 2 [ 80 |134]160200| 18 | 8 | 4 | 65 |115|145[185| 16 |340 160|180 | 140 [212]280| 100 | 95 |254 | 265 | 165 | 230 | 265 | 300 |[M12(28,5
65-160/7.5 | 2 [ 80 [134[160[200] 18| 8 | 4 [ 65 |115|145]185] 16 |360 | 160|200 | 140|212 280|100 | 95 296 | 265 | 165 | 230 | 265 | 300 |[M12[27,0
65-160/9.2 | 2 [ 80 |134]160200| 18| 8 | 4 | 65 |115|145|185]| 16 |360 | 160|200 | 140|212 280|100 | 95 |296 | 265 | 165 | 230 | 265 | 300 |M12{30,0
65-160/11 2 |80 |134[160[200| 18| 8 | 4 | 65 |115|145[185| 16 |360 | 160|200 | 140 {212 (280|100 | 95 |296 | 298 | 198 | 250 | 300 | 350 |M16]40,0
65-160/15 2 |80 |134[160(200| 18| 8 | 4 | 65 |115|145[185| 16 |360 | 160|200 | 140 [212[280| 100 | 95 |296 | 308 | 208 | 250 | 300 | 350 |M16(42,0
65-200/15 2 |80 |134[160(200| 18| 8 | 4 | 65 |115|145[185| 16 |405[180|225|140(250 (320|100 | 95 |296 | 308 | 208 | 250 | 300 | 350 |M16{29,5
65-200/185] 2 [ 80 [134]160[200] 18 | 8 | 4 | 65 [115[ 145|185 16 [405|180[225| 140250320100 95 296|308 |208 | 250300 | 350 |[M16{29,5
65-200/22 2 |80 |134[160[200| 18| 8 | 4 | 65 |115|145[185| 16 |405|180|225| 140250320100 | 95 |296 | 308 | 208 | 250 | 300 | 350 |M1630,0

[1] Standard
[2] On request

Your Life, our Quality. Worldwide. 87 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3(L)SF 65-250, 80 2 Poles

D1

DIMENSIONS TABLE

Model Dimensions [mm] Weight
DN1| P1 | K1 | D1 S1 DN2 P2|D2|S2| H|H1|H2|H3| R |W|N1T|N2| M |M1|D3|B|C|D|E|F G |A1]|A2|lkg]

65-250/30 80 [135]160]200] 22 [ 65Fig. 1]120[185] 20 [450[200]250] 15 [100]120[280[360|160] 80 | 19 [308]208 3003504004 - M16[200 (200 70,0
65-250/37 80 [135]160(200] 22 [ 65Fig. 1]120[185] 20 [450(200(250] 15 [100|120(280(360|160] 80 | 19 [308]208|300350|400|4 - M16[200(200] 71,0
80-160/11 100 155[180]225] 24 [ 80 Fig. 2 [135]200] 22 [405]180[225] 13 [125[ 95 [250320(125] 65 | 15 [333]208]250]300]3504 - M16[175/175[52,0
80-160/15R [ 100155 180|225] 24 | 80Fig. 2 | 135[200| 22 |405|180(225] 13 [125] 95 |250(320|125] 65 | 15 [333]208|250(300|350(4 - M16[175]175]52,0
80-160/15 100[155]180(225] 24 | 80 Fig. 2 [ 135]200] 22 [405[180[225] 13 [125] 95 [250]320]125] 65 | 15 |333]208|250[300]3504 - M16[175]175]52,0
80-160/18.5 | 100 155[180]225] 24 [80Fig. 2 [135]200] 22 [405]180225[ 13 |125] 95 [250320[125] 65 | 15 |333]208]250/300|3504 - M16[175]175[53,0
80-200/22 100 155]180]225] 24 | 80Fig. 2 [135]200] 22 [430] 180250 13 [125[ 95 [280]345[125] 65 | 15 [333]208]250]300|3504 - M16|175]18268,0
80-200/30 100 155|1801225] 24 | 80Fig. 2 [135]200] 22 [430] 180250 13 [125[ 95 [280345[125] 65 | 15 [333]208]300|350|4004 - M16/200200(72,0
80-200/37 1001 155[180(225] 24 [ 80Fig. 2 | 135]200] 22 [430[ 180250 13 [125] 95 |280|345|125] 65 | 15 [333]208|300|350|400|4 - M16/200|200| 73,0
80-250/37 100[155]180(225] 24 | 80 Fig. 2 [ 135]200] 22 [480[200[280] 15 [125]120[315]400] 160 80 | 19 |361[236|300[350]400 |4 - M16[200]200] 83,0
80-250/45 100 155]180]225] 24 | 80Fig. 2 [135]200] 22 [480]200[280 15 [125[120[315/400[160| 80 | 19 |361|236]350|400|4508 - M16/225225]88,0
80-250/55 1001 155]1801225] 24 | 80Fig. 2 [135]200] 22 [480]200]280] 15 [125[120]315[400[160] 80 | 19 |373]248[450/500[550 8 - M16|275]275]100,0

Your Life, our Quality. Worldwide. 88 Commercial



3 - 3L SERIES

| CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)PF 32, 40, 50, 65 2 Poles
B 100 *
D2

Fig. 1

R

29
ST
Fig. 2

25

DIMENSIONS TABLE

Dimensions [mm] [
Model z "i‘I’("J']“

Fig. |DN1| P1 | K1 | D1 | S1 | [1] | [2] |[DN2| P2 | K2 | D2 | S2 H H1 | H2 | M | N1 | N2 R W A B 9

32-125 1 50 | 95 [ 125|165 | 16 4 - 32 | 75 [ 100 | 140 | 14 [ 252 | 112 | 140 | 114 | 140 | 190 | 80 | 70 | 213 | 440 17,0
32-160 T |50 [ 95 [125[165[ 16 | 4 32 [ 75 [ 100 [ 140 | 14 1292 1132 [ 160 [ 118 [ 190 | 240 | 80 | 70 [ 254 [ 440 [19,0
32-200 T 150 95 [125[165] 16 | 4 32 [ 75 [ 100 [ 140 | 14 1340 [ 160 | 180 | 119 [ 190 | 240 | 80 | 70 | 296 | 440 [27,0
40-125 1T 165 [ 15[ 14518516 | 4 40 180 [ 110 [ 150 [ 14 [252 [ 112 1140 [ 114 [ 160 [ 210 [ 80 | 70 | 213 ] 440 [17,0
40-160 1 65 | 115 ] 145 ] 185 | 16 4 40 | 80 | 110 [ 150 | 14 | 292 [ 132 | 160 | 118 | 190 | 240 | 80 | 70 | 254 | 440 | 19,0
40-200 2 65 | 115 ] 145 ] 185 | 16 4 40 | 80 | 110 [ 150 | 14 | 340 | 160 | 180 | 115 | 212 | 265 | 100 | 70 | 296 | 460 |27,0
50-125 2 65 [ 1151145 1185 | 16 4 50 | 95 | 125 165 16 | 292 | 132 [ 160 | 114 | 190 | 240 | 100 | 70 | 254 | 460 | 19,0
50-160 2 [ 65 [115]145]185 | 16 | 4 50 [ 95 [ 125165 16 [ 340 [ 160 [ 780 | 115 [ 212 [ 265 [ 100 [ 70 | 296 | 460 |28,0
50-200 2 [ 65 [ 115145185 [ 16 | 4 - |50 [ 95 [ 125 [ 165 | 16 | 360 | 160 [ 200 | 115 [ 212 [ 265 | 100 | 70 | 296 | 460 [27,0
65-125 2 [80 [134]160]200] 18 [ 8 4 165 [ 1151451185 ] 16 [ 340 [ 160 [ 180 [ 140 | 212 ] 280 | 100 | 95 [ 254 | 460 [28,0
65-160 2 80 [ 1347160200 18 8 4 165 [ 115 [ 145 [ 185 16 [ 360 | 160 [ 200 [ 140 [ 212 1280 | 100 | 95 [ 296 | 460 [29,0
65-200 2 [ 80 [ 1347160 ]200] 18] 8 4 165 [ 115 [ 145185 16 [ 405 [ 180 [ 225 [ 140 [ 250 [ 320 [ 100 | 95 [ 296 | 460 [30,0

[1] Standard
[2] On request

* Space where it is possible to disassemble the pump with spacer joint without disassembling the motor

Your Life, our Quality. Worldwide. 89 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)PF 65-250, 80 2 Poles
D2
Al A2
8-918
ol
T
T
=)
=
4-9D3
N1
N2
DIMENSIONS TABLE

Model Dimensions [mm] Weight
DN1| P1 | K1 |D1| $1 DN2 P2 D2(S2| H |HT|H2|/H3| R | W |NI1 M1| L |L1|D|D3|E | F|A1|A2| B | C |lkg]
65-250 80 [135]1601200] 22 [65Fig. 1[120]185] 20 [450]200]250] 15 [100]120[280]360]160] 80 [130]80 [ 32 [ 19 [ 10 | 35 |175]182]570[340(82,0
80-160 100]155[180[225] 24 [ 80Fig. 2 [135][200] 22 [405]180]225] 13 [125] 95 [250]320]125] 65 [100[ 50 [ 24 | 15 8 [ 27 [147]173]485[260 60,0
80-200 100[155]180[225] 24 [80Fig. 2| 135[200] 22 [430[180]250] 13 [125] 95 [280345]125] 65 [130] 80 [ 32 [ 15[ 10 [ 35 [175]182]595|340(83,0
80-250 100]155]180[225] 24 [80Fig. 2| 135[200] 22 [480[200]280] 15 [125]120]315]400] 160 80 [130]80 [ 32 [ 19 [ 10 [ 35 [175]192[595340[88,0

* Space where it is possible to disassemble the pump with spacer joint without disassembling the motor.

Your Life, our Quality. Worldwide. 90 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
Joint for 3(L)S - 3SF Series 2 Poles
L
b Viti UNI EN 1SO 4029
] N
, - E 1]
L] ‘

- : = CﬂA — 1 ————f |2

DIMENSIONS TABLE
Motor Dimensions [mm]

Model [HP] [lew] size d d1 d2 d3 M L b h Screws
32-125/1.1 1,5 1,1 80 19 22 19 33 M16x1,5 98 43 6 218 Mbx6
32-160/1.5 2 1,5 90 19 22 24 39 M16x1,5 110 53 8 27,3 M8x8
32-160/2.2 3 2,2 90 19 22 24 39 M16x1,5 110 53 8 273 M8x8
32-200/3.0 4 3 100 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
32-200/4.0 5,5 4 112 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
32-200/5.5 75 55 132 19 22 38 58 M16x1,5 145 84 10 413 M8x8
32-200/7.5 10 7,5 132 19 22 38 58 M16x1,5 145 84 10 413 M8x8
40-125/1.5 2 1,5 90 19 22 24 39 M16x1,5 110 53 8 27,3 M8x8
40-125/2.2 3 2,2 90 19 22 24 39 M16x1,5 110 53 8 273 M8x8
40-160/3.0 4 3 100 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
40-160/4.0 5,5 4 112 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
40-200/5.5 75 55 132 19 22 38 58 M16x1,5 145 84 10 413 M8x8
40-200/7.5 10 7,5 132 19 22 38 58 M16x1,5 145 84 10 413 M8x8
40-200/11 15 11 160 19 22 42 63 M16x1,5 178 114 12 453 M8x8
50-125/2.2 3 2,2 90 19 22 24 39 M16x1,5 110 53 8 27,3 M8x8
50-125/3.0 4 3 100 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
50-125/4.0 5,5 4 112 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
50-160/5.5 75 55 132 19 22 38 58 M16x1,5 145 84 10 413 M8x8
50-160/7.5 10 7,5 132 19 22 38 58 M16x1,5 145 84 10 413 M8x8
50-200/9.2 12,5 9,2 132 19 22 38 58 M16x1,5 145 84 10 41,3 M8x8
50-200/11 15 11 160 19 22 42 63 M16x1,5 178 114 12 45,3 M8x8
50-200/15 20 15 160 22 22 42 63 M18x1,5 209 114 12 453 M8x8
65-125/4.0 5,5 4 112 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
65-125/5.5 75 55 132 19 22 38 58 M16x1,5 145 84 10 413 M8x8
65-125/7.5 10 7,5 132 19 22 38 58 M16x1,5 145 84 10 413 M8x8
65-160/7.5 10 75 132 19 22 38 58 M16x1,5 145 84 10 41,3 M8x8
65-160/9.2 12,5 9,2 132 19 22 38 58 M16x1,5 145 84 10 41,3 M8x8
65-160/11 15 11 160 19 22 42 63 M16x1,5 178 114 12 45,3 M8x8
65-160/15 20 15 160 24 30 42 63 M20x1,5 184 114 12 453 M8x8
65-200/15 20 15 160 24 30 42 63 M20x1,5 184 114 12 453 M8x8
65-200/18.5 25 18,5 160 24 30 42 63 M20x1,5 184 114 12 45,3 M8x8
65-200/22 30 22 180 24 30 48 72 M20x1,5 184 114 14 51,8 M10x10
65-250/30 40 30 200 24 30 55 85 M20x1,5 184 114 16 59,3 M12x12
65-250/37 50 37 200 24 30 55 85 M20x1,5 184 114 16 59,3 M12x12
80-160/11 15 11 160 24 30 42 63 M20x1,5 184 114 12 453 M8x8
80-160/15R 20 15 160 24 30 42 63 M20x1,5 184 114 12 453 M8x8
80-160/15 20 15 160 24 30 42 63 M20x1,5 184 114 12 45,3 M8x8
80-160/18.5 25 18,5 160 24 30 47 63 M20x1,5 184 114 12 45,3 M8x8
80-200/22 30 22 180 24 30 43 72 M20x1,5 184 114 14 51,8 M10x10
80-200/30 40 30 200 24 30 55 85 M20x1,5 184 114 16 59,3 M12x12
80-200/37 50 37 200 24 30 55 85 M20x1,5 184 114 16 59,3 M12x12
80-250/37 50 37 200 29 35 55 85 M24x2 206 114 16 59,3 M12x12
80-250/45 60 45 225 29 35 55 85 M24x2 206 114 16 59,3 M12x12
80-250/55 75 55 250 29 35 60 89 M24x2 218 144 18 64,4 M12x12

Your Life, our Quality. Worldwide. 91 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
Joint for 3(L)P Series 2 Poles
= o
FUNF SDE FUNF SIDE MOTOR SI0DE NOTOR SIDE
DIMENSIONS TABLE
. Dimensions [mm]

Model [HP] [kw] Motor size di b1 h1 a2 b2 h2
32-125/1.1 1,5 1,1 80 24 8 27,3 19 6 21,8
32-160/1.5 2 1,5 90 24 8 27,3 24 8 273
32-160/2.2 3 2,2 90 24 8 27,3 24 8 273
32-200/3.0 4 3 100 24 8 27,3 28 8 31,3
32-200/4.0 55 4 112 24 8 2773 28 8 31,3
32-200/5.5 75 55 132 24 8 2773 38 10 41,3
32-200/7.5 10 7,5 132 24 8 27,3 38 10 413
40-125/1.5 2 1,5 90 24 8 27,3 24 8 273
40-125/2.2 3 2,2 90 24 8 27,3 24 8 273
40-160/3.0 4 3 100 24 8 273 28 8 31,3
40-160/4.0 55 4 112 24 8 27,3 28 8 31,3
40-200/5.5 7,5 5,5 132 24 8 27,3 38 10 413
40-200/7.5 10 7,5 132 24 8 273 38 10 413
40-200/11 15 11 160 24 8 27,3 42 12 453
50-125/2.2 3 2,2 90 24 8 27,3 24 8 27,3
50-125/3.0 4 3 100 24 8 27,3 28 8 31,3
50-125/4.0 55 4 112 24 8 2773 28 8 31,3
50-160/5.5 7,5 5,5 132 24 8 27,3 38 10 413
50-160/7.5 10 7,5 132 24 8 273 38 10 413
50-200/9.2 12,5 9,2 132 24 8 27,3 38 10 413
50-200/11 15 11 160 24 8 273 42 12 45,3
50-200/15 20 15 160 24 8 27,73 42 12 45,3
65-125/4.0 55 4 112 24 8 27,3 28 8 31,3
65-125/5.5 75 55 132 24 8 273 38 10 413
65-125/7.5 10 7,5 132 24 8 273 38 10 413
65-160/7.5 10 7,5 132 24 8 27,3 38 10 413
65-160/9.2 12,5 9,2 132 24 8 273 38 10 413
65-160/11 15 11 160 24 8 2773 42 12 45,3
65-160/15 20 15 160 24 8 273 42 12 453
65-200/15 20 15 160 24 8 273 42 12 453
65-200/18.5 25 18,5 160 24 8 27,3 42 12 453
65-200/22 30 22 180 24 8 273 48 14 51,8
65-250/30 40 30 200 32 10 35,3 55 16 59,3
65-250/37 50 37 200 32 10 35,3 55 16 59,3
80-160/11 15 11 160 24 8 27,3 42 12 453
80-160/15R 20 15 160 24 8 273 42 12 453
80-160/15 20 15 160 24 8 27,3 42 12 453
80-160/18.5 25 18,5 160 24 8 27,3 42 12 453
80-200/22 30 22 180 32 10 35,3 48 14 51,8
80-200/30 40 30 200 32 10 35,3 55 16 59,3
80-200/37 50 37 200 32 10 35,3 55 16 59,3
80-250/37 50 37 200 32 10 35,3 55 16 59,3
80-250/45 60 45 225 32 10 35,3 55 16 59,3
80-250/55 75 55 250 32 10 35,3 60 18 64,4

Your Life, our Quality. Worldwide. 92 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)M 32, 40, 50, 65 - up to 11 kW SECTIONAL VIEW 2 Poles
1 4 26 /2 56 16 17 58 6 12 21
C T A
f—] |

2 Poles

S o 1

Your Life, our Quality. Worldwide. 93 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

MATERIALS TABLE

Ref. Name

Material
3M 3LM

001 [ Pump body

EN 1.4307 (AISI 304) EN 1.4404 (AISI 316L)

003 | Motor support

Cast iron EN-GJL-200-EN 1561

004 | Seal housing disc

EN 1.4307 (AISI 304) EN 1.4404 (AISI 316L)

006 | Rotor shaft

EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

007 | Impeller

EN 1.4307 (AISI 304) EN 1.4404 (AISI 316L)

011 | Mechanical seal Carbon/Ceramic/NBR SIC/SIC/FPM
012 | Motor case -

013 | Motor cover Aluminium

014 |Fan Polyamide

015 | Fan cover

Galvanised steel Fe P04

016 | Terminal box

017 | Terminal box cover

Aluminium (three phase version)

018 [ Spray protector washer

NBR

019 | Bearing (pump side)

020 | Bearing (motor side)

021 | Adjusting ring

Steel C70

022 Tie-rod Galvanised steel Fe 42
Screw Galvanised Steel
025 | Drain plug EN 1.4401 (AISI 316) / PTFE
026 | O-Ring NBR \ FPM
032 | Key EN 1.4401 (AISI 316)
034 [Impeller nut EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
042 | Foot Aluminium / Galvanised Steel

056 | Terminal box gasket

NBR

058 | Cable gland

072 [ Wearring [1]

EN 1.4307 (AISI 304) EN 1.4404 (AISI 316L)

073 [ Wear ring

EN 1.4404 (AISI 316L)

092 | Sealing ring

EN 1.4307 (AISI 304)

093 [ Sealing ring

107 | Seegerring

Carbon steel TC 80

200 [ Screw (pump body)

Stainless steel A270 class 1SO 3506/1

206 | Support screw [2]

Galvanised Steel

244 | Plug 3]

\ EN 1.4301 (AISI 304)

[1]= For 32-200/3, 32-200/4, 32-200/5.5, 40-200/5.5, 40-200/7.5, 40-200/11, 50-160/5.5, 50-160/7.5,

[2]= For 15 kW and over
[3]= For 65-160/15 and 65-200 only

50-200/9.2, 50-200/11, 50-200/15

Your Life, our Quality. Worldwide.

94 Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3LM 80-160/11 - 80-160/13 SECTIONAL VIEW 2 Poles

T 34 32 11 4 26 3 56 16 1/ 58 6 12 13 14 15 75 24 77

m I

Wi

7 25 76 78 235200 244 18 92 1 201 42 22 220 20 21 93

3LM 80-160/15 - 80-160/18.5 SECTIONAL VIEW 2 Poles
700%2 4 26 3 18 206 56 16 17 58 12 13 14 15 75 24 77

125 76 78 34 11 235200244 92 19 6 42 22 20 21 93 230 201

Your Life, our Quality. Worldwide. 95 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
MATERIALS TABLE
Ref. Name Material Ref. Name Material
001 | Pump body EN 1.4407 (AISI 316) 032 | Key EN 1.4404 (AISI 316L)
003 | Motor support Cast iron EN-GJL-200-EN 1561 034 | Impeller nut Aluminium
004 | Seal housing disc EN 1.4404 (AISI 376L) 042 | Foot Aluminium
006 | Rotor shaft EN1.4404 (AL Et:]ng)lunigrt In contact with 056 | Terminal box gasket NBR
007 | Impeller EN 1.4401 (AISI 316) 058 | Cable gland -
011 | Mechanical seal SiC/SiC/FPM 075 | Washer EN 1.4404 (AISI 316L)
012 | Motor case - 076 | Washer EN 1.4404 (AISI 316L)
013 | Motor cover Aluminium 077 | O-Ring EPM
014 [Fan Polyamide 078 [ O-Ring
015 | Fan cover Galvanised steel Fe P04 092 | Sealing ring (11-13 kW, 15-18,5 kW)
016 | Terminal box - 093 | Sealing ring (11-13 kW, 15-18,5 kW) -
017 | Terminal box cover Aluminium 107 | Seeger ring (for 11-13 kW only) Carbon steel TC 80
078 | Spray protector washer NBR 200 | Screw (pump body) Stainless steel A2-70 class 1SO 3506/1
079 | Bearing (pump side) - 201 | Screw (11-13 kW, 15-18,5 kW) Stainless steel A2-70 class SO 3506/1
020 | Bearing (motor side) - 206 | Motor support screw (for 15-18.5 KW only) Galvanised Steel
021 | Adjusting ring Steel C70 220 | Tie-rod nut (for 11-13 kW only) Galvanised Steel
022 | Tie-rod Galvanised Steel 230 | Washer (11-13 kW, 15-18,5 kW) Galvanised Steel
024 | Filler cap EN 1.4404 (AISI 376L) 235 | Washer EN 1.4301(AISI 304)
025 | Drain plug EN 1.4404 (AISI 316L) 244 | Plug 1] EN 1.4307(AISI 304)
026 | O-Ring FPM
[1]= Not for H and E versions
Your Life, our Quality. Worldwide. 96 Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3(L)S 32, 40, 50 SECTIONAL VIEW 2 Poles

itz

3(L)S 65 SECTIONAL VIEW 2 Poles

J“I 0 ]
'L nna ﬂ;\
‘ DDDGGUHDDDDDD‘j ‘
i ] .

Loss

Your Life, our Quality. Worldwide. 97 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
MATERIALS TABLE
Ref. Name Material
35 3LS
001 Pump body EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
003 [ Motor support Cast iron EN-GJL-200-EN 1561
003A | Adapter ring [1] Cast iron EN-GJL-200-EN 1561
004 | Seal housing disc EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
006 | Joint - Part in contact with the liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
007 [ Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
011 | Mechanical seal Carbon/Ceramic/NBR SiC/SiC/FPM
012 | Motor -
025 | Drain plug EN 1.4401 (AISI 316) / PTFE
026 | O-Ring NBR \ FPM
032 | Key EN 1.4401 (AISI 316)
034 [Impeller nut EN 1.4301 (AISI 304) \ EN 1.4404 (AISI 316L)
042 | Foot Aluminium / Galvanised Steel
044 | Support protection EN 1.4307 (AISI 304)
072 | Wear ring [2] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
073 [ Wear ring (not for 65) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
200 | Screw (pump body) Stainless steel A270 class ISO 3506/1
201 | Screw Galvanised Steel
206 | Support screw Galvanised Steel
206-2 | Adapter ring screw Galvanised Steel
244 | Plug[3] \ EN 1.4307 (AISI 304)
[1]= For the 65-125/5.5 and 65-125/7.5 version only
[2]= For the 32-200, 40-200, 50-160, 50-200 version only
[3]= For the 65-160/15, 65-200 version only
Your Life, our Quality. Worldwide. 98 Commercial




3 - 3L SERIES

3LS 80-160 SECTIONAL VIEW

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

T34 7 32 4026

"

3

44

ieXeli

2\
[]
_

L)

009000000000

|
'y

|
| — LU .
‘ \LJ o) 1 ‘
25 76 /8 235 200 244 6 42 12
MATERIALS TABLE
Ref. Name Material Ref. Name Material
001 | Pump body EN 1.4407 (AISI 316) 034 [ Impeller nut EN 1.4404 (AISI 316L)
003 | Motor support Cast iron EN-GJL-200-EN 1561 042 | Foot Aluminium
004 | Seal housing disc EN 1.4404 (AISI 316L) 044 | Support protection EN 1.43071 (AISI 304)
006 | Joint EN 1.4404 (AISI 316L) 075 | Washer
007 | mpeller EN1.4401 (AISI 316) 076 | Washer EN'1.4404 (AISI 316L)
011 | Mechanical seal SIC/SiC/FPM 077 [0O-Ring EPM
012 | Motor - 078 | O-Ring
024 | Filler cap EN 1.4404 (AISI 316L) 200 | Screw (pump body) Stainless steel A2-70 class 1SO 3506/1
025 | Drain plug EN 1.4404 (AISI 316L) 235 | Washer EN 1.4301(AISI 304)
026 | O-Ring FPM 244 | Plug[1] EN 1.4301(AISI 304)
032 [Key EN 1.4407 (AISI 316)

[1]= Not for H and E versions

Your Life, our Quality. Worldwide.

99

Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3LS 65-250, 80 SECTIONAL VIEW 2 Poles

T34 7 32 4 26 4A 113 3A 75 24 77

25 76 78 42A 255200 244 6 42 12
MATERIALS TABLE

Ref. Name Material Ref. Name Material

001 | Pump body EN 1.4401 (AISI 316) 65-250 d=24 mm

003 | Motor support Cast iron EN-GJL-200-EN 1561 032 | Key 80-200 d=24mm EN 1.4401 (AISI 316)

003A | Adapter ring Cast iron EN-GJL-200-EN 1561 80-250 d=29 mm

004 | Seal housjng djsc EN 1.4401 (AISI 316) 65-250 d=24 mm

004A [ Seal housing disc screw ENEI;I 14%3201 d(Al?l 30?) I 034 | Impeller nut 80-200 d=24mm | EN 1.4404 (AISI 316L)
65250 d=24 mm o 30(_3U W eel) 80-250 d=29 mm

006 | Joint EN 1.4404 (AISI 316L) per 22 kW 042 | Motor foot Aluminium
80-200 d=24 mm EN 1.4462 (dt#)lex steel) 042A | Purno foot Aluminium/galvanised steel

for 30-37 kW P (for 80-250/55 only)

80-250 d=29 mm EN 1.4462 (duplex steel) 075 | Washer

007 | Tmpeller EN 1.4401 (ASI 316) 076 | Washer EN1.4404 (AISI 316L)

011 | Mechanical seal SIC/SIC/FPM 077 [ O-Ring FPM

012 [ Motor - 078 [ O-Ring

024 | Filler cap EN 1.4404 (AISI 316L) 200 | Screw (pump body) Stainless steel A2-70 class SO 3506/1

025 | Drain plug EN 1.4404 (AISI 316L) 235 | Washer EN 1.4301(AISI 304)

026 | O-Ring FPM 244 | Plug [1] EN 1.4301(AISI 304)

[1]= Not for H and E versions

Your Life, our Quality. Worldwide. 100 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

SECTIONAL VIEW 3(L)P 32, 40, 50, 65

2 Poles

1 4 26 11 92 66

19

12

-

42 67 93 33 142 50

MATERIALS TABLE

Ref. Name

Material
3P

3LP

001 [ Pump body

EN 1.43071 (AISI 304)

EN 1.4404 (AISI 316L)

003 | Motor support

Cast iron EN-GJL-200-EN 1561

004 | Seal housing disc

EN 1.4307 (AISI 304)

EN 1.4404 (AISI 316L)

006 | Shaft - Part in contact with the liquid Seal housing disc

EN 1.4307 (AISI 304)

EN 1.4404 (AISI 376L)

006A | Joint

Cast iron EN-GJL-250-EN 1561

007 |imoeller 32,40, 50 EN 1.4301 (AISI 304) \ EN 1.4404 (AISI 316L)
P 65-125/160/200 EN 1.4401 (AISI 316)

071 [ Mechanical seal Carbon/Ceramic/NBR \ SIC/SIC/FPM

012 | Motor -

019 [ Bearing (pump side)

020 [ Bearing (motor side) -

025 | Drain plug EN 1.4401 (ATSI 316) / PTFE

026 | O-Ring NBR FPM

032 | Key EN 1.4401 (AISI 316)

033 | Key C40

034 | Impeller nut EN 1.4301 (AISI 304) \ EN 1.4404 (AISI 316L)

042 | Foot Galvanised steel Fe 37

044 | Joint cover Galvanised steel Fe 37

050 | Foot Aluminium / Galvanised Steel

058 [ Cable gland

066 | Support cover

Cast iron EN-GJL-250-EN 1561

067 | Support cover

Cast iron EN-GJL-250-EN 1561

072 | Wear ring [1]

EN 1.4307 (AISI 304)

EN 1.4404 (AISI 376L)

073 | Wearring not for the 65 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
092 [RingV

093 [RingV -

142 | Base Galvanised steel Fe 37

200 | Screw (pump body) Stainless steel A270 class ISO 3506/1

244 |Plug[2] - EN 1.4301 (AISI 304)

[1]= Only for 32-200/3, 32-200/4, 32-200/5.5, 40-200/5.5, 40-200/5.5, 40-200/7.5, 40-200/11, 50-160/5.5, 50-160/7.5, 50-200/9.2, 50-200/11, 50-200/15 versions

[2]= For 65-160/15 e 65-200 only

Your Life, our Quality. Worldwide.

101

Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

2 Poles

3LP 80-160 SECTIONAL VIEW

75 24 77

26
66 92 89 19

3 6 20 67 93

42A 50B 50C

MATERIALS TABLE
Ref. Name Material Ref. Name Material
001 | Pump body EN 1.4401 (AISI 316) 050 | Rest Aluminium
003 | Motor support Cast iron EN-GJL-200-EN 1561 050A | Pump spacer -
004 | Seal housing disc EN 1.4404 (AISI 316L) 050B | Pump spacer
EN 1.4404 (AISI316L -
006 | Shaft Part in contact \Svith the ||)quid 050C | Joint cover spacer
006A [Joint Cast iron EN-GJL-250-EN 1561 066 | Support cover Cast iron EN-GJL-200-EN 1561
007 Imperiler ol EN 1.4401 (AISI 316) 067 Sup%ort cover Cast iron EN-GJL-200-EN 1561
011 | Mechanical sea SIC/SIC/FPM 075 | Washer
012 | Motor - 076 | Washer EN1.4404 (AISI 316L)
079 | Bearing (pump side) - 077 | O-Ring FPM
020 | Bearing (motor side) - 078 | O-Ring
024 | Filler cap EN 1.4404 (AISI 316L) 089 | Seeger ring Carbon steel TC 80
025 | Drain plug EN 1.4404 (AISI 316L) 092 | Sealing ring
026 | O-Ring FPM 093 | Sealing ring
032 [Key EN 1.4407 (AISI 316) 200 | Screw (pump body) Stainless steel A270 class ISO 3506/1
033 | Key C40 235 | Washer EN 1.4301(AISI 304)
034 | Impeller nut EN 1.4404 (AISI 376L) 244 | Plug [1] EN 1.4301(AISI 304)
042 | Foot Galvanised Steel
042A | Base Galvanised Steel
044 | Joint cover Galvanised Steel
[1]= Not for H and E versions
Your Life, our Quality. Worldwide. 102 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3LP 65-250, 80 SECTIONAL VIEW 2 Poles

6 20 67 93

42A 50B 50C

MATERIALS TABLE
Ref. Name Material Ref. Name Material
001 | Pump body EN 1.4401 (AISI 316) 042 | Foot Galvanised Steel
003 | Motor support Cast iron EN-GJL-200-EN 1561 042A | Base Galvanised Steel
004 | Seal housing disc EN 1.4407 (AISI 316) 044 | Joint cover Galvanised Steel
004A | Seal housing disc screw EN 1.4301(AISI 304) 050 | Foot (for 35-250/22 kW only) Aluminium
006 | Shaft EN 1.4462 (Duplex steel) for 30-37 kW | 050A | Pump spacer Aluminium
006A | Joint Cast iron EN-GJL-200-EN 1561 0508 | Pump spacer Aluminium
007 | Impeller EN 1.4401 (AISI316) 050C | Joint cover spacer Aluminium
011 | Mechanical seal SIC/SIC/FPM 066 [ Support cover Cast iron EN-GJL-200-EN 1561
012 | Motor : i - 067 Sup%ort cover Cast iron EN-GJL-200-EN 1561
019 | Bearing (pump side 075 | Washer
020 | Bearing (motor side) - 076 | Washer EN 1.4404 (AISI 316L)
024 [ Filler cap EN 1.4404 (AISI 316L) 077 | O-Ring EPM
025 | Drain plug EN 1.4404 (AISI 316L) 078 [ O-Ring
026 [ O-Ring FPM 089 | Seeger ring Carbon steel TC 80
65-250 d=24 mm 092 | Sealing ring -
032 | Key 80-200 d=24mm EN 1.4401 (AISI 316) 093 | Sealing ring -
80-250 d=29mm 200 | Screw (pump body) Stainless steel A270 class ISO 3506/1
033 | Key C40 235 | Washer EN 1.4301 (AISI 304)
65250 d=24mm 244 [ Plug [1] EN 1.4307 (AISI 304)
034 | Impeller nut 80-200 d=24 mm EN 1.4404 (AISI 316L)
80-250 d=29 mm
[1]= Not for H and E versions
Your Life, our Quality. Worldwide. 103 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(.)SF 32, 40, 50, 65 SECTIONAL VIEW 2 Poles
1 3A
73
32
34
] 6
vuuuuuu
ﬂ\
l
7 25 72 200 11 244
MATERIALS TABLE
Ref. Name Material
3SF 3LSF
001 Pump body EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
003 | Motor support Cast iron EN-GJL-200-EN 1561
003A | Adapter ring [1] Cast iron EN-GJL-200-EN 1561
004 | Seal housing disc EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
006 | Joint - Part in contact with the liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
007 | Impeller 32,40, 50 EN 1.4307 (AIST 304) EN 1.4404 (AIST 3760)
P 65-125/160/200 EN 1.4401 (AISI 316)
011 | Mechanical seal Carbon/Ceramic/NBR | SIC/SiC/FPM
025 | Drain plug EN 1.4401 (AISI 316) / PTFE
026 | O-Ring NBR FPM
032 | Key EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
034 [Impeller nut EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
044 | Support protection EN 1.4307 (AISI 304)
072 | Wear ring [2] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
073 | Wearring not for the 65 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
32-125, 40-125
200 | Screw (pump body) 40-160, 40-200, 50-125, 50-160, Stainless steel A270 class ISO 3506/1
50-200, 65-125, 65-160, 65-200
244 | Plug[3] \ EN 1.4307 (AISI 304)
[1]= For 65-125/5.5 and 65-125/7.5 only
[2]= For the 32-200, 40-200, 50-160 , 50-200 versions
[3]= For 65-160/15 and 65-200 only
Your Life, our Quality. Worldwide. 104 Commercial



3LSF 80-160 SECTIONAL VIEW

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

2 Poles

1 54 7 32 4 26 N 44
N i — -
E DUUUUUUDUDUUU"‘
/ nanngannnnnn
\‘m ﬂ Il 1l I
_ EN . |
i — I
\UUF{UUUUDUUUU
- ]
_ } TiK, ‘Q
25 76 /8 255 200 244
MATERIALS TABLE
Ref. Name Material Ref. Name Material
001 | Pump body EN 1.4401 (AISI 316) 034 | Impeller nut EN 1.4404 (AISI 316L)
003 | Motor support Cast iron EN-GJL-200-EN 1561 044 | Support protection EN 1.4307 (AISI 304)
004 | Seal housing disc EN 1.4404 (AISI 316L) 075 | Washer
006 [Joint EN 14404 (ATST 3160 076 [ Washer EN 1.4404 (AISI 316L)
007 | Impeller EN 1.4401 (AISI 316) 077 | O-Ring FPM
011 | Mechanical seal SIC/SiC/FPM 078 [ O-Ring
024 | Filler cap EN 1.4404 (AISI 316L) 200 | Screw (pump body) Stainless steel A2-70 class ISO 3506/1
025 | Drain plug EN 1.4404 (AISI 316L) 235 | Washer EN 1.4301(AISI 304)
026 | O-Ring FPM 244 | Plug [1] EN 1.4301(AISI 304)
032 | Key EN 1.4401 (AISI 316)
[1]= Not for H and E versions
Your Life, our Quality. Worldwide. 105 Commercial




3LSF 65-250, 80 SECTIONAL VIEW

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)

2 Poles

T34

32 4 26 4A 113 SA

75 24 77

25 76 /8 42A 235 200 244 6
MATERIALS TABLE
Ref. Name Material Ref. Name Material
001 | Pump body EN 1.4407 (AISI 316) o
003 | Motor support Cast iron EN-GIL-200-EN 1561 026 ] O-Ring FPM
003A | Adapter ring Cast iron EN-GJL-200-EN 1561 65-250 d=24mm
004 | Seal housing disc EN 1.4401 (AISI 316) 032 | Key 80-200 d=24 mm EN 1.4401 (AISI 316)
004A | Seal housing disc screw EN 1.4301(AISI 304) 80-250 d=29 mm
EN 1.4404 (AISI 316L) per 22 kW 65250 de24 mm
_ 20 o=z EN'1.4467 (duplex steel) 034 | Impeller nut 80200 dead EN 1.4404 (Al 3161)
006 | Joint 20200 deaa | EN 440 (AISI 3T6L) per 22 kW 80250 d=29 mm |
- EN 1.4462 (duplex steel) 042A | Pump spacer Aluminiun/galvanised steel (for 80-250/55 only)
80-250 d=29 mm EN 1.4462 (duplex steel) 075 | Washer
007 | mpeller EN 1.4401 (AISI 316) 076 | Washer EN'1.4404 (AISI 316L)
077 [ O-Ring FPM
011 | Mechanical seal SIC/SiC/FPM 078 | O-Ring
200 | Screw (pump body) Stainless steel A2-70 class 1SO 3506/1
024 | Filler cap EN 1.4404 (AISI 316L) 235 | Washer EN 1.4307(AISI 304)
025 | Drain plug EN 1.4404 (AISI 316L) 244 | Plug [1] EN 1.4307(AISI 304)
[1]= Not for H and E versions
Your Life, our Quality. Worldwide. 106 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)P 32, 40, 50, 65 SECTIONAL VIEW 2 Poles
1 4 26 92 66 8919 6 20
73
52
54
7
29 3 200 /2 17 244 42 67 93 33
MATERIALS TABLE
Ref. Name Material
3P 3LP
001 [ Pump body EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
003 | Motor support Cast iron EN-GJL-200-EN 1561
004 [ Seal housing disc EN 1.4307 (AISI 304) EN 1.4404 (AISI 376L)
006 | Shaft - Part in contact with the liquid Seal housing disc EN 1.4301 (AISI 304) N 1.4404 (AISI 316L)
007 |imoeller 32,40, 50 N 1.4301 (AISI 304) N 1.4404 (AISI 316L)
P 65-125/160/200 EN 1.4401 (AISI 316)
011 [ Mechanical seal Carbon/Ceramic/NBR \ SIC/SIC/FPM
019 | Bearing (pump side) .
020 | Bearing (motor side) -
025 | Drain plug N 1.4401 (AISI 316) / PTFE
026 | O-Ring NBR FPM
032 | Key EN 1.4307 (AISI 304) EN 1.4407 (AISI 316)
033 [Key C40
034 [ Impeller nut EN 1.4301 (AISI 304) \ N 1.4404 (AISI 316L)
042 | Foot Galvanised steel Fe 37
066 | Support cover Cast iron EN-GJL-250-EN 1561
067 | Support cover Cast iron EN-GJL-250-EN 1561
072 [Wearring [1] EN 1.4307 (AISI 304) EN 1.4404 (AISI 376L)
073 [ Wear ring not for the 65 EN 1.4301 (AISI 304) N 1.4404 (AISI 316L)
089 | Seeger ring Carbon steel TC 80
092 [ Sealing ring -
093 [ Sealing ring -
200 | Screw (pump body) Stainless steel A270 class 1SO 3506/1
244" | Plug[2] \ EN 1.4301 (AISI 304)
[1]= Only for 32-200/3, 32-200/4, 32-200/5.5, 40-200/5.5, 40-200/5.5, 40-200/7.5, 40-200/11, 50-160/5.5, 50-160/7.5, 50-200/9.2, 50-200/11, 50-200/15 versions
[2]= For 65-160/15 e 65-200 only
Your Life, our Quality. Worldwide. 107 Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3LP 80-160 SECTIONAL VIEW

66 92 89 19 3 6 20 67 93

76 ‘ 11 244

I |
42
200
235
MATERIALS TABLE
Ref. Name Material Ref. Name Material
001 | Pump body EN 1.4407 (AISI 316) 034 | Impeller nut EN 1.4404 (AISI 316L)
003 | Motor support Cast iron EN-GJL-200-EN 1561 042 | Foot Galvanised Steel
004 | Seal housing disc EN 1.4404 (AISI 376L) 066 | Support cover Cast iron EN-GJL-200-EN 1561
006 | Shaft EN 14404 (ABITEL) 067 | Support cover Cast iron EN-GJL-200-EN 1561
Part in contact with the liquid PP

007 | Impeller EN 1.4401 (AISI 316) 075 | Washer

076 [Washer EN 1.4404 (AISI 316L)
011 | Mechanical seal SIC/SiC/FPM 077 [ O-Ring FPM

078 | O-Ring
079 | Bearing (pump side) - 089 | Seegerring Carbon steel TC 80
020 | Bearing (motor side) - 092 | Sealing ring ]
024 |Filler cap EN 1.4404 (AISI 316L) 093 | Sealing ring
025 | Drain plug EN 1.4404 (AISI 376L) 200 | Body screw Stainless steel A270 class ISO 3506/1
026 | O-Ring FPM 235 | Washer EN 1.4301(AISI 304)
032 | Key EN 1.4407 (AISI 316) 244 | Plug [1] EN 1.4301(AISI 304)
033 | Key C40

[1]= Not for H and E versions

Your Life, our Quality. Worldwide. 108 Commercial



3LPF 65-250, 80 SECTIONAL VIEW

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

2 Poles

66 89 19 20 67 93
33
i,
’’’’’’’’’’’’’’ =1 " 7’:}7
@)
1 244 3
235 200 42
MATERIALS TABLE
Ref. Name Material Ref. Name Material
001 | Pump body EN 1.4401 (AISI 316) 033 [ Key C40
003 | Motor support Cast iron EN-GJL-200-EN 1561 65-250 d=24 mm
004 | Seal housing disc EN 1.4401 (AISI 316) 034 | Impeller nut 80-200 d=24 mm EN 1.4404 (AISI 316L)
004A | Seal housing disc screw EN 1.4301(AISI 304) 80250 d=29 mm
006 | Shaft EN 1.4462 (duplex steel) per 30-37 kW | 042 | Foot Galvanised Steel
007 | Impeller EN 1.4407 (AISI316) 066 | Support cover Cast iron EN-GJL-200-EN 1561
067 | Support cover Cast iron EN-GJL-200-EN 1561
011 | Mechanical seal SIC/SIC/FPM 075 [ Washer
076 [Washer EN 1.4404 (AISI 316L)
019 [ Bearing (pump side) 077 | O-Ring FPM
020 | Bearing (motor side) - 078 | O-Ring
024 | Filler cap EN 1.4404 (AISI 316L) 089 | Seeger ring Carbon steel TC 80
025 | Drain plug EN 1.4404 (AISI 316L) 092 | Sealing ring -
Ri 093 | Sealing ring
026 | O-Ring FPM 200 | Screw (pump body) Stainless steel A270 class ISO 3506/1
65250 d=24mm 235 [ Washer EN 1.4307 (AISI 304)
032 | Key 80-200 d=24mm EN 1.4401 (AISI 316) 244 [ Plug [1] EN 1.4307 (AISI 304)
80-250 d=29 mm
[1]= Not for H and E versions
Your Life, our Quality. Worldwide. 109 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
MECHANICAL SEAL standard version MATERIALS TABLE
L Ref. Name Material
Standard H
L L2 T | Fixed part Carbon Carbon
2 | Rotating part Ceramic Ceramic
3 | Gasket NBR FPM
| 4 | Frame + spring EN 1.4401 (AISI 316) EN 1.4401 (AISI 316)
— A
- 403 2 1 3 |
= Jﬁ 3 2
; \
—Poug 1
SPECIAL MECHANICAL SEALS (on request)
Name Material
H version HS version HW version HSW version E version
Fixed Part Carbon SIC Tungsten Carbide Tungsten Carbide Carbon
Rotating Part Ceramic SiC Tungsten Carbide SIiC SIiC
Elastomers FPM FPM FPM FPM EPDM
Spring AISI 316 AISI 316 AISI 316 AISI 316 AISI 316
Structure/Frame AISI 304 AISI 316 AISI 304 AISI 304 AISI 316
110 Commercial

Your Life, our Quality. Worldwide.



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)
ELECTRIC DATA TABLE 2 Poles
Model P Mec | Capacitor | P: [Absorbed Current Model P Mec | Py | Absorbed Current
pF Vc
[HP] | [kw] | Motor [kw] [HP] | [kW] | Motor | [kW]

230V | 400V | 690V 230V | 400V | 690V
3OM32-T25TAM | 1,5 | 1.0 | 90 | 31,5 | 450 | 1,51 6,7 | - - 3005 32-125/11 13(0P32-1251.1 | 1.5 1.1 | 80 | 142 | 43 | 25 | -

3()M32125/11 2 |15 9 - - 2 |59 34 3()S32-160/15 |3()P32-160/15 | 2 | 15| 90 | 1,917 | 59 | 3.4

3(M32-T6015M | 2 | 15| 90 | 40 | 450 | 2,1 | 96 | - 3()S32-160/2.2 |3()P32-16072.2 | 3 | 22 | 90 | 2,69 | 85 | 49

3()M 32-T60/1.5 2 [15] 90 - - 7 |59 34 3()S32-200/3.0 [3()P32-2003.0 | 4 | 3 | 100 | 3,63 | 11,1 | 64
3(M32-16022M | 3 |22 | 90 | 50 | 450 | 2,95 133 - 3()S32-200/4.0 |3()P32-2004.0 | 55 | 4 | 112 | 471 | 144 | 83 | -
3()M 32-160/2.2 31221 9 - - [ 28183 48 3()S32-200/55 |3()P32-20055 | 75 | 55 | 132 | 6,35 | - | 105 6,1
3()M 32-200/3.0 4131 9% - - 375/ 113] 65 3()S32-200/75 |3()P32-200/7.5 | 10 | 75| 132 | 836 | - | 146 | 84
3()M 32-200/4.0 55 4 | 100 | - - [ 51[159792 - 3()540125/ 5 [3()P40-12515 | 2 | 1,5] 90 | 1,91 | 59 | 3.4 | -

3(JM 32-200/5.5 75155 112 | - - |67 - 111,8]68 3()S40-12522 |3()P40-1252.2 | 3 | 22 | 90 | 2,69 | 85 | 49

3()M 32-200/7.5 0 [ 75112 ] - - [ 91 - [157]91 3()S40-160/3.0 [3()P40-16073.0 | 4 | 3 | 100 | 3,63 | 11,1 | 64
3OMA0-125T5M | 2 | 15 | 90 | 40 | 450 | 21 | 96 | - - 3()S40-160/4.0 |3()P40-160/4.0 | 55 | 4 | 112 | 471 | 144 | 83 | -
3(JM 40-125/1.5 2 | 151 9 - - 2 |59 34 3()S 40-200/5.5 | 3()P40-200/55 | 75 | 55 | 132 | 6,35 | - | 10,5 6,1
3()M40125/22M 317221 9 | 50 | 450 | 295|133 - 3()540200/75 3()P40-200/75 | 10 [ 75| 132 | 836 | - | 146 | 84
3(M40-125/2.2 31221 9 - - 28183 438 3()540200/ 3()P40200/1 15 [ 11 | 160 | 1246 | - | 21,7125
3()M 40-160/3.0 4 173179 - - [375[M3765] - 3()S50-125/2.2 |3(0P50-1252.2 | 3 | 2.2 | 90 | 269 | 85 | 49 | -

3(M 40-160/4.0 55 4 100 - - [51[1591927] - 3()S50-125/3.0 [3()P50-1253.0 | 4 | 3 | 100 | 3,63 | 11,1 | 64

3()M 40-200/5.5 751551112 | - 67 - [118]68 3()S50-125/4.0 |3()P50-125/4.0 | 55| 4 | 112 | 471 | 144 83
3()M40200/75 0 [75] 112 9,1 15719, 3()S 50-160/5.5 3()P50160/55 75055 132 [ 635 | - |105] 61
3()M 40-200/T1 15 1T [ 132 ] - - [137] - [ 227127 3()S50-160/7.5 |3()P50-16077.5 | 10 | 7,5 | 132 | 836 | - | 146 | 84
3OMB50-12522M | 3 | 22 | 90 | 50 | 450 | 2,95] 133 - - 3()550200/92 3()P50-20009.2 [12,5/ 9.2 | 132 [1055| - | 173 10
3()M50-12572.2 3 122 90 - - 12818348 3()S50-200/11 |3()P50-200/TT | 15 | 11 | 160 | 12,46 - | 21,7 ] 125
3()M 50-125/3.0 4131 9 3,75 11,31 6,5 3()S50-200/15 |3()P50-200/15 | 20 | 15 | 160 | 16,78 | - | 285 | 16,4
3()M50125/40 55 4 | 100 | - - [ 51[159792 - 30)S65-125/4 | 3(P65-1254 | 55 | & | 112 | 471 | 144 | 83 | -
3()M 50-160/5.5 75155 112 | - - [67] - (11868 3()S65-125/55 |3()P65-1255.5 | 75| 55 | 132 | 6,35 | - | 10,5 6,1
3(JM 50-160/7.5 10 75112 ] - A 15,7191 3()565125/75 3(P65-12575 | 10 [ 75| 132 | 836 | - | 146 | 84
3()M50200/92 125192 ] 132 11 1881108 3()S65-160/7.5 |3()P65-160/75 | 10 | 7,5 | 132 | 836 | - | 14,6 | 84
3()M 50-200/11 B 132] - - 1131 22 1127 3()565160/92 3()P65-160/9.2 125/ 92 | 132 | 1055| - | 173 10
3()M 50-200/15 20 | 15 | 160 | - - [175] - 130 [173 3()S 65-160/11 3()P65160/1 15 11 | 160 | 12,46| - | 21,7125
3()M65125/4 55 4 | 100 | - - [ 51159 92 | - 3()S65-160/15 |3()P65-160715 | 20 | 15 | 160 | 16,78 | - | 28,5 | 16,4
3()M 65-125/5.5 75155 112 | - - 67| - 11868 3()S 65-200/15 3()P65200/15 20 15 | 160 [ 16,78 - | 285 | 164
3()M65-125/7.5 10 [ 75 112 | - =79, 15,71 9,1 3()S 65-200/18.5| 3()P 65-200/18 5| 25 [185| 160 | 20,56 | - | 34,1 19,7
3()M 65-160/7.5 0 |75 112 | - - 191 15,71 9,1 3()S65-20022 |3()P65-20022 | 30 | 22 | 180 | 245 | - | 42,5 | 24,5
3()M 65-160/9.2 125092 [ 132 11 18,8108 3LS65-250/30 | 3LP65-250/30 | 40 | 30 | 200 |32,88| - | 54,6 | 31,5
3()M65160/11 5 [ 11 [ 132 13,1 22 | 12,7 3[S65-250/37 | 3LP65-250/37 | 50 | 37 | 200 | 4045| - | 66,7 | 385
3()M 65-160/15 20 | 15 | 160 | - - [175 30 | 17,3 3[S80-160/11 | 3LP80-160711 | 15 | 11 | 160 | 1246 | - | 21,7 | 12,5
3(M 65-200/15 20 | 15 | 160 | - - 175 30 [ 173 3LS80-160/15R |3LP80-160/15R | 20 | 15 | 160 | 16,78 | - | 28,5 | 16,4
3()M65-200/185 | 25 [185] 160 | - - [213] - 1397225 3[S80-160/T5 | 3LP80-160/15 | 20 | 15 | 160 | 16,78 | - | 28,5 | 164
3()M 65-200/22 30 | 22 [ 160 | - - |25 - 43[4 3[S 80-160/18.5 | 3LP 80-160/185 | 25 | 185| 160 | 20,56 | - | 34,1 19,7
3LM 80-160/11 5 11 | 132 | - = 131 - | 22 12,7 3[580-200/22 |3LP80-200122 | 30 | 22 | 180 | 245 | - | 42,5245
3LM 80-160/13 75013 [ 132 | - - - |25 (144 3[S80-200/30 | 3LP80-200/30 | 40 | 30 | 200 |32,88| - | 54,6 | 31,5
3[M 80-160/15 20 | 15 | 160 | - - [175] - 30 [173 3[S80-200/37 |3LP80-200/37 | 50 | 37 | 200 | 4045| - | 667 | 37,1
3[M 80-160/18.5 25 185 160 | - - 213 39 225 3[S80-250/37 |3LP80-250/37 | 50 | 37 | 200 | 4045| - | 66,7 | 37,1
3LS80-250/45 | 3LP 80-250/45 | 60 | 45 | 225 | 4886 | - | 79,8 | 46,1
3[S80-250/55 | 3LP80-250/55 | 75 | 55 | 250 | 59,3 | - | 994 | 57,4

Your Life, our Quality. Worldwide. 111 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

3 SERIES PERFORMANCE RANGE at 1450 min- (according to ISO 9906 Attachment A) 4 Poles
U.S.g.p.m. 30 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600
l l l l l I N B L1111 l [ l |
I I [ I | I T 1T 11 | I I T 1 | | [ |
Imp.g.p.m. 20 30 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500
H 80-250/75 8 5 H
[m] 20 5‘5‘\250/5‘5, [ft]
32-200/0.75 1 L o ‘
15 e ~L0/15 T 02074 - 50
N ™ 50\200
N <H_r %,
32-200/0.55 ~ 0. 200, S0~ 200/\ | f‘ 40
- T | TR 5 5
0 32-200/0 555 | [ TN fl 0., R
3 ~ N/ e [T TR 30
9 ~160/0.37 q AN 3 ] | H{
8 W NN 7_~~ o ‘ NS 50\/50 . L o5
7 32\760/ 0. 7R R 57‘\\\/6‘0 05 ) /Z, \
d N 2
6 [T )T ro‘ " J ..lh‘\‘,&o//, A 20
[ 32125 N ™ N N N ¥
5 ~~~~@‘25 A / ‘\2‘/ 2 dﬂ ™ "0\/ ‘
5\\\ ( J) N‘ e%‘ ‘} ' 15
h ™ IR ‘%\‘\
4 LN S
N %)
WMl Ny
N &
3 \\)4" h 10
? \/
\
2
1 / /

1
50 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500
Q [I/min]
T T I |

I I T T T 1 I I I I | I
3 4 5 6 7 8 910 12 14 161820 25 30 40 50 60 70 100 150
Q [m /h]

=
W)
W)
O
E=

3LM4 3

B
w)
S

Versions 3
32-125
32-160
32-200
40-125
40-160
40-200
50-125

Pump 50-160

50-200

65-125

65-160

65-200

65-250

80-160 - -

80-200 - - -

80-250 - - -

v = Models also available in the H and HS version for 32, 40, 50, 65-125/160/200
* = Models also available in the H and E version for 65-250, 80

<<

IESESEN ERENEN ERENEN BN =~
ISR ESN ESE R ENESEN S N Y
IR SENEN ENENEN ENENEN ENENEN

olejefe <]l <]<]
ololofe| 2]
DRI CIENEIEY PI IR PRI PPN ==

Your Life, our Quality. Worldwide. 112 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
32-40-50 PERFORMANCE TABLE 4 Poles
P, Q=Flow rate
Model I/min 50| 100 150 175 200 250 300 350 400 500 600 650
[HP] [kw] |[m¥h 3 6 9 10,5 12 15 18 21 24 30 36 39
H=Head [m]
32-125/0.25 0,33 0,25 551 47 3,5 2,8 - -
32-160/0.37R 0,5 0,37 700 62 50 4
32-160/0.37 0,5 0,37 87 81 7,0 6,3
32-200/0.55R 0,75 0,55 10,3 9,2 73 6,2
32-200/0.55 0,75 0,55 1201 11,0 9,2 8,0
32-200/0.75 1 0,75 1717 16,1 14,3 13,2 - - -
40-125/0.37R 0,5 0,37 -1 48 4,5 43 4,0 3,4 2,6 1.8
40-125/0.37 0,5 0,37 6,3 6,0 58 5,5 49 472 3,4
40-160/0.55R 0,75 0,55 7.3 6,9 6,6 6,3 5,7 5,0 43
40-160/0.55 0,75 0,55 8,6 8,1 7.8 75 6,9 6,2 54
40-200/1.1R 1,5 1.1 11,2 10,8 10,5 10,1 9,4 8,6 7.8
40-200/1.1 1,5 1,1 13,2 12,7 12,4 12,1 11,4 10,6 9,6
40-200/1.5 2 15 17,7 7.3 17,1 16,8 16,1 15,2 14,2 - -
50-125/0.55R 0,75 0,55 - 5,2 5,0 47 44 40 3,2 2,3
50-125/0.55 0,75 0,55 6,2 6, 5,7 5,4 5,0 42 3,3 -
50-160/1.1R 15 1.1 78 7,6 7,2 6,9 6,4 55 4,5 4,0
50-160/1.1 1,5 1,1 9,1 8,9 8,6 8,3 79 7,0 6,0 5,5
50-200/1.5R 2 15 12,1 11,8 11,4 11,0 10,5 9,3 8,0 7,2
50-200/1.5 2 15 13,3 13,0 12,7 12,2 11,8 10,6 9,2 8,4
50-200/2.2 3 2,2 17,5 17,3 17,0 16,6 16,2 15,1 13,8 13,1
65-80 PERFORMANCE TABLE 4 Poles
P, Q=Flow rate
Model I/min300] 350 | 500 | 600 | 800 | 950 | 1000 | 1050 | 1100 | 1200 | 1300 | 1400 | 1600 | 1800 | 2000 | 2200
[HP] | [kW] |m*h 18] 21 30 36 48 57 60 63 66 72 78 84 9% 108 120 132
H=Head [m]
65-125/0.55 0,75 | 0,55 48| 4,6 4,0 35 2,3 1.4 - - -
65-125/0.75 1 0,75 60| 58 5,2 46 3,5 2,5 2,2 -
65-125/1.1 1,5 1,1 721 70 6,3 57 45 3,5 3,2 2,8
65-160/1.1 1,5 1,1 -1 81 74 6,9 5.7 4,6 4,2 3,8 -
65-160/1.5 2 1,5 -[92 8,5 8,0 6,7 5,7 53 49 45 -
65-160/2.2 3 2,2 -3 10,6 10,1 8,8 76 7,2 6,8 6,4 55
65-200/2.2R 3 2,2 -[ 124 7116 1109 | 93 7.8 7.3 6,3 - -
65-200/2.2 3 2,2 139 | 130 | 124 | 108 | 93 8,3 8,3 78 -
65-200/3 4 3 15,8 15,1 14,4 12,9 11,6 11,1 10,6 10,1 9,0 -
65-250/4 55 4 - 18,1 17,6 16,1 14,7 14,2 13,7 13,0 11,6 9,8 -
65-250/5.5 75 55 21,2 20,8 19,6 18,4 17,9 17,5 17,0 15,8 14,4 12,8 - -
80-160/1.5 2 1,5 - 6,3 6,3 59 5,7 5,6 5,4 5,0 46 4 3,4 2,4 -
80-160/2.2R 3 2,2 8,1 7.8 7,4 7.3 7.1 7,0 6,7 6,4 6,0 52 ) 3,0
80-160/2.2 3 2,2 9,1 8,8 8,4 8,3 8,2 8,0 78 7,4 7,1 6,2 52 41
80-200/3 4 3 120 | 1151109 [ 107 [ 104 | 102 | 97 9,2 8,6 7.3 5,9 472 -
80-200/4R 55 4 14,4 13,9 13,4 13,2 12,9 12,7 12,2 11,7 11,2 10,1 8,8 72 5,6
80-200/4 55 4 15,4 14,9 14,3 14,1 13,9 13,7 13,2 12,8 12,3 11,1 9,9 8,4 6,7
80-250/5.5R 7,5 5,5 177 1 170 ] 163 | 160 | 157 | 154 [ 146 | 138 | 129 | 107 | 84 - -
80-250/5.5 7,5 5,5 205 [ 199 [ 191 | 189 | 186 | 182 | 176 | 168 | 159 | 138 | 11,7 | 93 -
80-250/7.5 10 7,5 240 | 234 [ 228 | 225 | 222 | 219 | 213 | 206 | 198 | 180 | 159 | 135 | 10,8

Your Life, our Quality. Worldwide. 113 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)M-3(L)S-3(L)P 32 PERFORMANCE CURVES at 1450 min (according to ISO 9906 Attachment A) 4 Poles
0 US.gpm. 10 15 20 25 30 35 40 45 50
| | | | | | | | | | |
| I I I I [ I I I
. 0 Imp.gp.m. 10 15 20 25 30 35 40
- 60
H I A R , H
. 0
[m] —~—_Y00.75 [ft]
— ——
5 — — 50
\\
\\'
[ p 40
—— /055
S e I —
A 0.55p \\ -
N O N ;SO/F‘]\\:\\ )
— 0.
— \'7\@ ~ - 20
I I . — 25/0‘25 ——
T—
— 10
0 0
0 50 100 150 Q [1/min]
[ I I I I I I I I I I I ]
0 1 2 3 4 5 6 7 8 9 10 11 Q[m3/h]
0.8 —
kW] 200/0.75 —— 1200,/0.557]
| | | \ \
04 200/0.55R —_|—— 160,/0.37
0.2 160,/0.37R —
] 125/0.25
0 L L
0 50 100 150 Q [1/min]
70 |
" NPSH
(% & 125/0.25 — ——=  {[m] [ft]
| | I // 9
50 160,/0.37 e 4
o 12
160,/0.37R = =
40 | | | == — 200—= 310
— _—=T125
200,/0.55R = — — -8
30 ‘200/‘0.55‘ NPSH :/// 160+ 2 ¢
[ [ [
20 200/0.75 1—‘;
. T
0 50 100 150 Q [1/min]

Your Life, our Quality. Worldwide. 114 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)M-3(L)S-3(L)P 40 PERFORMANCE CURVES at 1450 min™ (according to ISO 9906 Attachment A) 4 Poles
0 USgpm. 20 30 40 50 60 70 80 90 100
| | | | | | | | | | |
l I I I I | I I
. 0 Imp.g.p.m. 20 30 40 50 60 80
_ — 60
] 20/15 .
e~
15 T~ - 50
\\'
—F — 2
\\ﬂ./i‘ L 40
== 200y T
10 — T~
B = —— T - - 30
e - : 160/0.5 —
T 1
I R R S I 60,/0.55p ~——
125 05— ——— — 20
5 | ] | ‘ ‘\\ ~
\725/0 37R T~
T—— \\' 10
S —
0 0
0 100 200 300 Q [I/min]
[ I I I I I I I I I I I ]
0 2 4 6 8 10 12 14 16 18 20 22 Q[m¥h]
P, 200/1.5 T 200/1.17]
] | T —]
0.7 ‘200(1.1R‘ — /160/0.55:
160,/0.55R —__| — 125/0.37 |
o 125/0.37R |
0 100 200 300 Q [I/min]
80 T |
n 125/0.37
(%] 70 AN o
160/0.55R %f;/ == = "
60 A ,/6// N 6 ——20
= N
160/0.55 === 125/0.37R 5 .,
50 | %/A | 4
200/1.1R Y SZ |
200/1.1 —¥ 160 T
40 o NPSH = 2 15
200/1.5 200 1
10 \ \
0 100 200 300 Q [I/min]
Your Life, our Quality. Worldwide. 115 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)M-3(L)S-3(L)P 50 PERFORMANCE CURVES at 1450 min™ (according to ISO 9906 Attachment A) 4 Poles
0 US.g.p.m. 40 60 80 100 120 140 160 180 200
| | | | | | | | | | |
I I I I I [ I I I
0 0 Imp.g.p.m. 40 60 80 100 120 140 160
— 60
H T T H
[m] ~—200/2 5 [1t]
15 T~ - 90
T T T ~
—— =] —
= —— 5\\300/ 75 — 40
—T~~200 ~
10 LSRN
—— L \ NN ‘\\\ L
HEEE ~~~\§ 760/7 1 NN \‘I
~~§~\ 76]?‘\\\ N
SEERNEENE 0 T
i - :~~ 7725 0.55 | T T~~_ ~
\\\\ \\\'
~] 10
0 0
0 100 200 300 400 500 600 700 Q [1/min]
[ I I I I I I I I I
0 5 10 15 20 25 30 35 40 45 Q [m3/h]
2 T —+200/2.2
[ki] .6 200/1.5R — N
0gl_ | 160/11R " T200/1.5
125/0.55R ~ ‘ ~160/1.11
. L] —T—125/0.55
| |
0 100 200 300 400 500 600 700 Q [I/min]
o | ) [T
-200/1.57 ] NPSH
— ]
LA, é—- T ey e i i [m] [ft]
7 L —T N N N 18
A A T =1 Meo/11R | 518
125/0.55— | WA AT | L AN P -
60 T 7 125/0.55R /460 s I
200/1.R ===~ 200 3410
NERP=a % —— | |125 8
50 160/1.19 A 26
Ll 14
200/2.2 L)
40 .
0 100 200 300 400 500 600 700 Q [I/min]

Your Life, our Quality. Worldwide. 116 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3(L)M-3(L)S-3(L)P 65 PERFORMANCE CURVES at 1450 min (according to ISO 9906 Attachment A) 4 Poles
0 USgpm. 50 100 150 200 250 300 350
| | | | | | | |
| I I I I I I
, 0 Imp.gpm. 50 100 150 200 250 300
ﬂl\\‘
H SN ~35 H
[] ~ % [1t]
I s e %2,
T \\\ - 30
T TS
1 TN 94 —
- \ ‘5 25
~ \\‘ 7s ~ \\\
——— \\ 0// 7 NN \\ %
~
SN \
ST TS T T \\\\\\
2T NN —15
~ .
4 T~ \7§‘\/)\\\\ \\\|
~N | 0 N\
AR -
o) N
035 ~N
\ 5
0 0
0 200 400 600 800 1000 1200 Q [I/min]
[ I I I I I I I I
0 10 20 30 40 50 60 70 Q [m3/h]
1.8 —
P2, —— — 160/2.2
[kw] T . 160/1.5
1.0 —~————T 160/1.1
L [I— !
06 125/11 L = 125/0.75
0 — 125/0.55 ]
. I
0 200 400 600 800 1000 1200 Q [I/min]
? .
n | —
(] 160/1.1
70 ~—a — /15
\ T~ AR
125/0.75 PN :\Q 160/2.2 —
125,/0.55 LN N125/14 [m] [#]
50 | 4
160__~1160—{ 310
NPSH 125 ] = )
125 s
30 |
0 200 400 600 800 1000 1200 Q [I/min]
Your Life, our Quality. Worldwide. 117 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3L 65 PERFORMANCE CURVES at 1450 min' (according to ISO 9906 Attachment A) 4 Poles
0 USgpm. 100 150 200 250 300 350 400
| | | | | | | | |
| I I I I | I I
, 0 mp.gpm. 50 100 150 200 250 300 350
H RREE T ~—— ~70 H
[m] 2505 5 [1t]
s e e = T\'\\\\ - 60
e 250 )/ N
I 4 N
" . 1 \\‘ 0 \‘\ 5
I S - T~ 20 \\\ \\
~_ ~ 0/5 0 \\ \\
I S ~_ N
i 20 0,5 NG — 40
KSR i
N N ™~ 30
. \\\\\
N
- 20
—10
0 0
0 200 400 600 800 1000 1200 1400 Q [I/min]
[ I I I I I I I I I
0 10 20 30 40 50 60 70 80 90 Q [m3/h]
. > 1 250/55_]
2 T |
R — —17250/4.0
//, ’,/—— |
3 — 1 —17200/3.0
2 —_ —— T 200/2.2
B === 200/2.R -
1 = L
0 200 400 600 800 1000 1200 1400 Q [I/min]
90
n
(7] L 200/3.0
70 ~T | —— Y
/ = ~ ] —_75(/55
= ~ N
200/2.2R ]\ NPSH
‘200/ 2.2 ™ 950/4.0|m] [#]
>0 200 _—A TS5 T4,
NPSH T ~ | —1250 | | 5
——— 5
1
30
0 200 400 600 800 1000 1200 1400 Q [I/min]
Your Life, our Quality. Worldwide. 118 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3L 80 PERFORMANCE CURVES at 1450 min' (according to ISO 9906 Attachment A) 4 Poles
0 US.gpm. 100 200 300 400 500 600
| | | | | | |
| 1 1 |
. 0 Imp.gp.m. 200 300 400 500
H i 0y
L \\
[m] ——1 ~ 7 (]
8 5%
\79\ - 25
T T —|— /6‘
= 0
~ N AN
6 N\ - 20
AN N\
N6 N
0 NN\
9 NN\
\\ N, N\ —15
4 \\ \\
N N\
\\ —10
AN
2
5
0 0
0 500 1000 1500 2000 Q [I/min]
| | | | | 1 1 T
0 20 40 60 80 100 120 140 Q [m3/h]
2.4 T T T
P2 44 — 1 60;/2'2;
(kW] T 160,/2.2R
1.6 e —
—
1.2 —r— 1(?0 /1.5
0.8 |
0 500 1000 1500 2000 Q [I/min]
90
n
[%] / 4/ \i\‘\\
NN N
70 ~
B Ny \\\\160/2.2
\\ N NPSH
160/1.5 160,/2.2R—{(™] L]
50 4 4 —
NPSH /_f:/:_-—— 3—10
1_
30
0 500 1000 1500 2000 Q [I/min]
Your Life, our Quality. Worldwide. 119 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3L 80 PERFORMANCE CURVES at 1450 min' (according to ISO 9906 Attachment A) 4 Poles
0 USgpm. 100 200 300 400 500 600
| | | | | | |
| I I I I |
0 Imp.g.p.m. 100 200 300 400 500
S e s e,y R I - 80
T
2
A 225 7o
20 T~ \\
\\ S
T T T — \\25 —
~3s "
NG
oo N B s . N \25%‘ N J 5
i e e Y e N ‘\;5/9 { N
NN N
Iy g I \\\\k N — 40
0 T~2003 0 NN N
I~ N - 30
N \\
\\ \:\
™\ 2 L
\\I 0% — 20
S < %5} "0_
05
A 1o
0 0
0 500 1000 1500 2000 Q [I/min]
[ I I I I I I I
0 20 40 60 80 100 120 140 Q [m3/h]
8
0, — — 250/7.5]
T —— — 250/5.5F
\ T — 250/5.5R 200/4.0 ]
————— 200/4.0R |
2 200/3.0
0 ||
0 500 1000 1500 2000 Q [I/min]
90 ]
1 | 250/7.5 |
(%] =~ || 200/4.0R
. = —— o~ |
250/5.5 KSR/ 40
‘ SN \\\\ NPSH
200/3 0 \\ \ \\‘ [m] [ft]
50 250/5.5R —2001 4
NPSH —— E)ﬂ 310
= 250,
‘ ‘ ‘ ‘ 250 1
30 ‘
0 500 1000 1500 2000 Q [I/min]

Your Life, our Quality. Worldwide. 120 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3(L)M4 32, 40, 50, 65 - up to 65-200 4 Poles

@

=

/-918

™~
|

A=Y

co

N ﬂT

H3

O
=z

Fig. 2 ‘ ‘ %

25 W
M

DIMENSIONS TABLE

Dimensions [mm] )

Model 0| 0|0|0 z 0| 0| 0|0 V[Vlilg'i‘
DN1| P1 | K1 |D1|S1|[1]]|[2] |DN2| P2 | K2 | D2 |S2 |Fig.| H |H1 |H2 |H3| R |W | M N1 |N2| A | B C V2 9

32-125/0.25 50 [ 95 [125[165] 16 | 4 | - [ 32 75]100[140] 14 | 1 [252[112]1401102| 80 | 70 [11411401190|213[371] 205 | PG 11 |15,0
32-160/0.37R 50 | 95 | 125]165] 16| 4 32751100140 14| 1 |2921132|160]119| 80 | 70 [118]190|240|254[395| 219 PG 11 120,0
32-160/0.37 50 | 95 | 125]165] 16| 4 321751100140 14| 1 [292]132|160]119| 80 | 70 [118]190|240|254[395| 219 PG 11 [20,0
32-200/0.55R | 50 | 95 [ 125|165 16 | 4 32| 75100140 14| 1 |340[160|180|119] 80 | 70 [ 119]190|240[296|395| 219 | PG 11 [24,5
32-200/0.55 50 | 95 [125]165] 16 | 4 32| 75 100 140] 14| 1 |340[160|180|119] 80 | 70 [ 119]190|240[296|395| 219 | PG 11 [24,5
32-200/0.75 50 | 95 [125[165] 16 | 4 32|75 100140 14| 1 [340[160| 180|124 | 80 | 70 | 119|190 | 240 | 296 | 408 |219+230| PG 13,5|28,0
40-125/0.37R 65 [ 115]145]185] 16 | 4 40 | 80 | 110150 14 | 1 252112 ]140]102] 80 | 70 [1141160|210|213|371| 205 PG 11 |15,5
40-125/0.37 65 [115]145]185] 16 | 4 40 | 80 | 110150 14 | 1 [252[112]140]102] 80 | 70 [1141160]210|213|371] 205 PG 11 |15,5
40-160/0.55R 65 [ 115]145]185] 16 | 4 40 | 80 | 110150 14 | 1 [292]132]160|119] 80 | 70 [ 118 190|240 |254|395| 219 PG 11 (20,5
40-160/0.55 65 [115]145]185] 16 | 4 40180 | 110150 14 | 1 12921132/160119] 80 | 70 | 118190240254 |395| 219 PG 11 [20,5
40-200/1.1R 65 | 115]145[185] 16 | 4 40 180 [110]150| 14 | 2 [340[160|180| 1241100 | 70 | 115|212 |265|296 | 428 |219+230| PG 13,5|28,5
40-200/1.1 65 | 115[145[185] 16 | 4 40 1 80 [110|150| 14 | 2 [340[160|180| 1241100 | 70 | 115|212 |265|296 | 428 |219+230| PG 13,5|28,5
40-200/1.5 65 | 115[145[185| 16 | 4 40 180 [110|150| 14 | 2 [340[160|180| 124|100 | 70 | 115|212 |265|296 | 428 |219+230| PG 13,5|30,5
50-125/0.55R 65 [115]145]185] 16 | 4 50 | 95 [125]165] 16 | 2 [292]132[160|119]100| 70 | 1141190 240|254 [415| 219 PG 11 [20,5
50-125/0.55 65 [115]145]185] 16 | 4 50 | 95 [125]165] 16 | 2 2921132160 [119]100] 70 | 1141190240254 |415] 219 PG 11 (20,5
50-160/1.1R 65 | 115]145[185| 16 | 4 50 | 95 [125[165] 16 | 2 [340|160| 180|124 100 | 70 | 115|212 265|296 | 428 |219+230|PG 13,5 (28,5
50-160/1.1 65 | 115[145[185] 16 | 4 50 | 95 [125[165] 16 | 2 [340[160| 180|124 100 | 70 | 115|212 265|296 | 428 |219+230| PG 13,5 25,5
50-200/1.5R 65 | 115[145[185| 16 | 4 50 | 95 [125[165] 16 | 2 [360| 160|200 124|100 | 70 | 115|212 |265|296 | 428 |219+230|PG 13,5 (30,5
50-200/1.5 65 [115]145]185] 16 | 4 50 [ 95 [125]165] 16 | 2 [360]160[200[ 124100 70 [ 115]212]265]296 | 428 [219+230|PG 13,5[31,5
50-200/2.2 65 | 115[145[185| 16 | 4 | - [ 50 | 95 [ 125[165| 16 | 2 |360| 160|200 141|100 | 70 [ 115|212 265|296 |474| 253 | PG 16 [36,0
65-125/0.55 80 [ 134160200 18 | 8 | 4 | 65 |115/145[185] 16 | 2 |340 /160180119100 | 95 | 140|212 280|254 |415| 219 PG 11 18,5
65-125/0.75 80 [ 1341160200 | 18 | 8 | 4 | 65 |115|145[185] 16 | 2 |340[160|180| 124|100 95 | 140|212 |280 | 254 | 428 |219+230| PG 13,5]20,0
65-125/1.1 80 [134[160200| 18 | 8 | 4 | 65 |115|145[185] 16 | 2 |340160|180| 124|100 95 | 140|212 |280 | 254 | 428 |219+230| PG 13,5[20,0
65-160/1.1 80 [134[160]200| 18 | 8 | 4 | 65 |115|145[185] 16 | 2 |360|160]200| 124|100 95 | 140|212 280|296 | 428|219+230| PG 13,5(28,5
65-160/1.5 80 [ 134160200 18 ] 8 | 4 | 65 |115]145[185] 16 | 2 |360|160 200124100 | 95 | 140212280296 |428 |219+230[ PG 13,5[30,0
65-160/2.2 80 [1341160]200| 18 | 8 | 4 | 65 |115|145[185] 16 | 2 |360|160]200| 141|100 95 [140|212|280|296 |474| 253 | PG 16 [37,0
65-200/2.2R 80 [134[160[200| 18 | 8 | 4 | 65 |115|145[185] 16 | 2 |405[180|225| 141|100 95 |140|250|320(296|474| 253 | PG 16 |34,5
65-200/2.2 80 [1341160200| 18 | 8 | 4 | 65 |115|145[185] 16 | 2 |405]180]225| 141|100 95 [140|250|320(296|474| 253 | PG 16 |35,0
65-200/3 80 [134[160200| 18 | 8 | 4 | 65 |115|145[185] 16 | 2 |405]180]225| 141|100 95 [ 140|250|320(296|474| 253 | PG 16 [40,0

[1] Standard
[2] On request

Your Life, our Quality. Worldwide. 121 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3LM4 65-250, 80 4 Poles

3G

D1

4-¢D3 H ‘ 80 ‘ ‘ M1

Fig. 2

DIMENSIONS TABLE

Model Dimensions [mm] Weight
DN1/ P1|K1|D1|S1| DN2 |P2|D2|S2| H |H1|H2|H3|H4| R |W |N1|N2|M |[M1|A1|A2| B C G | D3 V1 V2 [kq]
65-250/4 80 [135]160]200] 22 |65 Fig. 1[120]185] 20 [450[200]250[150] 15 ]100]120]280]360]160] 80 |175[182[515] 295 [220[ 19| PG13,5] PG16 [82,0
65-250/5.5 80 [135]160(200] 22 |65 Fig. 1]1120[185] 20 [450]200/250]178] 15 1100/120(280|360/160| 80 [175/182][611] 376 [259] 19 | PG13,5| PG21 |94,5

80-160/1.5 | 100]155]180]225] 24 |80 Fig. 2135|200 22 |405]180]225]124] 13 |125] 95 [250|320]125] 65 |147]173]453]219+230[176] 15 PG13,5 53,0
80-160/2.2R | 100]155]180(225] 24 |80 Fig. 2| 135|200| 22 |405|180]225[141[ 13 [125] 95 |250|320|125| 65 [147[173]499] 253 [193] 15 - PG16 | 56,0
80-160/2.2 | 100]155[180(225] 24 |80 Fig. 2| 135|200| 22 |405|180]225[141[ 13 [125] 95 [250{320|125| 65 [147[173]499] 253 [193] 15 - PGT6 |59,0

PG16 [73,0

80-200/4R | 100]155]180]225] 24 |80 Fig. 2[135]200]| 22 [430]180[250(150] 13 |125[ 95 |280(345[125] 65 [175[182]540] 295 |220| 15 | PG13,5| PG16 |81,0
80-200/4 100]155[1801225]| 24 [80 Fig. 2 135[200] 22 [430]180|250|150] 13 [125] 95 |280|345|125| 65 [175|182|540] 295 |220| 15| PG13,5| PGI6 | 81,0
80-250/5.5R | 100]155[180(225] 24 |80 Fig. 2|135|200| 22 |480|200(280|178] 15 [125]120|315]400|160| 80 |175]192/636] 376 [259]| 19 | PG13,5 [ PG21 [95,0
80-250/5.5 | 100]155[180(225] 24 |80 Fig. 2|135|200| 22 |480|200(280|178] 15 [125]120|315]400[160| 80 |175]192/636] 376 [259] 19 | PG13,5 [ PG21 |95,
80-250/7.5 | 100]155|180]225] 24 |80 Fig. 2|135]200] 22 [480]200|280]178] 15 |125]/120]315]400]160] 80 |175]/192[636] 376 [259] 19 | PG13,5 | PG21 [100,0

1 1
1 1
1 1
1 1
1 1
80-200/3 100[155[180]225] 24 [80 Fig. 2 [135]200| 22 [430] 180|250 141] 13 |125| 95 |280|345|125] 65 [175|182|521| 275 193] 15
1 1
1 1
1 1
1 1
1 1

Your Life, our Quality. Worldwide. 122 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)S4 32, 40, 50, 65 - up to 1.5 kW 4 Poles
B
D2
P2
DN2 Vi V2 A
N
2 ‘ /—918
]
| i ® n
. | i o
He || Bl 2 = =
| o] || [l—— /@5/\@
= = = ] Rl - N b =
VA T = =T
) @ B®
ﬂ H g I ] T
= o
Fig. 1 | L_E_4IP - LA
R ! C | 15 ! ! 4-915
W 2—K N1
S M N2
<7
mn
Fig. 2 = IJ "
25 W ‘
M
DIMENSIONS TABLE
Dimensions [mm] et
Model 0| 0|00 Z 0| 0|00 [fa]
DN1| P1 | K1|D1|S1|[1]][2] [DN2| P2 |K2|D2|S2 |Fig.| H |H1 |H2/H3| R /W | M N1/N2/A|B | C|[X|Y] K Al V2
32-125/0.25 [ 50 | 95 [125[165| 16 | 4 | - [ 32| 75[100[140] 14| 1 [252|112]140]112] 80 | 70 |114]140]190/213]403]153|112|140| 8 |M20x1,5/M16x1,5]15,5
32-160/0.37R] 50 | 95 [125]165| 16 | 4 32| 7511001140] 14 | 1 1292(132]160]112| 80 | 70 [118]190/240]254[403|153[112]140] 8 |M20x1,5|M16x1,5/18,5
32-160/0.37 | 50 | 95 [125]165| 16 | 4 32175 1100(140] 14| 1 1292[132[160/112| 80 | 70 [118]190|240(254]403]153]112|140] 8 |M20x1,5|M16x1,5/18,5
32-200/0.55R[ 50 | 95 [125[165]| 16 | 4 32 [ 75[100[140] 14 | 1 [340[160]180[129] 80 | 70 [119]190|240(296|430]174|140]168| 10 |M25x1,5|M20x1,5]28,0
32-200/0.55 [ 50 | 95 [125[165]| 16 | 4 32 [ 75(100[140] 14 | 1 [340[160]180[129] 80 | 70 [119]190|240]296|430]174|140]168| 10 |M25x1,5|M20x1,5]28,0
32-200/0.75 | 50 | 95 [125]165| 16 | 4 32| 7511001140] 14 | 1 |340(160]180[129| 80 | 70 [119]190/240]296(430|174]140|168| 10 |M25x1,5|M20x1,5(29,5
40-125/0.37R| 65 |115[145[185] 16 | 4 40 | 80 | 110(150) 14| 1 1252[112|140]112]1 80 | 70 |[114]160(2101213[403]153|112|140| 8 |[M20x1,5/M16x1,5(16,0
40-125/0.37 | 65 [115]145[185] 16 | 4 40 | 80 [110[150) 14| 1 [252[112|140]112] 80 | 70 |[114]160(210|213[403|153|112|140] 8 [M20x1,5/M16x1,5/16,0
40-160/0.55R| 65 [115]145[185] 16 | 4 40 | 80 [110[150) 14| 1 1292[132|160]129] 80 | 70 |118]190(240|254|430|174|140|168| 10 |[M25x1,5|M20x1,5|23,5
40-160/0.55 | 65 [115]145[185] 16 | 4 40 | 80 [110[150) 14| 1 1292[132|160]129] 80 | 70 |118]190(240|254(430|174]140|168| 10 [M25x1,5|M20x1,5(23,5
40-200/1.1R | 65 [115]145/185| 16 | 4 40 [ 80 [110]/150] 14 | 2 [340[160[180[138]100] 70 |115]212]265]296|497|186|140|168| 10 |M25x1,5|M20x1,5|34,5
40-200/1.1 65 [115]145/185] 16 | 4 40 | 80 [110[150) 14| 2 [340[160)180]138]100| 70 |115]212(265|296(497|186|140|168| 10 |[M25x1,5|M20x1,5(34,5
40-200/1.5 |65 [115]145[185] 16 | 4 40 | 80 [110]150| 14 | 2 [340[160/180[138[100| 70 [115/212(265[296(497]186|140]168| 10 |M25x1,5|M20x1,5/35,5
50-125/0.55R| 65 [115]145|185] 16 | 4 50195 |125/165] 16| 2 |292|132]160{129[100| 70 [114]190|240|254|450(174]140]168] 10 |M25x1,5|M20x1,5|23,5
50-125/0.55 | 65 |115]145]185] 16 | 4 50 | 95 [125]165] 16 | 2 [292[132]160(129]100| 70 [114]190]240|254|450|174]140]168] 10 [M25x1,5|M20x1,5(23,5
50-160/1.1R | 65 |[115[145[185] 16 | 4 50 | 95 [125]165] 16| 2 |340]160]180|138|100| 70 |115]212|265|296|497|186|140]168| 10 |M25x1,5|M20x1,5|34,0
50-160/1.1 | 65 [115[145]185] 16 | 4 50 | 95 [125]165] 16 | 2 |340]160]180|138|100| 70 |115]212|265|296|497|186|140|168| 10 |M25x1,5|M20x1,5|34,0
50-200/1.5R | 65 |115]145]185] 16 | 4 50 | 95 [125]165] 16 | 2 [360[160(200(138|100| 70 [115]212]265|296|497|186|140]168] 10 [M25x1,5|M20x1,5(37,0
50-200/1.5 | 65 |115[145]185] 16| 4 | - | 50|95 [125]165] 16 | 2 |360]160]200[138]100] 70 [115]212]265]296[497|186]140]168| 10 [M25x1,5[M20x1,5/37,0
65-125/0.55 | 80 |134[160(200]| 18 | 8 | 4 | 65 |115[145/185| 16 | 2 [340/160|180(129|100| 95 |140(212|280|254[450|174|140|168| 10 |M25x1,5|M20x1,5/21,5
65-125/0.75 | 80 |[134]160(200| 18 | 8 | 4 | 65 [115[145/185] 16 | 2 [340[160[180]129]100] 95 |140|212|280]254|450|174]140|168| 10 |M25x1,5|M20x1,5|23,0
65-125/1.1 | 80 |134]160(200| 18 | 8 | 4 | 65 [115]145[185] 16 | 2 [340[160[180]138]100] 95 |140|212|280]254|497|186|140|168| 10 |M25x1,5|M20x1,5|32,0
65-160/1.1 | 80 |[134]160(200| 18 | 8 | 4 | 65 [115[145[185] 16 | 2 [360]160(200]138]100] 95 |140|212|280]296|497|186|140|168| 10 |M25x1,5|M20x1,5|36,0
65-160/1.5 | 80 |134[1601200] 18 | 8 | 4 | 65 |115[145/185] 16 | 2 |360|160]200(138|100| 95 [140(212|280]296(497|186|140|168| 10 |M25x1,5|M20x1,5/37,0

[1] Standard
[2] On request

Your Life, our Quality. Worldwide. 123 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)S4 50, 65 - 2.2 + 3 kW 4 Poles
]

=
N
Zipall 7

%)

%w% r?\%

i iy v Q
5 | i 52\
100 205 140 225 ‘ ‘ 4-915
25 w N1
u 4—o11 N2
o [= %
185 g‘g
e i
DIMENSIONS TABLE
Dimensions [mm] .
Model | @ | 0 | 0 | © z o | 0| 0|0 Weight
DN1 P1 K1 D1 S1 [1] [2] DN2 P2 K2 D2 H H1 H2 w M N1 N2 9
50-200/2.2 65 115 145 185 16 4 - 50 95 125 165 360 160 200 70 115 212 265 | 43,0
65-160/2.2 80 134 160 200 18 8 4 65 115 145 185 360 160 200 95 140 212 280 | 46,0
65-200/2.2R 80 134 160 200 18 8 4 65 115 145 185 405 180 225 95 140 250 320 | 425
65-200/2.2 80 134 160 200 18 8 4 65 115 145 185 405 180 225 95 140 250 320 | 43,0
65-200/3 80 134 160 200 18 8 4 65 115 145 185 405 180 225 95 140 250 320 | 485

[1] Standard
[2] On request

3LS4 80-160/1,5 4 Poles

M25x1.5

22

M20x1.5

225

? 225
¢ 155
#(180

405

DN100,

2180

180

13

4-415 ! ! 65

Weight
3LS4 80-160/1.5: 60,5 kg

Your Life, our Quality. Worldwide. 124 Commercial



3 - 3L SERIES

| CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3LS4 65-250, 80 - up to 7.5 kw 4 Poles
D2
P2
Vi
v2
o @@
;_u_u_u_u_z= -
] |
4-9D3 H M1 ‘
N1
L Fi NZ
B
L5
% FI—
4-912
H——— = 9
DIMENSIONS TABLE
Model Dimensions [mm] Weight
DN1|P1|K1|D1|S1| DN2 |P2|D2|S2|H |H1/H2|/H3|H4|H5 R |W N1|N2|M M1 L |L1|L2|L5/A1|A2| B | C|F1|G|D3|] V1 V2 | kgl
65-250/4 | 80 |135]1601200] 22 |65 Fig. 1]120]185] 20 [4502001250/161] 15[ 88 [100]12012801360|160] 80 [147]265[290/187|175[182/5801215] 20 [225| 19 | M25x1,5 | M20x1,5 | 86,0
65-250/5.5 | 80 [135[1601200] 22 |65 Fig. 1]120[185] 20 [4502001250/195| 15 | 68 [100]12012801360|160] 80 [157|315[340[228|175|182/6371264| 46 [248] 19 | M32x1,5| M32x1,5]99,5
80-160/2.2R] 100155]180[225] 24 [80 Fig. 2|135200] 22 405[180[225[145[ 13 [ 80 [125] 95 [2501320125| 65 [140[250[275/190[147]173]573]205] 25 |196] 15 | M25x1,5 | M20x1,5 | 69,7
80-160/2.2 | 100[155[180]225| 24 |80 Fig. 2|135]200] 22 [405[180225[145] 13 |80 [125] 95 [250[320]125] 65 [140[250275/190[147]173]573]205] 25 [196] 15 [ M25x1,5 | M20x1,5] 70,0
80-200/3 | 100[155[180]225| 24 |80 Fig. 2|135200] 22 [430[180[250[145] 13 | 80 |125] 95 |280345|125| 65 [140[250275/190[175/182|583]215] 25 [196] 15 | M25x1,5 | M20x1,5] 81,5
80-200/4R | 100]155]180/225] 24 |80 Fig. 2|135]200] 22 1430/1801250/161] 13 | 68 [125] 95 [280|345|125] 65 [157|315[340[228|175|182/605/198| 46 225 15 | M25x1,5 | M20x1,5 | 89,5
80-200/4 | 100]155]1801225] 24 [80 Fig. 2|135[200] 22 1430/1801250/161] 13 | 68 [125] 95 [280|345|125] 65 [157|315[340[228|175|182/605]198| 46 225 15 | M25x1,5 | M20x1,5] 90,0
80-250/5.5R] 100[155[180]1225] 24 |80 Fig. 2|135[200] 22 [48012001280[195| 15 | 68 [125/120[315/400/160[ 80 [157|315[340[228|175|192|662(264] 46 [248] 19 | M32x1,5 [ M32x1,5[104,0
80-250/5.5 | 100[155[180]225| 24 |80 Fig. 2|135]200] 22 [480/2001280[195] 15 | 68 [125]120[315/400/160] 80 [157|315[3401228|175|192|662(264] 46 [248| 19 [ M32x1,5 [ M32x1,5[104,5
80-250/7.5 | 100]155|180[225] 24 [80 Fig. 2|135200] 22 1480[200]280[195| 15 | 68 [125]120[315400/160] 80 |157|315[3401228|175/192|702]264] 46 [248 19| M32x1,5| M32x1,5]109,5

Your Life, our Quality. Worldwide. 125 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3(L)P4 32, 40, 50, 65 - up to 65-200 4 Poles

D2
P2
ON2
R )
o V1 V2
w
J
[
‘ —§
‘
a [a
o m
*%@

L K®®% o

32-125/0.25
32-160/0.37

32-200/0.55/0.75 360 3 4-¢15 L0
40-125/0.37
40-160,/0.55 80 £

b

ficaah

1
1
DN1.

T

o

l
AET\
I
b
B B

i
S

DIMENSIONS TABLE

Dimensions [mm] ]

Model 0|0|0|0 z 0|0 0|0 "["f('gh]‘
DN1| P1 | K1 |D1|S1|[1]][2] |DN2| P2 | K2 |D2|S2| H |H1|H2|H3| R | A | B |B1| E |NT|N2|N3| T V1 V2 9

32-125/0.25 [ 50 [ 95 [125]165] 16| 4 | - [ 32 ] 75[100]140] 14 [302]112]140]112] 80 [213]688|245]550]300340]250]710] M20x1,5 | M16x1,5 (37,0
32-160/0.37R | 50 | 95 [125|165] 16 | 4 32 |75 100|140 14 |342]132|160| 112 80 | 254 688245510350 [390 300|670 M20x1,5 | M16x1,5 [41,0
32-160/037 |50 | 95 [125|165] 16 | 4 32| 75 100|140 14 |342]132|160| 112 80 | 254 688|245 [510350[390 300|670 M20x1,5 | M16x1,5 [41,0
32-200/0.55R [ 50 [ 95 [125]165| 16 | 4 32| 751100|140] 14 1390|160|180[129] 80 [296|715]272]510]350{390|300|670| M25x1,5 | M20x1,5 [53,5
32-200/0.55 | 50 | 95 [125|165] 16 | 4 32175 [100[140| 14 [390[160|180[129| 80 |296|715|272|510(350 (390|300 |670 | M25x1,5 | M20x1,5 |53,5
32-200/0.75 | 50 | 95 [ 125|165] 16 | 4 32175 [100[140| 14 [390[160|180[129| 80 |296|715|272 /510|350 (390|300 |670 | M25x1,5 | M20x1,5 |54,5
40-125/0.37R | 65 | 115]145|185| 16 | 4 40 180 [110[1501] 14 [302[112]140[112] 80 [213]688|245]550[300(340[250(710] M20x1,5 | M16x1,5 [46,5
40-125/037 | 65 |115/145|185| 16 | 4 40 | 80 [ 110150 14 [302 112140112 80 |213]688|245]550(300(340(250|710| M20x1,5 | M16x1,5 [46,5
40-160/0.55R | 65 [115]145]185] 16 | 4 40 | 80 |110]150 14 [3421132]160]129| 80 |254|715]272]510]350/390]300|670| M25x1,5 | M20x1,5 44,5
40-160/0.55 65 [115]145]185| 16 | 4 40 | 80 [110]150| 14 [342[132]160|129| 80 |254|715|272]510|350]390|300|670| M25x1,5 | M20x1,5 |44,5
40-200/T.1R | 65 |115/145|185| 16 | 4 40 180 [110[150] 14 [390] 160|180 138 100|296 |780|317]590|350(390|300 | 750 | M25x1,5 | M20x1,5 |61,5
40-200/1.1 65 [115[145]185] 16 | 4 40 180 [110[150] 14 [390]160| 180|138 100|296 |780 (317|590 |350|390|300 | 750 | M25x1,5 | M20x1,5 |61,5
40-200/1.5 65 [115]145[185] 16 | 4 40 | 80 | 110150 14 {390 160|180 138100296780 (317]590 |350]390[300] 750 | M25x1,5 | M20x1,5 [64,0
50-125/0.55R | 65 [115]145]185] 16 | 4 50 [ 95 [125]165] 16 [342[132]160] 1291100254 |735[2721510(350 (390300 |670| M25x1,5 | M20x1,5 [45,0
50-125/0.55 65 |115]145]185| 16 | 4 50 | 95 [125]165] 16 [342[132]160[129|100]254|735|272|510|350]390|300|670| M25x1,5 | M20x1,5 [45,0
50-160/1.1R | 65 [115]145]185] 16 | 4 50 | 95 [ 125|165] 16 [390|160] 180|138 |100|296|780|317|590|350|390|300] 750 | M25x1,5 | M20x1,5 |52,5
50-160/1.1 65 [115[145]185] 16 | 4 50 | 95 [ 125|165] 16 [390|160] 180|138 |100]296|780|317|590|350|390|300] 750 | M25x1,5 | M20x1,5 |52,5
50-200/1.5R | 65 [115]145]185] 16 | 4 50 | 95 | 125|165] 16 [410|160]200|138|100]296|780|317|590|350|390|300] 750 | M25x1,5 | M20x1,5 |64,0
50-200/1.5 65 |115]145|185] 16 | 4 50 [ 95 [125] 165 16 [410]160]200| 138100296 | 780317590350 (390300 | 750 | M25x1,5 | M20x1,5 [64,0
50-200/2.2 65 | 115145118516 | 4 | - |50 | 95 [125]165] 16 [410[160|200|145]100|296|829|366|590|350|390|300|750| M25x1,5 | M20x1,5 70,0
65-125/0.55 80 [13411601200| 18 | 8 | 4 | 65 |115[145]185] 16 [390|160|180|129|100|254|735|272|510|350|390|300|670| M25x1,5 | M20x1,5 |48,5
65-125/0.75 | 80 [134]160|200] 18 | 8 | 4 | 65 |115|145]185]| 16 {390 160| 180|129 100|254 |735|272|510]350390|300|670| M25x1,5 | M20x1,5 |48,5
65-125/1.1 80 [134]160(200| 18| 8 | 4 | 65 [115[145]185| 16 [390|160| 180|138 100|254 (780|317 |590 350|390 |300 |750 | M25x1,5 | M20x1,5 |56,0
65-160/1.1 80 [134]160(200| 18| 8 | 4 | 65 [115[145]185| 16 [410]160|200|138|100|296|780 (317|590 350|390 |300|750 | M25x1,5 | M20x1,5 |62,5
65-160/1.5 80 |134]160(200] 18| 8 | 4 | 65 |115[145]185] 16 |410] 160|200 138[100]296[780317[590350[390300 750 M25x1,5 | M20x1,5 [63,5
65-160/2.2 80 [1341160/200| 18 | 8 | 4 | 65 |115[145]185] 16 [410|160|200|145|100|296|829|366|590|350|390|300|750| M25x1,5 | M20x1,5 |71,5
65-200/2.2R | 80 [134]160|200] 18 | 8 | 4 | 65 |115|145]185]| 16 |455]180|225] 145100296829 |366|590|380 420|330 750 | M25x1,5 | M20x1,5 | 74,0
65-200/2.2 80 [134]160(200| 18| 8 | 4 | 65 [115[145[185| 16 [455|180|225145]100|296 829|366 |590 380 420|330 |750 | M25x1,5 | M20x1,5 | 74,0
65-200/3 80 [134]160(200] 18| 8 | 4 | 65 |115[145|185] 16 |455]180|225]145[100]296 |829 366 590|380 [420]330]750] M25x1,5 | M20x1,5 [77,5

[1] Standard
[2] On request

Your Life, our Quality. Worldwide. 126 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3LP4 65-250, 80 4 Poles

R C 4-¢D4

DIMENSIONS TABLE

Model Dimensions [mm] Weight
DN1|/ P1|D1|S1|DN2| P2 [D2|S2| H |H1|/H2|H3|H4|H5| R |[N1|N2/N3|/ B |B1|C|D |G| E|T/|D4|Sp.| V1 V2 | kgl

65-250/4 | 80 [135]200] 22 | 65 |120]185] 20 [510]200(250[161] 60 | 88 [100[510]570/440]961[388470[100[225[760/960] 19 | 8 [M25x1,5|M20x1,5[113,5
65-250/5.5 | 80 [135/200] 22 | 65 [120]185[ 20 [5101200(250]195] 60 | 68 [ 100|510]570 (4401015442 1470]100(248]7601960| 19 | 8 [M32x1,5|M32x1,5/130,0
80-160/1.5 | 100]155]225] 24 | 80 |135]200] 22 [455]180[225]138] 50 | 90 |125]380]420[330]805][317]360] 80 [180/590|750] 15 [ 5 |M25x1,5|M20x1,5] 80,0
80-160/2.2R| 100 | 155|225 24 | 80 |135]200] 22 [455]180(225]145] 50 | 80 |125]380]420[330/854[366/360| 80 [ 196590750 15 [ 5 |M25x1,5|M20x1,5| 86,0
80-160/2.2 | 100 155/225] 24 | 80 |135]200] 22 |455|180(225]145] 50 | 80 |125]380[420/330/854|366]360| 80 | 196590750 15 | 5 [M25x1,5|M20x1,5/100,5
80-200/3 | 100 155/225] 24 [ 80 |135]200| 22 [490|180(250[145] 60 | 80 |125]460[520(390|964|366]470]100|196]700/900| 19 | 8 [M25x1,5|M20x1,5/109,5
80-200/4R | 100]155/225] 24 [ 80 |135]200| 22 [490|180(250[167] 60 | 68 | 125]460[520(390]986|388470[100|225[700/900| 19 | 8 [M25x1,5|M20x1,5/116,5
80-200/4 | 100]155/225] 24 [ 80 |135]200] 22 [490/180(250[167] 60 | 68 |125]460[520(390/986|388470]100|225[700/900| 19 | 8 |M25x1,5|M20x1,5/117,0
80-250/5.5R| 100 | 155|225 24 | 80 |135]200 22 |540/200(280[195] 60 | 68 | 125]510(570 (4401040442 14701100(248[7601960| 19 | 8 [M32x1,5|M32x1,5/134,0
80-250/5.5 [ 100 155[225] 24 | 80 [135]200] 22 [540]200]280|195] 60 | 68 [125]510[570[4401040[442[470[100(248|760]960| 19 | 8 |M32x1,5[M32x1,5[134,5
80-250/7.5 | 100 155]225] 24 [ 80 |135]200] 22 [5401200(280[195] 60 | 68 | 125]510[570/440]1080/482[470]100]248[760/960] 19 | 8 [M32x1,5|M32x1,5]143,5

Your Life, our Quality. Worldwide. 127 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)SF4 32, 40, 50, 65 - up to 1.5 kW 4 Poles
D2
P2
A
[@N]
)
= = -
Fig.
51|
Fig. 2
25
DIMENSIONS TABLE
Dimensions [mm] )

Model z "‘fﬁ'g']“
Fig..DN1| P1 | K1 |D1|S1|[1]|[2] DN2/ P2 | K2 /D2|S2| H |H1|H2/ M |N1 N2/ R/ W|A|B|C|D|E|F|G|X|Y]K 9
32-125/0.25 1 1509512516516 | 4 | - [32|75|100/140| 14 |252|112|140[114|140]190| 80 | 70 |213]108]153]110[130|160| M8 |112]140] 8 | 15,0
32-160/0.37R | 1 |50 | 95 [125|165] 16| 4 32| 75]100[140] 14 [292[132]160]118[190]240] 80 | 70 [254|108]153|110[130]160| M8 [112]140| 8 | 19,5
32-160/0.37 1 150]95[125]165| 16 | 4 32| 75 1100|140 14 {292]132]160]118|190(240| 80 | 70 |254]108|153|110/130|160| M8 [112|140] 8 | 19,5
32-200/0.55R | 1 | 50|95 |125[165| 16| 4 32 175[100/140] 14 [340]160]180]119]190(240| 80 | 70 [296|118|174]130|165]200|M10[140]168]| 10 | 24,0
32-200/0.55 115095 |125[165| 16 | 4 32 175[100[140] 14 [340]160]180]119]190(240| 80 | 70 [296|118|174]130|165|200|M10[140|168]| 10 | 24,0
32-200/0.75 1 150]95([125]165| 16| 4 32| 75[100(140] 14 [340[160|180[119[190]240| 80 | 70 [296|118]174|130]165|200|M10[140|168| 10 | 24,0
40-125/0.37R | 1 | 65 [115]145]185| 16 | 4 401 80 [ 110[150] 14 [252[112]140]114]160]210] 80 | 70 |213|108]153|110[130|160| M8 |112|140| 8 | 16,5
40-125/0.37 1165 [115[145]185] 16 | 4 40 | 80 [110|150] 14 [252[112]140[1141160]210| 80 | 70 |213]108|153|110][130|160| M8 [112]140] 8 | 16,5
40-160/0.55R | 1 | 65 |115/145|185] 16| 4 40| 80 [110[150] 14 [292[132]160]118[190]240] 80 | 70 |254|118]174|130|165|200|M10/140|168| 10 | 20,0
40-160/0.55 1 165[115[145]185| 16 | 4 401 80 [110[150] 14 [292[132]160]118[190]240] 80 | 70 |254|118]174|130]165|200|M10[140|168| 10 | 20,0
40-200/1.1R 2 | 65[115[145[185[ 16 | 4 40 1 80 [110]150] 14 [340]160]180|115]212[265/100| 70 [296|130|186|130|165]200|M10[140[168| 10 | 27,0
40-200/1.1 2 |65 |115/145/185] 16 | 4 401 80 [110[150] 14 [340[160|180|115[212]265]100] 70 [296|130]186|130|165|200|M10[140|168| 10 | 27,0
40-200/1.5 2 | 65|115]145/185] 16| 4 40 1 80 [110]150] 14 [340[160[180[115|212]265|100| 70 |296]130|186|130|165[200|M10] 140|168 10 | 27,0
50-125/0.55R | 2 | 65 [115]145]185| 16 | 4 50195 |125]165| 16 {292/132|160|114]190|240]100| 70 |254|118|174{130|165|200|M10|140|168| 10 | 21,0
50-125/0.55 2 |65 |115/145/185] 16| 4 50 | 95 [125/165| 16 [292/132|160]114/190|240(100| 70 |254|118]174]130|165|200|M10[140|168| 10 | 21,0
50-160/1.1R 2 | 65[115[145[185[ 16 | 4 50| 95 [125[165] 16 [340]160|180|115]212|265[100| 70 [296]130]186]130|165]200M10/140|168] 10 | 26,0
50-160/1.1 2 | 65[115[145[185[ 16 | 4 50| 95 [125[165] 16 [340]160|180|115]212|265[100] 70 [296]130]186]130|165]200M10/140|168] 10 | 26,0
50-200/1.5R 2 | 65|115/145]185] 16| 4 50| 95 [125/165| 16 [360/160|200]115/212]265]100| 70 [296]130|186|130| 165|200 |M10[140|168| 10 | 29,5
50-200/1.5 2 | 65115[145[185]/ 16| 4 | - [ 50|95 [125/165] 16 |360]160|200]115/212(265]100| 70 [296|130]186|130(165/200[M10]140]168| 10 | 29,5
65-125/0.55 2 |80 134[160/200| 18| 8 | 4 | 65 |115/145/185] 16 |340]160|180]140/212(280|100| 95 |254|118|174|130{165/200|M10|140]168| 10 | 26,0
65-125/0.75 2 |80 [134[160(200] 18 | 8 | 4 | 65 |115/145]185] 16 [340]160|180|140(212]280[100| 95 |254|118|174]130|165|200|M10[ 140 168| 10 | 27,5
65-125/1.1 2 |80 [134[160(200] 18 | 8 | 4 | 65 |115/145]185] 16 [340]160|180|140]212]280[100| 95 [254]130|186|130|165]200|M10[ 140 168| 10 | 28,5
65-160/1.1 2 |80 [134[160(200] 18 | 8 | 4 | 65 |115/145]185] 16 [360]160]200|140]212]280[100| 95 [296]130|186|130|165|200|M10[ 140 168| 10 | 29,5
65-160/1.5 2 |1 80134/160/200] 18| 8 | 4 | 65 [115]145][185] 16 [360|160(200|140(212]280]100] 95 [296|130]186|130|165/200|M10[140|168]| 10 | 30,0

[1] Standard
[2] On request

Your Life, our Quality. Worldwide. 128 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3(L)SF4 50, 65 - up to 3 kW 4 Poles

/-918

¢ 215
3 250

DIMENSIONS TABLE

Dimensions [mm] .
Model z W[i'glht
DN1 P1 K1 D1 S1 [1] [2] | DN2 P2 K2 D2 H H1 H2 M N1 N2 W 9
50-2002.2 | 65 115 | 145 | 185 16 4 - 50 95 125 | 165 | 360 | 160 | 200 | 115 | 212 | 265 70 | 29,5
65-160/2.2 | 80 134 | 160 | 200 18 8 4 65 1715 | 145 | 185 | 360 | 160 | 200 | 140 | 212 | 280 95 | 30,0
65-200/2.2R| 80 134 | 160 | 200 18 8 4 65 115 145 | 185 | 405 | 180 | 225 140 | 250 | 320 95 [ 295
65-200/2.2 | 80 134 | 160 | 200 18 8 4 65 115 | 145 | 185 | 405 | 180 | 225 140 | 250 | 320 95 | 29,5
65-200/3 80 134 | 160 | 200 18 8 4 65 115 | 145 | 185 | 405 | 180 | 225 | 140 | 250 | 320 95 | 30,0

[1] Standard
[2] On request

Your Life, our Quality. Worldwide. 129 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3LSF4 80-160/1.5 kW 4 Poles

147 173

2-G3/8

8-418

225

405

¢ 225
¢ 155

2180

180

M10 — 4 fori

m
N
N
L
o
13

©
&
T
=
&

65

125 250

Weight
3LSF4 80-160/1.5: 50,2 kg

3LSF4 65-250, 80 - up to 7.5 kW 4 Poles

P2 At A2

D1
P1

DIMENSIONS TABLE

Dimensions [mm] Weight

Model DN1| P1 | K1 | D1 S1 DN2 P2 |[D2|S2| H |H1|H2|H3| R |W/|N1|N2| M |M1|D3|B | C|D]|E]|F]|AT|A2] kgl

65-250/4 80 [ 13511601200 22 [ 65Fig. 1 [120]185] 20 [450]200]250] 15 | 100 120]280|360| 160 | 80 | 19 |252|152] 180|215 ]250| 175|182 56,5
65-250/5.5 | 80 [135]160]200| 22 | 65Fig. T [120]185| 20 [ 450|200 250 15 [ 100]120(280 360|160 | 80 | 19 | 252 |152230[265|300| 175|182 53,5
80-160/2.2R | 100 [ 155|180 ]225| 24 | 80Fig. 2 [135]200 | 22 [405]180|225] 13 [125] 95 [250]320]125] 65 | 15 [267 142180215 ]250] 147173 50,5
80-160/2.2 | 100 155]1801225] 24 | 80Fig.2 |[135[200 | 22 [405|180|225| 13 [ 125] 95 [250 320 125] 65 | 15 | 267 | 142180215 |250] 147|173 50,5
80-200/3 100]155)180[225] 24 | 80Fig.2 |135]200| 22 [430] 180|250 13 [125] 95 [280[345|125] 65 | 15 |277]152]180|215[250| 175]182]59,0
80-200/4R | 100 155|180]225| 24 | 80Fig.2 | 135|200 | 22 [430] 180|250 13 |125] 95 |280|345|125| 65 | 15 | 277|152 |180]215]250]| 175|182 | 60,5
80-200/4 100 | 155[1801225[ 24 | 80Fig.2 [135]200| 22 [430] 180|250 13 | 125] 95 |280|345|125] 65 | 15 | 277|152 180|215]250] 175|182 | 60,5
80-250/5.5R | 100 [ 155|180 ]225| 24 | 80Fig.2 | 135]200 | 22 | 480200280 15 | 125]120(315]400] 160 | 80 | 19 |300 | 175230265300 175|192 | 58,0
80-250/5.5 | 100 [155]180]225] 24 | 80Fig.2 |[135]200 | 22 |480]200280| 15 [ 125]120(315]400] 160 | 80 | 19 |300 | 175230265 |300]| 175|192 | 58,0
1 1 1511 1

80-250/7.5 | 100]155|180]225| 24 | 80Fig.2 |[135]200 | 22 [ 480|200 | 280 25[120]315/400] 160 | 80 | 19 |300| 175[230]265|300]175]192]59,0

Your Life, our Quality. Worldwide. 130 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3(L)PF4 32, 40, 50, 65 4 Poles

S2

Fig. 2
25

DIMENSIONS TABLE

Dimensions [mm] )
Model Z "‘[’ek'gi‘t

Fig. | DN1 | P1 K1 | D1 S1 [11 | [2] |DN2| P2 | K2 | D2 | S2 H H1 | H2 M N1 | N2 R w A B 9
32-125 1 50 | 95 | 125 | 165 | 16 4 - 32 75 | 100 | 140 | 14 | 252 | 112 | 140 | 114 | 140 | 190 | 80 | 70 | 213 | 440 [ 17,0
32-160 1 50 | 95 [ 125 | 165 | 16 4 32 | 75 [ 100 | 140 | 14 | 292 | 132 ] 160 | 118 | 190 | 240 | 80 | 70 | 254 | 440 | 19,0
32-200 1 50 | 95 [ 125 | 165 | 16 4 32 | 75 [ 100 | 140 | 14 | 340 | 160 | 180 | 119 | 190 | 240 | 80 | 70 | 296 | 440 | 27,0
40-125 1 65 | 115 | 145 1 185 | 16 4 40 | 80 | 110 | 150 | 14 | 252 | 112 | 140 | 114 | 160 | 210 | 80 | 70 | 213 | 440 [ 17,0
40-160 1 65 | 115 | 145 | 185 | 16 4 40 | 80 [ 110 | 150 | 14 | 292 [ 132 | 160 | 118 | 190 | 240 | 80 | 70 | 254 | 440 [ 19,0
40-200 2 65 | 1151145 | 185 | 16 4 40 | 80 | 110 | 150 | 14 | 340 | 160 | 180 | 115 | 212 | 265 | 100 | 70 | 296 | 460 | 27,0
50-125 2 65 | 115 | 145 | 185 | 16 4 50 | 95 | 125|165 | 16 | 292 | 132 | 160 | 114 | 190 | 240 | 100 | 70 | 254 | 460 | 19,0
50-160 2 65 | 115 | 145 | 185 | 16 4 50 | 95 [ 125 [ 165 | 16 | 340 | 160 | 180 | 115 | 212 | 265 | 100 | 70 | 296 | 460 |28,0
50-200 2 65 | 115 | 145 | 185 | 16 4 - 50 | 95 [ 125 [ 165 | 16 | 360 | 160 | 200 | 115 | 212 | 265 | 100 | 70 | 296 | 460 |27,0
65-125 2 80 | 134 | 160 | 200 | 18 8 4 65 | 115 | 145 | 185 | 16 | 340 | 160 | 180 | 140 | 212 | 280 | 100 | 95 | 254 | 460 | 28,0
65-160 2 80 | 134|160 | 200 | 18 8 4 65 | 115 [ 145 1185 | 16 | 360 | 160 | 200 | 140 | 212 | 280 | 100 | 95 | 296 | 460 | 29,0
65-200 2 80 | 134|160 | 200 | 18 8 4 65 | 115 [ 145 | 185 | 16 | 405 | 180 | 225 | 140 | 250 | 320 | 100 | 95 | 296 | 460 | 30,0

[1] Standard
[2] On request

* Space where it is possible to disassemble the pump with spacer joint without disassembling the motor.

Your Life, our Quality. Worldwide. 131 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3LPF4 65-250, 80 4 Poles
D2
o
T
T
=
T
DIMENSIONS TABLE

Model Dimensions [mm] Weight
DN1| P1 | K1 |D1| $1 DN2 P2 D2(S2| H|H1|H2|/H3| R | W |N1|N M1| L |L1|D|D3|E| F|A1|A2| B | C |[kg]
65-250 80 [135]1601200] 22 [65Fig. 11201185 20 [450]200]250] 15 [100]120[280]360]160] 80 [130]80 [ 32 [ 19 [ 10 | 35 |175]182]570[340(82,0
80-160 100]155[180[225] 24 [ 80Fig. 2 [135[200] 22 [405]180]225] 13 [125] 95 [250]320]125] 65 [100[ 50 [ 24 | 15 8 [ 27 [147]173]485[260 56,0
80-200 100[155]180[225] 24 [80Fig. 2 |[135[200] 22 [430[180]250] 13 [125] 95 [280345]125] 65 [130] 80 [ 32 [ 15[ 10 [ 35 [175]182]595340[83,0
80-250 100]155]180[225] 24 [80Fig. 2 [ 135[200] 22 [480]200]280] 15 [125]120]315]400]160] 80 [130] 80 [ 32 [ 19 [ 10 [ 35 [175]192[595|340[84,0

* Space where it is possible to disassemble the pump with spacer joint without disassembling the motor.

Your Life, our Quality. Worldwide. 132 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
Joint for 3(L)S4 - 3SF4 Series 4 Poles
L
b UNI EN ISO 4029 screws
] N
, . E 1 —
L1 ‘
- : = CﬂA — 1t ————F Y=
DIMENSIONS TABLE
. Dimensions [mm]

Model [HP] [kW] |Motor size d d1 @ d3 M L b h Screws
32-125/0.25 0,33 0,25 71 19 22 14 28 M16x1,5 88 33 5 16,3 M5x6
32-160/0.37R 0,5 0,37 71 19 22 14 28 M16x1,5 88 33 5 16,3 M5x6
32-160/0.37 0,5 0,37 71 19 22 14 28 M16x1,5 88 33 5 16,3 Mb5x6
32-200/0.55R 0,75 0,55 80 19 22 19 33 M16x1,5 98 43 6 21,8 Mb6x6
32-200/0.55 0,75 0,55 80 19 22 19 33 M16x1,5 98 43 6 21,8 M6x6
32-200/0.75 1 0,75 80 19 22 19 33 M16x1,5 98 43 6 21,8 M6x6
40-125/0.37R 0,5 0,37 71 19 22 14 28 M16x1,5 88 33 5 16,3 M5x6
40-125/0.37 0,5 0,37 71 19 22 14 28 M16x1,5 88 33 5 16,3 Mb5x6
40-160/0.55R 0,75 0,55 80 19 22 19 33 M16x1,5 98 43 6 21,8 Mb6x6
40-160/0.55 0,75 0,55 80 19 22 19 33 M16x1,5 98 43 6 21,8 M6x6
40-200/1.1R 1,5 11 90 19 22 24 39 M16x1,5 110 53 8 273 M8x8
40-200/1.1 1,5 11 90 19 22 24 39 M16x1,5 110 53 8 273 MB8x8
40-200/1.5 2 1,5 90 19 22 24 39 M16x1,5 110 53 8 273 M8x8
50-125/0.55R 0,75 0,55 80 19 22 19 33 M16x1,5 98 43 6 21,8 Mb6xb
50-125/0.55 0,75 0,55 80 19 22 19 33 M16x1,5 98 43 6 21,8 Mb6x6
50-160/1.1R 1,5 11 90 19 22 24 39 M16x1,5 110 53 8 273 M8x8
50-160/1.1 1,5 11 90 19 22 24 39 M16x1,5 110 53 8 273 MB8x8
50-200/1.5R 2 1,5 90 19 22 24 39 M16x1,5 110 53 8 273 MB8x8
50-200/1.5 2 1,5 90 19 22 24 39 M16x1,5 110 53 8 273 M8x8
50-200/2.2 3 2,2 100 22 22 28 43 M18x1,5 153 63 8 31,3 M8x8
65-125/0.55 0,75 0,55 80 19 22 19 33 M16x1,5 98 43 6 21,8 M6x6
65-125/0.75 1 0,75 80 19 22 19 33 M16x1,5 98 43 6 21,8 M6x6
65-125/1.1 1,5 11 90 19 22 24 39 M16x1,5 110 53 8 273 M8x8
65-160/1.1 1,5 11 90 19 22 24 39 M16x1,5 110 53 8 273 MB8x8
65-160/1.5 2 1,5 90 19 22 24 39 M16x1,5 110 53 8 273 M8x8
65-160/2.2 3 2,2 100 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
65-200/2.2R 3 2,2 100 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
65-200/2.2 3 2,2 100 19 22 28 43 M16x1,5 122 63 8 31,3 MB8x8
65-200/3 4 3 100 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
65-250/4 55 4 112 24 30 28 43 M20x1,5 128 63 8 31,3 M8x8
65-250/5.5 7,5 55 132 24 30 38 58 M20x1,5 151 84 10 41,3 M8x8
80-160/1.5 2 1,5 90 19 22 24 39 M16x1,5 110 53 8 273 MB8x8
80-160/2.2R 3 2,2 100 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
80-160/2.2 3 2,2 100 19 22 28 43 M16x1,5 122 63 8 31,3 MB8x8
80-200/3 4 3 100 24 30 28 43 M20x1,5 128 63 8 31,3 M8x8
80-200/4R 55 4 112 24 30 28 43 M20x1,5 128 63 8 31,3 M8x8
80-200/4 5.5 4 112 24 30 28 43 M20x1,5 128 63 8 31,3 MB8x8
80-250/5.5R 7,5 55 132 24 30 38 58 M20x1,5 151 84 10 41,3 M8x8
80-250/5.5 75 55 132 24 30 38 58 M20x1,5 151 84 10 41,3 M8x8
80-250/7.5 10 75 132 24 30 38 58 M20x1,5 151 84 10 41,3 M8x8

Your Life, our Quality. Worldwide. 133 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
Joint for 3(L)P4 Series 4 Poles
[@N]
o)
PUMP SIDE PUMP SIDE MOTOR SIDE MOTOR SIDE
DIMENSIONS TABLE
. Dimensions [mm]

Model [HP] [kw] Motor size d1 b1 h1 ) b2 h2
32-125/0.25 0,33 0,25 71 24 8 27,3 14 5 16,3
32-160/0.37R 0,5 0,37 71 24 8 27,3 14 5 16,3
32-160/0.37 0,5 0,37 71 24 8 27,3 14 5 16,3
32-200/0.55R 0,75 0,55 80 24 8 2773 19 6 218
32-200/0.55 0,75 0,55 80 24 8 27,3 19 6 21,8
32-200/0.75 1 0,75 80 24 8 27,3 19 6 21,8
40-125/0.37R 0,5 0,37 71 24 8 27,3 14 5 16,3
40-125/0.37 0,5 0,37 71 24 8 273 14 5 16,3
40-160/0.55R 0,75 0,55 80 24 8 273 19 6 218
40-160/0.55 0,75 0,55 80 24 8 273 19 6 21,8
40-200/1.1R 1,5 1,1 90 24 8 27,3 24 8 273
40-200/1.1 1,5 1,1 90 24 8 27,3 24 8 273
40-200/1.5 2 1,5 90 24 8 27,3 24 8 273
50-125/0.55R 0,75 0,55 80 24 8 27,3 19 6 21,8
50-125/0.55 0,75 0,55 80 24 8 2773 19 6 218
50-160/1.1R 1,5 1,1 90 24 8 27,3 24 8 273
50-160/1.1 1,5 1,1 90 24 8 27,3 24 8 273
50-200/1.5R 2 1,5 90 24 8 27,3 24 8 273
50-200/1.5 2 1,5 90 24 8 27,3 24 8 27,3
50-200/2.2 3 2,2 100 24 8 273 28 8 31,3
65-125/0.55 0,75 0,55 80 24 8 273 19 6 21,8
65-125/0.75 1 0,75 80 24 8 27,3 19 6 21,8
65-125/1.1 1,5 1,1 90 24 8 27,3 24 8 273
65-160/1.1 1,5 1,1 90 24 8 27,3 24 8 273
65-160/1.5 2 1,5 90 24 8 27,3 24 8 27,3
65-160/2.2 3 2,2 100 24 8 2773 28 8 31,3
65-200/2.2R 3 2,2 100 24 8 27,3 28 8 31,3
65-200/2.2 3 2,2 100 24 8 27,3 28 8 31,3
65-200/3 4 3 100 24 8 27,3 28 8 31,3
65-250/4 55 4 112 32 10 35,3 28 8 31,3
65-250/5.5 75 55 132 32 10 35,3 38 10 41,3
80-160/1.5 2 1,5 90 24 8 27,3 24 8 273
80-160/2.2R 3 2,2 100 24 8 27,3 28 8 31,3
80-160/2.2 3 2,2 100 24 8 27,3 28 8 31,3
80-200/3 4 3 100 32 10 35,3 28 8 31,3
80-200/4R 55 4 112 32 10 35,3 28 8 31,3
80-200/4 5,5 4 112 32 10 35,3 28 8 31,3
80-250/5.5R 7,5 5,5 132 32 10 35,3 38 10 413
80-250/5.5 7,5 5,5 132 32 10 35,3 38 10 413
80-250/7.5 10 7,5 132 32 10 35,3 38 10 413

Your Life, our Quality. Worldwide. 134 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)M4 32, 40, 50, 65 SECTIONAL VIEW 4 Poles
72 56 16 17 58 12 6 21
& -+
]
@ —
|15
93
32 e i —:ﬁ l
£ e Y s e 1
E= —— —
s+ - g
| ),
= : ] ] \
‘ %7@
| . I | I
I / [ \/
25 200011 3 18 92 19 22 42 20 13
MATERIALS TABLE
Ref. Name Material
3M4 3LM4
001 [ Pump body EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
003 | Motor support Cast iron EN-GJL-200-EN 1561
004 | Seal housing disc EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
006 | Rotor shaft (part in contact with the liquid) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
007 |imoeller 32,40, 50 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
P 65-125/160/200 EN 1.4401 (AISI 316)
011 | Mechanical seal Carbon/Ceramic/NBR \ SIC/SiC/FPM
012 | Motor case -
013 | Motor cover Aluminium
014 [Fan Polyamide
015 | Fan cover Galvanised steel Fe P04
016 | Terminal box -
017 | Terminal box cover Aluminium (three phase version)
018 [ Spray protector washer NBR \
019 [ Bearing (pump side) -
020 | Bearing (motor side) -
021 | Adjusting ring Steel C70
022 [ Tie-rod Galvanised steel Fe 42
025 | Drain plug EN 1.4401 (AISI 316) / PTFE
026 | O-Ring NBR \ FPM
032 | Key EN 1.4401 (AISI 316)
034 [ Impeller nut EN 1.4301 (AISI 304) \ EN 1.4404 (AISI 316L)
042 | Foot Aluminium / Galvanised Steel
056 | Terminal box cover gasket NBR
058 [ Cable gland -
072 | Wear ring [1] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
073 | Wear ring EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
092 | Sealing ring - -
093 | Sealing ring -
200 | Screw (pump body) Stainless steel A270 class ISO 3506/1

[1]= For 32-200, 40-200, 50-160 , 50-200 versions

Your Life, our Quality. Worldwide. 135 Commercial



3 - 3L SERIES

3LM4 80-160 SECTIONAL VIEW

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)

4 Poles

7 34 32 11 4 26 3 56

16 17 58 6 12 13 14 15

75 24 77

25 76 /8 235 200 92 19 207 42 22 20 21 93
MATERIALS TABLE
Ref. Name Material Ref. Name Material
001_| Pump body EN 1.4401 (AISI 316) 025 | Drain plug EN 1.4404 (AISI 3160)
003 | Motor support Cast iron EN-GJL-200-EN 1561 026 | O-Ring FPM
004 | Seal housing disc EN 1.4404 (AISI 316L) 032 | Key EN 1.4404 (AISI 316L)
EN 1.4404 (AISI 316L)
006 | Rotor shaft Part in contact with the liquid 034 | Impeller nut EN 1.4404 (AISI 316L)
007 | Impeller EN 1.4401 (AISI 316) 042 | Foot Aluminium
011 | Mechanical seal SIC/SIC/FPM 056 | Terminal box cover gasket NBR
012 | Motor case - 058 | Cable gland -
013 | Motor cover Aluminium 075 | Washer EN 1.4404 (AISI 316L)
014 |Fan Polyamide 076 | Washer EN 1.4404 (AISI 316L)
075 | Fan cover Galvanised steel Fe P04 077 [ 0O-Ring FPM
016 | Terminal box - 078 | O-Ring
017 | Terminal box cover Aluminium -
019 | Bearing (pump side) - 092 | Sealing ring
020 | Bearing (motor side) - 093 | Sealing ring -
021 | Adjusting ring Steel C70 200 | Screw (pump body) Stainless steel A2-70 class 1SO 3506/1
022 | Tie-rod Galvanised steel Fe 42 201 | Foot screw Stainless steel A2-70 class 1SO 3506/1
024 | Filler cap EN 1.4404 (AISI 316L) 235 | Washer EN 1.4301 (AISI 304)
Your Life, our Quality. Worldwide. 136 Commercial




3 - 3L SERIES

3LM4 65-250, 80 SECTIONAL VIEW

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

4 Poles

TN

426 4A 3 56

16 17

75 24 77

/

\

]
Ex
e

347 32 25 76 78 244 18 235200 92 19 22 101 201 42 220 20 21 93
MATERIALS TABLE
Ref. Name Material Ref. Name Material
001 | Pump body EN 1.4401 (AISI 316) 032 | Key EN 1.4404 (AISI 316L)
003 | Motor support Cast iron EN-GJL-200-EN 1561 034 | Impeller nut Aluminium
004 | Seal housing disc EN 1.4401 (AISI 316) 042 | Foot Aluminium
004A | Screw for seal housing disc EN 1.4301 (AISI 304) 056 | Terminal box cover gasket NBR
EN 1.4404 (AISI 316L)
006 | Rotor shaft Part in contact with the liquid 058 | Cable gland
007 | Impeller EN 1.4401 (AISI 316) 075 | Washer
011 | Mechanical seal SiC/SiIC/FPM 076 | Washer EN 1.4404 (AISI 316L)
012 | Motor case - 077 | O-Ring EPM
013 | Motor cover Aluminium 078 [ O-Ring
014 |Fan Polyamide L
015 | Fan cover Galvanised steel Fe P04 092 | Sealing ring (3-4 kW, 5,5-7,5 kW)
016 | Terminal box -
017 | Terminal box cover Aluminium 093 | Sealing ring (3 kW, 4 kW, 5,5-7,5 kW)
018 | Spray protector washer NBR
079 | Bearing (pump side) - 10T | Seeger ring (for 5.5-7.5 kW only) Carbon steel TC 80
020 | Bearing (motor side) - 200 | Screw (pump body) Stainless steel A2-70 class 1SO 3506/1
021 | Adjusting ring Steel C70 201 | Foot screw Stainless steel A2-70 class 1SO 3506/1
022 | Tie-rod Galvanised steel Fe 42 220 | Nut for tie-rod Galvanised Steel
024 | Filler cap EN 1.4404 (AISI 316L) 235 | Washer EN 1.4301(AISI 304)
025 | Drain plug EN 1.4404 (AISI 316L) 244 | Plug[1] EN 1.4301(AISI 304)
026 | O-Ring FPM
[1]=Not for H and E versions
Your Life, our Quality. Worldwide. 137 Commercial



3(L)S4 32, 40, 50, 65 SECTIONAL VIEW

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)

‘ UUuuuyuu [ [ [ [
| — T TR TR T
I
| — ] mj -
! R | I i i
| | @ E L \ L
i / i \/ . \ .
25 200 1 6 42
MATERIALS TABLE
Ref. Name Material
354 3L54
001 | Pump body EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
003 | Motor support Cast iron EN-GJL-200-EN 1561
004 | Seal housing disc N 1.4307 (AISI 304) N 1.4404 (AISI 316L)
006 [ Joint - Part in contact with the liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
007 |imoeller 32,40, 50 EN 1.4301 (AISI 304) N 1.4404 (AISI 316L)
P 65-125/160/200 EN 1.4401 (AISI 316)
071 [ Mechanical seal Carbon/Ceramic/NBR \ SIC/SIC/FPM
012 | Motor -
025 | Drain plug N 1.4401 (AISI 316) / PTFE
026 | O-Ring NBR \ FPM
032 | Key finoa Tkw EN 1.4401 (AISI 316)
034 [Impeller nut EN 1.4301 (AISI 304) \ EN 1.4404 (AISI 316L)
042 | Foot Galvanised Steel
044 | Support protection EN 1.4301 (AISI 304)
072 | Wear ring [1] not for the 65 EN 1.4301 (AISI 304) N 1.4404 (AISI 316L)
073 | Wear ring not for the 65 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
200 | Screw (pump body) Stainless steel A270 class ISO 3506/1
206 | Screw Galvanised Steel

[1]= For 32-200, 40-200, 50-160, 50-200 only

Your Life, our Quality. Worldwide.

138

Commercial




3LS4 80-160 SECTIONAL VIEW

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

4 Poles

T34 7 32 4 260 N 3 44
]
UDUUDU 1 1
_ — = — _
DN\UDDU 1T 1T 1T 1T ‘
- ’ fasan| jasan) j
- 7 i
Il| Fe=———x— ias
! !
25 76 78 235 200 6 47 12
MATERIALS TABLE
Ref. Name Material Ref. Name Material
001 | Pump body EN 1.4401 (AISI 316) 032 [Key EN 1.4401 (AISI 316)
003 | Motor support Cast iron EN-GJL-200-EN 1561 034 | Impeller nut EN 1.4404 (AISI 316L)
004 | Seal housing disc EN 1.4404 (AISI 376L) 042 | Foot Galvanised Steel
006 | Joint EN 1.4404 (AISI 316L) 044 | Support protection EN 1.4307 (AISI 304)
007 | Impeller EN 1.4401 (AISI 316) 075 | Washer
017 | Mechanical sedl SICISICFAM 076 | Washer EN1.4404 (AISI 316L)
012 | Motor - 077 | O-Ring EPM
024 | Filler cap EN 1.4404 (AISI 316L) 078 | O-Ring
025 | Drain plug EN 1.4404 (AISI 316L) 200 | Screw (pump body) Stainless steel A2-70 class 15O 3506/1
026 | O-Ring FPM 235 | Washer EN 1.4301(AISI 304)

Your Life, our Quality. Worldwide.

13

9

Commercial




3 - 3L SERIES

3LS4 65-250, 80 RANGE SECTIONAL VIEW

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

4 Poles

5 200

25 76 78 23 42 12
MATERIALS TABLE
Ref. Name Material Ref. Name Material
001 | Pump body EN 1.4401 (AISI 316) 032 | Key EN 1.4401 (AISI 316)
003 | Motor support Cast iron EN-GJL-200-EN 1561 034 | Impeller nut EN 1.4404 (AISI 316L)
003A | Adapter ring [1] Cast iron EN-GJL-200-EN 1561 042 | Motor foot Galvanised Steel
004 | Seal housing disc EN 1.4401 (AISI 316) 075 | Washer
004A | Seal housing disc screw EN'T.4301(ASI 304) 076 [ Washer EN 1.4404 (AISI 316L)
006 |Joint EN 1.4404 (AISI 316L) 077 | O-Ring FPM
007 | Impeller EN 1.4401 (AISI 316) 078 | O-Ring
011 | Mechanical seal SIC/SiC/FPM 200 | Screw (pump body) Stainless steel A2-70 class 15O 3506/1
012 | Motor - 235 | Washer EN 1.4301(AISI 304)
024 | Filler cap EN 1.4404 (AISI 316L) 244 | Plug 2] EN 1.4301(AISI 304)
025 | Drain plug EN 1.4404 (AISI 316L)
026 | O-Ring FPM
[1]= For 65-250/5.5 kW only
[2]= Not for H and E versions
Your Life, our Quality. Worldwide. 140 Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)P4 32, 40, 50, 65 SECTIONAL VIEW 4 Poles
1 4 26 72 92 89 33 BA 44 58 12
==
| =\
i I
[T 1T [T
[T 1T [T I
|
1
VA
T
|
\
93 42A 50
MATERIALS TABLE
Ref. Name Material
3P4 3LP4
001 Pump body EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
003 | Motor support Cast iron EN-GJL-200-EN 1561
004 | Seal housing disc EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
006 | Shaft - Part in contact with the liquid Seal housing disc EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
006A | Joint Cast iron EN-GJL-250-EN 1561
007 |impeller 32,40, 50 EN 1.43071 (AISI 304) \ EN 1.4404 (AISI 316L)
P 65-125/160/200 EN 1.4401 (AISI 316)
011 [ Mechanical seal Carbon/Ceramic/NBR \ SIC/SIC/FPM
012 | Motor -
019 | Bearing (pump side)
020 [ Bearing (motor side) -
025 | Drain plug EN 1.4401 (AISI 316) / PTFE
026 | O-Ring NBR \ FPM
032 | Key EN 1.4401 (AISI 316)
033 | Key C40
034 |[Impeller nut EN 1.4301 (AISI 304) \ EN 1.4404 (AISI 316L)
042 | Foot Galvanised Steel
042A | Base Galvanised steel Fe 37
044 | Joint cover Galvanised Steel
050 | Foot Galvanised Steel
058 | Cable gland -
066 | Support cover Cast iron EN-GJL-250-EN 1561
067 | Support cover Cast iron EN-GJL-250-EN 1561
072 | Wear ring [1] not for the 65 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
073 [ Wear ring not for the 65 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
089 | Seeger ring Carbon steel TC 80
092 [ Sealing ring -
093 [ Sealing ring -
200 | Screw (pump body) Stainless steel A270 class 1SO 3506/1
[1]= For the versions: 32-200/3, 32-200/4, 32-200/5.5, 40-200/5.5, 40-200/5.5, 40-200/7.5, 40-200/11, 50-160/5.5, 50-160/7.5, 50-200/9.2, 50-200/11, 50-200/15
Your Life, our Quality. Worldwide. 141 Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3LP4 80-160 SECTIONAL VIEW 4 Poles

66 92 89 19 3 6 20 67 93

MATERIALS TABLE
Ref. Name Material Ref. Name Material
001 | Pump body EN 1.4401 (AISI 316) 042 | Pump support Galvanised Steel
003 | Motor support Cast iron EN-GJL-200-EN 1561 042A | Base Galvanised Steel
004 | Seal housing disc EN 1.4404 (AISI 316L) 044 | Protection Galvanised Steel
EN 1.4404 (AISI316L, I
006 [ Shaft Part in contact \Svith the Ii)quid 050 | Foot Aluminium
006A | Joint Cast iron EN-GJL-250-EN 1561 050C | Protection spacer -
007 | Impeller EN 1.4401 (AISI 316) 066 | Support cover Cast iron EN-GJL-200-EN 1561
071 | Mechanical seal SIC/SIC/FPM 067 | Support cover Cast iron EN-GJL-200-EN 1561
012 | Motor - 075 | Washer
079 | Bearing (pump side) - 076 | Washer EN'1.4404 (AISI 316L)
020 | Bearing (motor side) - 077 [0O-Ring EPM
024 | Filler cap EN 1.4404 (AISI 316L) 078 | 0O-Ring
025 | Drain plug EN 1.4404 (AISI 316L) 089 | Seeger ring Carbon steel TC 80
026 | O-Ring FPM 092 |RingV -
032 |Key EN 1.4401 (AISI 316) 093 [RingV Stainless steel A270 class 1SO 3506/1
033 [Key C40 200 | Screw (pump body) EN 1.4301(AISI 304)
034 | Impeller nut EN 1.4404 (AISI 316L) 235 | Washer

[1]= Not for H and E versions

Your Life, our Quality. Worldwide. 142 Commercial



3 - 3L SERIES

3LP4 65-250, 80 SECTIONAL VIEW

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

4 Poles

6 20 67 93

MATERIALS TABLE
Ref. Name Material Ref. Name Material
001 [ Pump body EN 1.4401 (AISI 316) 042 | Foot Galvanised Steel
003 | Motor support Cast iron EN-GJL-200-EN 1561 042A | Base Galvanised Steel
004 | Seal housing disc EN 1.4401 (AISI 316) 044 | Joint cover Galvanised Steel
004A | Seal housing disc screw EN 1.4301(AISI 304) 050C | Joint cover spacer [1] Aluminium
006 | Shaft EN 1.4462 (duplex steel) per 30-37 kW | 066 | Support cover Cast iron EN-GJL-200-EN 1561
006A | Joint Castiron EN—GJL(—ZOO—EN)1 561 067 Sup%ort cover Cast iron EN-GJL-200-EN 1561
007 | Impeller EN 1.4401 (AISI316 075 | Washer
011 | Mechanical sel SICISICAM 076 | Washer EN'1.4404 (AISI 316L)
012 [ Motor - 077 [ O-Ring FPM
019 | Bearing (pump side) 078 | O-Ring
020 [ Bearing (motor side) - 089 | Seeger ring Carbon steel TC 80
024 | Filler cap EN 1.4404 (AISI 316L) 092 | Sealing ring -
025 | Drain plug EN 1.4404 (AISI 316L) 093 | Sealing ring -
026 | O-Ring FPM 200 | Screw (pump body) Stainless steel A270 class 1SO 3506/1
032 [ Key EN 1.44071 (AISI 316) 235 | Washer EN 1.43071 (AISI 304)
033 [ Key C40 244 | Plug [2] EN 1.4301 (AISI 304)
034 | Impeller nut EN 1.4404 (AISI 316L)

[1]= For 65-250/3-4 kW only

[2]= Not for H and E versions

Your Life, our Quality. Worldwide. 143 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)SF4 32, 40, 50, 65 SECTIONAL VIEW 4 Poles
1 4 26 72 44 3
\ |
l e I i I
: —
N
I BX i
JANS
|
7
—A_ |
73
—~_ ‘
B .,<_—5' _ﬁ\ ANANNNN
32 e ey (T
J RS
34—
i vuuuuyu
|
| 71 |
\ / i \/
25 200 1 6
MATERIALS TABLE
Ref. Name Material
3SF4 3LSF4
001 | Pump body EN 1.4307 (AISI 304) EN 1.4404 (AISI 316L)
003 | Motor support Cast iron EN-GJL-200-EN 1561
004 | Seal housing disc EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
006 [ Joint - Part in contact with the liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
007 | impeller 32,40, 50 EN 1.4307 (AISI 304) EN 1.4404 (AISI 316L)
P 65-125/160/200 EN 1.4407 (AISI 316)
011 [ Mechanical seal Carbon/Ceramic/NBR \ SIC/SIC/FPM
025 | Drain plug EN 1.4401 (AISI 316) / PTFE
026 | O-Ring NBR \ FPM
032 | Key EN 1.4407 (AISI 316)
034 | Impeller nut EN 1.4307 (AISI 304) \ EN 1.4404 (AISI 316L)
044 | Support protection EN 1.4301 (AISI 304)
072 [ Wearring [1] not for the 65 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
073 | Wear ring not for the 65 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
200 | Screw (pump body) Stainless steel A270 class ISO 3506/1
[1]= For 32-200, 40-200, 50-160, 50-200 only
Your Life, our Quality. Worldwide. 144 Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3LSF4 80-160 SECTIONAL VIEW 4 Poles
1 47 32 4 2 N 5 44
Y ‘ | [T
\ |
2] 7
E ! ’ \ ’-“ [
] " 00000
[ s qlT |
|
| 060000
i
25 76 /8 235 200 6
MATERIALS TABLE
Ref. Name Material Ref. Name Material
001 | Pump body EN 1.4407 (AISI 316) 032 | Key EN 1.4407 (AISI 316)
003 | Motor support Cast iron EN-GJL-200-EN 1561 034 | Impeller nut EN 1.4404 (AISI 316L)
004 | Seal housing disc EN 1.4404 (AISI 316L) 044 | Support protection EN 1.4301 (AISI 304)
006 | Joint EN 1.4404 (AISI 376L) 075 | Washer EN 1.4404 (AISI 376L)
007 | Impeller EN 1.4407 (AISI 316) 076 | Washer EN 1.4404 (AISI 376L)
071 | Mechanical seal SIC/SiC/FPM 077 [ 0O-Ring EPM
024 | Filler cap EN 1.4404 (AISI 316L) 078 ] 0O-Ring
025 | Drain plug EN 1.4404 (AISI 376L) 200 | Screw (pump body) Stainless steel A2-70 class 1SO 3506/1
026 | O-Ring FPM 235 | Washer EN 1.4301(AISI 304)
Your Life, our Quality. Worldwide. 145 Commercial




3LSF4 65-250, 80 SECTIONAL VIEW

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

4 Poles

78 235 200 244

25 76
MATERIALS TABLE
Ref. Name Material Ref. Name Material
001 | Pump body EN 1.4401 (AISI 316) 026 [ O-Ring FPM
003 | Motor support Cast iron EN-GJL-200-EN 1561 032 | Key EN 1.44017 (AISI 316)
003A [ Adapter ring [1] Cast iron EN-GJL-200-EN 1561 034 | Impeller nut EN 1.4404 (AISI 316L)
004 | Seal housing disc EN 1.4401 (AISI 316) 075 | Washer EN 1.4404 (AISI 316L)
004A | Seal housing disc screw EN 1.4301(AISI 304) 076 | Washer EN 1.4404 (AISI 316L)
006 | Joint EN 1.4404 (AISI 316L) 077 [0O-Ring EPM
007 | Impeller EN 1.4401 (AISI 316) 078 ] 0O-Ring
011 | Mechanical seal SIC/SIC/FPM 200 | Screw (pump body) Stainless steel A2-70 class 1SO 3506/1
024 | Filler cap EN 1.4404 (AISI 316L) 235 | Washer EN 1.4301(AISI 304)
025 | Drain plug EN 1.4404 (AISI 316L) 244 | Plug 2] EN 1.4301(AISI 304)
[1]= For 65-250/5.5 kW only
[2]= Not for H and E versions
Your Life, our Quality. Worldwide. 146 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)PF4 32, 40, 50, 65 SECTIONAL VIEW 4 Poles
1 97 b6 89 19 ©
/3
32
34
7/
25 3 200 /2 11 42 6/ 93 33
MATERIALS TABLE
Ref. Name Material
3PF4 3LPF4
001 [ Pump body EN 1.43071 (AISI 304) EN 1.4404 (AISI 316L)
003 [ Motor support Cast iron EN-GJL-200-EN 1561
004 | Seal housing disc N 1.4301 (AISI 304) N 1.4404 (AISI 316L)
006 | Shaft - Part in contact with the liquid Seal housing disc EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
007 |imoeller 32,40, 50 EN 1.4307 (AISI 304) N 1.4404 (AISI 316L)
P 65-125/160/200 EN 1.4407 (AISI 316)
071 [ Mechanical seal Carbon/Ceramic/NBR \ SIC/SIC/FPM
019 [ Bearing (pump side) -
020 [ Bearing (motor side) -
025 | Drain plug N 1.4407 (AISI 316) / PTFE
026 [ O-Ring NBR \ FPM
032 | Key EN 1.4401 (AISI 316)
033 [Key C40
034 [Impeller nut EN 1.4301 (AISI 304) \ N 1.4404 (AISI 316L)
042 | Foot Galvanised Steel
066 | Support cover Cast iron EN-GJL-250-EN 1561
067 | Support cover Cast iron EN-GJL-250-EN 1561
072 [ Wearring [1] not for the 65 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
073 [ Wear ring not for the 65 EN 1.43071 (AISI 304) N 1.4404 (AISI 316L)
089 [ Seegerring Carbon steel TC 80
092 | Sealing ring -
093 | Sealing ring -
200 | Screw (pump body) Stainless steel A270 class ISO 3506/1
[1)= For the versions: 32-200/3, 32-200/4, 32-200/5.5, 40-200/5.5, 40-200/5.5, 40-200/7.5, 40-200/11, 50-160/5.5, 50-160/7.5, 50-200/9.2, 50-200/11, 50-200/15
Your Life, our Quality. Worldwide. 147 Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3LPF4 80-160 SECTIONAL VIEW
e
[
| |
26 K
66 92 89 19 3 6 20 67 93
=
33 /@\; '
Ve
i = ﬂ
— %\
\
~ 4
76 1 L
42
735 — 700
MATERIALS TABLE
Ref. Name Material Ref. Name Material
001 | Pump body EN 1.4407 (AISI 316) 034 | Impeller nut EN 1.4404 (AISI 316L)
003 | Motor support Cast iron EN-GJL-200-EN 1561 042 | Foot Galvanised Steel
004 | Seal housing disc EN 1.4404 (AISI 376L) 066 | Support cover Cast iron EN-GJL-200-EN 1561
EN 1.4404 (AISI316L) ;
006 | Shaft Part in contact with the liquid 067 | Support cover Cast iron EN-GJL-200-EN 1561
007 | Impeller EN 1.4401 (AISI 316) 075 | Washer
01T | Mechanical sea SIC/SICPM 076 | Washer EN 1.4404 (AISI 3161)
019 | Bearing (pump side) - 077 | O-Ring FPM
020 | Bearing (motor side) - 078 [ 0O-Ring
024 |Filler cap EN 1.4404 (AISI 316L) 089 | Seegerring Carbon steel TC 80
025 | Drain plug EN 1.4404 (AISI 316L) 092 | Sealing ring -
026 | O-Ring FPM 093 | Sealing ring -
032 | Key EN 1.44071 (AISI 316) 200 | Screw (pump body) Stainless steel A270 class ISO 3506/1
033 | Key C40 235 | Washer EN 1.4301(AISI 304)

[1]= Not for H and E versions

Your Life, our Quality. Worldwide.

148

Commercial



3 - 3L SERIES

3LPF4 65-250, 80 SECTIONAL VIEW

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

4 Poles

66 89 19 6 20 67 93
33
)
’’’’’’’’’’’’’’ -1 " 7’@
L@
11 244 3
235 200 42
MATERIALS TABLE
Ref. Name Material Ref. Name Material
001 [ Pump body EN 1.4401 (AISI 316) 034 | Impeller nut EN 1.4404 (AISI 316L)
003 | Motor support Cast iron EN-GJL-200-EN 1561 042 | Foot Galvanised Steel
004 | Seal housing disc EN 1.4401 (AISI 316) 066 | Support cover Cast iron EN-GJL-200-EN 1561
004A | Seal housing disc screw EN 1.4301(AISI 304) 067 | Support cover Cast iron EN-GJL-200-EN 1561
EN 1.4462 (duplex steel)
006 | Shaft for 30-37 kW 075 | Washer EN 1.4404 (AIS| 316L)
007 | Impeller EN 1.4401 (AISI316) 076 | Washer
071 | Mechanical seal SIC/SiC/FPM 077 | O-Ring EPM
019 [ Bearing (pump side) - 078 [ O-Ring
020 | Bearing (motor side) - 089 | Seeger ring Carbon steel TC 80
024 | Filler cap EN 1.4404 (AISI 316L) 092 | Sealing ring -
025 | Drain plug EN 1.4404 (AISI 316L) 093 | Sealing ring -
026 | O-Ring FPM 200 | Screw (pump body) Stainless steel A270 class 1SO 3506/1
032 [ Key EN 1.4401 (AISI 316) 235 | Washer EN 1.4301 (AISI 304)
033 | Key C40 244 | Plug [1] EN 1.4301 (AISI 304)
[1]= Not for H and E versions
Your Life, our Quality. Worldwide. 149 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
MECHANICAL SEAL standard version MATERIALS TABLE
L Ref. Name Material
Standard H
L L2 T |Fixed part Carbon Carbon
2 | Rotating part Ceramic Ceramic
3 | Gasket NBR FPM
| 4 | Frame + spring EN 1.4407 (AISI 316) EN 1.4401 (AISI 316)
| oRH %;f% \ \ |
° é 43 201 3 Jﬁ J.
F/O% 1
SPECIAL MECHANICAL SEALS (on request)
Name Material
H version HS version HW version HSW version E version
Fixed Part Carbon SIC Tungsten Carbide Tungsten Carbide Carbon
Rotating Part Ceramic SiC Tungsten Carbide SIiC SIiC
Elastomers FPM FPM FPM FPM EPDM
Spring AISI316 AISI316 AISI316 AISI316 AISI316
Structure/Frame AISI'304 AISI316 AISI304 AISI'304 AISI316
Your Life, our Quality. Worldwide. 150 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

ELECTRIC DATA TABLE 4 Poles

Model P, Mec P Absorbed Current Model P, Mot.| P: [ Absorbed Current

[HP] | [kw] | Motor | [kW] [HP]|[kW] Mec | [kW]
230V | 400V | 690V 230V | 400V | 690V

3(.)M4 32-125/0.25 0331 025 71 0,55 1,9 1,1 - 3(.)54 32-125/0.25 | 3(.)P4 32-125/0.25 [0,33]0,25] 71 [039] 1,2 | 0,7 -
3()M432-160/037R | 0,5 | 0,37 80 0,80 2,6 1,5 3()54 32-160/0.37R| 3(.)P4 32-160/0.37R| 0,5 [0,37] 71 [ 055] 2,1 | 1,2
3()M4 32-160/0.37 05 | 037 80 0,80 2,6 1,5 3()54 32-160/0.37 | 3()P432-160/0.37 | 0,510,37] 71 [055] 2,1 | 1.2
3()M4 32-200/0.55R | 0,75 | 0,55 80 0,80 2,6 15 3()S4 32-200/0.55R] 3(.)P4 32-200/0.55R|0,75(0,55] 80 [ 0,79 | 28 | 1,6
3(.)M4 32-200/0.55 0,75 | 0,55 80 0,80 2,6 1,5 3(.)S4 32-200/0.55 | 3(.)P4 32-200/0.55 [0,75/0,55| 80 [ 0,79 | 2,8 | 1.6
3()M4 32-200/0.75 1 0,75 90 1,60 47 2,7 3()54 32-200/0.75 | 3()P432-200/0.75 | 1 10,75] 80 | 1,06 | 3,8 | 2,2
3()M4 40-125/037R | 0,5 | 0,37 71 0,55 1,9 1,1 3(.)S4 40-125/0.37R] 3(.)P4 40-125/0.37R| 0,5 10,37] 71 [055] 2,1 | 1,2
3()M4 40-125/0.37 05 | 037 71 0,55 1,9 1,1 3()54 40-125/0.37 | 3()P440-125/0.37 | 0,510,37] 71 [055] 2,1 | 1.2
3()M4 40-160/0.55R | 0,75 | 0,55 80 0,80 2,6 1,5 3(.)54 40-160/0.55R| 3(.)P4 40-160/0.55R[0,75/0,55| 80 [ 0,79 | 2,8 | 1,6
3()M4 40-160/0.55 0,75 | 0,55 80 0,80 2,6 15 3()S4 40-160/0.55 | 3(.)P4 40-160/0.55 [0,75/0,55] 80 [ 0,79 28 | 1,6
3()M4 40-200/1.1R 15 1.1 90 1,60 4,7 2,7 3(.)S4 40-200/1.1R | 3()P4 40-200M IR [ 1,5 1,1 90 | 1,44 | 47 | 2,7
3()M4 40-200/1.1 1,5 1,1 90 1,60 47 2,7 3()54 40-200/1.1 [3()P440-200/1.1 |[1,5[1,1] 90 [ 1,44 47 | 2,7
3()M4 40-200/1.5 2 15 90 2,10 6,2 3,6 3()54 40-200/15 [3()P440-200/15 | 2 |15] 90 [ 19162 | 3,6
3()M4 50-125/0.55R | 0,75 | 0,55 80 0,80 2,6 1,5 3(.)54 50-125/0.55R] 3(.)P4 50-125/0.55R[0,75]0,55] 80 [ 0,79 | 2,8 [ 1,6
3()M4 50-125/0.55 0,75 | 0,55 80 0,80 2,6 1,5 3()54 50-125/0.55 | 3(.)P4 50-125/0.55 [0,75/0,55] 80 [ 0,79 2,8 [ 1,6
3()M4 50-160/1.1R 15 1.1 90 1,60 4,7 2,7 3()S4 50-160/1.1R | 3(.)P450-160/T R | 15[ 1,11 90 [ 144 | 47 | 2,7
3()M4 50-160/1.1 1,5 1,1 90 1,60 4,7 2,7 3()S4 50-160/1.1 | 3(.)P4 50-160/1.1 150111 90 | 14447 | 2,7
3()M4 50-200/1.5R 2 1,5 90 2,10 6,2 3,6 3(.)54 50-200/1.5R [ 3()P450-200/T5R | 2 |1,5] 90 [ 19162 | 3,6
3()M4 50-200/1.5 2 1,5 90 2,10 6,2 3,6 3()54 50-200/15 [3()P450-200/15 | 2 |1,5] 90 [191]62 | 3,6
3()M4 50-200/2.2 3 2,2 100 2,75 8,7 5 3(.)S4 50-200/2.2 | 3()P4 50-200/2.2 3122]11001272]194 | 54
3(.)M4 65-125/0.55 0,75 | 0,55 80 0,80 2,6 1,5 3(.)54 65-125/0.55 | 3(.)P4 65-125/0.55 [0,75]0,55] 80 [0,79 ] 28 | 1,6
3()M4 65-125/0.75 1 0,75 90 1,60 47 2,7 3(.)54 65-125/0.75 | 3()P465-125/0.75 | 1 10,75] 80 | 1,06 | 3,8 | 2,2
3()M4 65-125/1.1 1,5 1.1 90 1,60 4,7 2,7 3()S4 65-125/1.1 | 3()P4 65-125/1.1 151,11 90 | 14447 | 2,7
3()M4 65-160/1.1 1,5 1,1 90 1,60 47 2,7 3()54 65-160/1.1 [3()P465-160/1.1 |[1,5]1,1] 90 | 1,44 47 | 2,7
3()M4 65-160/1.5 2 1,5 90 2,10 6,2 3,6 3()54 65-160/15 [3()P465-160/15 | 2 |1,5] 90 [191] 62 | 3,6
3()M4 65-160/2.2 3 2,2 100 2,75 8,7 5 3()S4 65-160/2.2 | 3(.)P4 65-160/2.2 3 1221100127294 54
3()M4 65-200/2.2R 3 2,2 100 | 2,75 8,7 5 3()54 65-200/2.2R [3()P465-20022R | 3 122|100 [ 2,72 94 | 54
3()M4 65-200/2.2 3 2,2 100 | 2,75 8,7 5 3()54 65-200/2.2 [3()P465-20022 | 3 122|100 272|194 | 54
3()M4 65-200/3 4 3 100 360 | 114 6,6 - 3(.)54 65-200/3 3()P4 65-200/3 413 71001[362[11,8] 638
3LM4 65-250/4 55 4 112 510 | 16,1 9,3 - 3154 65-250/4 3LP4 65-250/4 55| 4 | 112 47511471 85 -
3LM4 65-250/5.5 75 55 112 6,60 - 11,8 6,8 3154 65-250/5.5 3LP4 65-250/5.5 75|55 132 642 | - 11,3165
3LM4 80-160/1.5 2 15 90 2,10 6,2 3,6 - 3154 80-160/1.5 3LP4 80-160/1.5 2 11519 (19162 36 -
3LM4 80-160/2.2R 3 2,2 100 | 2,75 8,7 5 - 3154 80-160/2.2R [3LP480-160/2.2R | 3 [2,2] 100 [ 2,72 | 94 | 54
3LM4 80-160/2.2 3 2,2 100 | 2,75 8,7 5 - 3154 80-160/2.2 | 3LP4 80-160/2.2 31221100 (2721941 54
3LM4 80-200/3 4 3 100 | 360 | 114 6,6 - 3154 80-200/3 3LP4 80-200/3 413 71001362[11,8] 68
3LM4 80-200/4R 55 4 112 5,10 16,1 9,3 - 3154 80-200/4R 3LP4 80-200/4R 551 4 | 112 14751147 85
3LM4 80-200/4 55 4 112 510 16,1 9,3 - 3154 80-200/4 3LP4 80-200/4 55 4 | 112 |475114,7| 85 -
3LM4 80-250/5.5R 75 55 132 6,60 - 1,8 6,8 3154 80-250/5.5R | 3LP4 80-250/5.5R | 75|55 132 | 642 | - 1,3 16,5
3LM4 80-250/5.5 7,5 55 132 6,60 11,8 6,3 3154 80-250/5.5 [3LP480-25055 |[75|55] 1321642 - | 11,3165
3LM4 80-250/7.5 10 7,5 132 9,10 15,5 8,9 3154 80-250/7.5 | 3LP4 80-250/7.5 10[75[132 858 - | 151 87

Your Life, our Quality. Worldwide. 151 Commercial



